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S.Y. B.AA. EXAMINATION, 2017
COMPULSORY ENGLISH
(2013 PATTERN)
Hours Maximum Marks : 80
Text Prescribed : Literary Landscape.
All questions are compulsory.

Figures to the right indicate full marks.

1. Attempt any one from (A) and one from (B) of the following in

about 150
A @)
(1)
B @
(1)

words each : [16]
Comment on Gandhi’s faith in vegetarianism.

Why did Phatik decide to return to his mother’s
home ?

What traits of the son of Hazlitt do you get from his
letter to his son ?

Discuss Shashi Tharoor’s vision of the freedom of

press.

P.T.O.



Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A) () Bring out significance of the title of the poem ‘The Quality
of Mercy’.
(ii) How does one feel both respect and amusement at the
description of the village schoolmaster ?
(B) () How does William Wordsworth describe the solitary
reaper ?
(i) What is the central idea of the poem ‘O Captain !
My Captain " ?

Attempt any one from (A) and one from (B) of the following in
about 150 words each : [16]
(A) (@) Attempt a character sketch of Rosemary Fell.
(1i) Comment on the ending of ‘The Last Leaf.
(B) () How did Kalpana Chawala live her life with indomitable
courage and determination ?
(1) Write a note on the friendship of the author and Todd
in ‘My Lost Dollar’.

Attempt any one from (A) and one from (B) of the following in

about 150 words each : [16]

(A) (1) What advice does John Masefield give people in his poem
‘Laugh and Be Merry’ ?
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(B)

5. (A

[5201]-2001

(ii) How does the poet celebrate the spirit and endurance
of the Blacks in ‘Still I Rise’ ?

(z)  Discuss ‘Another Woman’ as an expression of in human
treatment given to women by the male dominated
society.

(ii) What is the central idea of the poem ‘My Grandmother’s
House’ ?

Attempt any six of the following : [6]

(i) The guest is happy with the arrangement.

(Change into a negative sentence.)

(ii1) The cows have returned to the shed.

(Change into a negative sentence.)

(zit) It is very cold.

(Rewrite the sentence adding a question tag.)

(iv) She hasn’t met Mr. Shukla, did she ?

(Correct the sentence.)

(v) Arun is clever. Arun is kind.

(Combine the sentences using a conjunction.)

(vi) The flowers in the vase have wilted because of the heat.

(Identify whether the sentence is simple compound

or complex.)
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(vii) Even though we missed the bus, we got to college on
time.

(Change into a compound sentence.)

(viii) You must study hard or you will not do well in the
examinations.

(Change into a simple sentence.)
(B) Attempt any two of the following : [10]

(1) Write a paragraph on ‘The Benefits of Reading English
Newspapers’.

(ii) Write a brief report on the ‘Cultural Programme’ organized
in your college.

(iit) Imagine that you want to invest in stock market and
looking for some professional advice. Your friend has
recommended Mr. Rupesh Patel. You want to get an
appointment of Mr. Patel. Write a letter of appointment

for consultation.
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o [5201]-2002
S.Y. B.A. EXAMINATION, 2017
MARATHI (¥JT3t)
(G-2 : IMgfter TS wifgd IWfuT IuATa W)
(2013 PATTERN)
9% : i A THUT TOT : 80

gl :— (i) W yvd diefau smevad o

1.

(ii) 3SSEheld 3h YA YO O SLiferdr.

() TMeflad 3aFa™ 9RReEd & [8]

TR S 3% §:88 YO A 3l O HEM Ukedd S
AR W e foRUE STHYE Hell 3 WA i SHIG gREdUmdEn
IFH 9 TREES A dedeeAl SR Sfeddid @ de-uiew 3=
TAE. W TG SARAd, TRUUIOU . YA hall, W ST [heS
YRS M A houdT A F Hell ST AWM 3. I UM 9K,
TR TSR O RN HE U foaw e Wl e wa @Ay
TR THesd, el Tevad R THasd, gocis dedue Tshes Ul
g, FOeTde Hg 95 onfol e S AU R 9§ W
. I 9 JEEN HEE, qHA hal 9 ol A@E & gheTa
Bt ST T A=l 9 HHiEl dcl WeSehdoE |l gadhl U
q ARCIOM BIdiel ol M= SAHASSIEvRd wiam e, o=,
FHEETE o el AEvaRdl BRI UBUR AT
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(9) WIeiadehl IRl O ST sgren iRefves §an fasr ¢ [7]
(1) Application
(2) Category
(3) Deposit
(4) Expert
(5) Frequency
(6) Gazette
(7) High Court
(8) Index
(9) Journal
(10) Lecturer
(11) Notification
(12) Promotion
(13) Recommendation

(14) University

2. TElicds! HIVAR U YIAET SW YA 20 vssidd fawr ;o [10]
(1) wfewaE wfew amn Som ofg ‘AED Seuseu’ W guifed YEehd
gHifase el 3 ?
(2) Hadfger=l Y=R eNfor GER vl gt siven oeshren el ?
(3) W 7. Snya Frew foqa= fom wv smed ?
(4) ‘TR ST R’ ¥ STHERA hIvel aEsd 3T 7
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(5) ‘eAfoqaest’ @ fadeifae™ 94ge IO ?
(6) cihEifearde S yfqa & dfvreugul Uy wvEn SR ?
(7)  ‘TTg wE el Al ¥ STeHefGIWR W@ hivmel 3R 2

3.  Wrcilciiehl

SRl A gyl S Yode! 50 vis=igdd fewr ;0 [15]

(1) AHIEE @eY deddd W &l
(2) SCAERG TT@AMF VIO B STHd 2

[

(8) foa fafscen weafom W&y W= .
(4) ‘ergEfE’ oo ‘TEeRed’ AMia 9T TISE &AL

(5) SACHETE SEAEA e fagr

4. Goicdes

() D

(2)

(&) (D

(2)

g% T et Ueae S 150 wsgdd feer ;0 [16]
‘qEwl T E wEsiEE siew @Y AR 2 wd d e
ferar.

YeEeh Y Beh FTeATal Al SMEH hivd HEhR shel d dTTerTesdl
YEEAT YR T .

TE® WU[A WY WY Hivich AreA1 STSUHEUeR ShIvhIvIel SAfdr=
qRomm gen ? wfawR fomn

@Al AEHAM  SSUHEUell HRUYd SHUR HIvd  =Heh
[l A A "iffaa e 7 "faww fern

5. @citeldehl
() (D

(2)

[5201]-2002

Jeh TRl Wkl ¥ IR 300 vieargdd faer @00 [24]
foeamfovarda Sy wHdR wsua e g dwie wE
foere =

H.
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(9) (1) I Tua Il difefcass SISUSEu ShymyshR #@ell ? 9 e

.

(2) fovarg R A=A SEUHESUd Aiehfde ARl Higl dMel
R, d ‘O TEFMETE 3RS U’ Al el YR T

.

[5201]-2002 4



[6201]-2002

(G-2 : FTaEier 9 SUASAT A0
(Uit TATHERA)

9% : 9 ae TeRUT TOT : 80
o — (i) ¥Wd Y el HAEvas 6.

(ii) SRS A% U gU U geifaa.

1. Weidds! SR €&l 9=l W et 20 vsgid fomr [20]
(1) feooii #eos @@ ?
(2) Wifedios RIS ®E 2
(3)  SASIiEHE=l & @M
(4) TRIET ST YHR E.
(5) HAGEN WEET g dfvre g
(6) ‘wed’ HaHl HivE dER .
(7) fo= weicgdt o wus fedl ad ?
(8) sfdgurd YR fahdl & whivd ?
(9) |9 WIS ®E ?
(10) wRforeh=n & AT
(11) EoUMYsE oS 6hid 7
(12) arftich STgaTeld VIO Teeral HHOEN Bl ?
(13) wEeEE feouiid @w Sew ol
(14) HURA WIS ®E ?

2. Wiicis! A% TRE Ul FeE S 50 v=imdd forer [10]

(31)

(%)

[5201]-2002

(1) A 9" @WEY 9.

(2) zfdgd wmUN w1 7 ediencds  fdgaral Hifedl 9T
(1) wifgdiaseh dioepivren Hfacaq gaifiid shelt a2

(2) ERfUTRT FRvEn e Hfaae Feen S ?
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3. TEeusl YIS TRME TRl U S 150 vieradd fomr [20]

(31) (1)
(2)

(&) (@

(2)

feoqofte g WA ‘wrEferEE fowoft’ wafaseE wfedt @
ATl FHAHS Aedeadd g fead il qiEer AR A
2 e M B e 2 e e I o S | S R s o o B | e
FHHAR MRS URiA e TR 50 96 qu el
e = TR TR SUaa=E 3R, SR AR
g h .

Hd FHYeR HERRI TR HREMI, IMETR, Hiceqy A=A adH
HRd WHEie faar gRea e #oa| JuR 3. o
fow= =oomTEE TR FHA

4, Gellads! YAk TR Rl Tkl Y IR 300 v=E fomr

(1) (O

(2)

(&) (D

(2)

[5201]-2002

[30]
T HRlfgeedd Sedded - dewid faendi  gfafei=i
3% el a1 Hewid @i sfagw femn
o= UiEdid SeUEEl SIFT Sedrered ey elehdie]
SR fawrme o &
9. sit. WA Qd, Wied wiasl U Il ULUEELS SHEEel
a4 #fer w1 fHeEl w=uA g o e oe. feuoit qur
EXU
‘e e 1 T 25 o qul i SiRd. SfHdl HarsiH ST
Teifgereerdd T fomR & swn A wXen  wRfur
el TR .
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- [5201]-2003

S.Y. B.A. EXAMINATION, 2017
MARATHI (W31
e envaraufsenT-1
(WS e fafaa wfzagsr)

(2013 PATTERN)
9% : 3 AW THUT TOT : 80
UIeIqich:— (i) e o9 weaddl difce  fHEE.
(ii) Fegure-faan farerest.
(iii) HIHY-3TUUMHS TS
I — (i) Wd WA Gl Serad e
(ii) SSEhele % FeAE qof o gFifedr.

1. THous! ®HUER 9] gl Sw faer [15]
(i) HRIU A WfeagwrrE=t HAfedt T
(i) WRAY AT AfeAaysi=A wHMEl orewa Hifedl =@
(iii) HRIN AT TieAURR= aeddl Hifedl  foral.
(jv) T MISE HRT AT YhRER 29 fo@
(v) HRCA AEAT I TSHS Had TR HA.

2. W@yl HIUCARI Urel AT SW Yodhl 20 v=9Ed fewr ;o [10]
(i) USRIV TSSEE SINUEl ARl SATOeATel Sl ?
(ii) WY @AW 3MYelt Herfl ehd greldl A=A Wiehid  shivmen faeft ?

PT.0:



(iii) TONSeA HeAe AE foen

(Gv) IUSTEN Wi Foen Mad g ?

(v) T AT A H hell ?

(vi) ‘WHiHU' A FEIAA TS B0 ?

(vii) 'WwfEU’ A FEAGdE Hew@re uEEt Aa ferar

3. Welicdeh! U@l Wkl U< S 50 v=mdd fomr [05]
() ‘vewE uEd’ A SAfFaEst  qoatse o
(Gi) ‘WiRU’ A wEEddE oaeRe fovm femn

4., GAUHR! JAF TAid FHIVERI Tehl I SW 150 vearadd forer @ [20]
() () ‘T WU =EE WUEEN SHA uifes’ A1 AWrERST=AT  faumEmE
Tfqaref  ferar.
(ii) ‘eHUe’ A AREEMA g 9 VNG WHEfEHu @l
(F) () ‘focoa worwell’ o1 AfGRE@d IREd e =
(ii) ‘TiETHARE ®ieETd WeER YR oA quwHr wW oA faume
I YA .

5. WEadsl YdE TR WeRl UvAE 3w 300 veawdd fasr @ [30]
(1) (7)) 'STME &I WG § Uh™ e AR AWERAr A SFIde A=
HRU feter.
(i) ‘FeHHR’ A1 AEETAl AR wEHE SAfRien el
() G) ‘wiww=n’ SeAme=n ui=a w&7 <9
(i) ‘TR0’ wRel IUTEA=A E-g:@H JAURMEd ad, ®d d T
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N [5201]-2004
S.Y. B.A. EXAMINATION, 2017
MARATHI (¥7131)
foRToaT enaHuteRT wHieR-2
[eraf=ie Tt aremaTer sfaEE (3. 1818 A 1960)]
(2013 PATTERN)
A% : o= A THIT TOT : 80

ol :— (i) W WA Hefdu eerds s
(i) SSEhEls 3k WeAe YUl U SFifar.

1. TeoUHh! SR U= WAEl SW TSl 20 Ievdd fomr [10]
(1) ‘Wfoems’ o1 AEM @eE &l &wigd || fe

(2) wdat ‘AfME’ F=N @M wfadr GUeEl Ad fdwn
(83) TUeRlE @ 3 IqrAl ARl A forEr
(4) feame Fom= @9 Aeuserdl de foml

(5) TIRIA SHEhA hIUMhe S ?
(6) TaRIAA SHEH HIUH TS A 7
(7) Af9. @kl AN RO IUHA TRfE M ?

P.T.O.



20

YEOUh! RV I WA SW FAS! 50 Iigdd fowr [10]
(1) fag wewv=n feEue Sty gewma T &4

(2) afewwr #AexzM wfaddid dreq favse &

(3) Tos dgau=n Akl dleHd  SA@El H.

(4) T HAGERET ™ &ed ol

JE@UHR! IR G TEAE SW YR 50 Ieavdd few [10]

(1) <fag Saae 990 SR FRaUHRR ANMES T8 A=A hea-Adl
el 3@l EA.

(2) TR TEM@HET AUel 9™ 79 deu foodl HigRlu W &

(3) wfgumeare =Rl A=A hfddd WEHIOT Sewiel fEsOr el YR 3l
A ? e foen

(4) foies TERT SRSl &fadd A fem

TEoUs! UE TRe Wl WA W Uod! 150 eeiddd fesr ¢ [20]

‘o1 e

(1) 1818 d 1874 U HIAGSH YEANT Hhid@e 310 1 A ST ?

N

(2) 1875 T 1920 A FE@SHIA Y@ ALHSHN=N HHAMR STeEl =

‘T’ T

(1) o3 gu&keE fodidl @wr= argudd  wMEAR=T qrier =

(2) 1945 4 1960 AU HCESHA THE FHRIRND URET HEA .
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5. TUdoUs! Y% TG TRl W™ St S 300 I=iqdd fowr : [30]

(1)

(2)

(1)

(2)

[5201]-2004

‘31’ e
1818 T 1874 I HITEEKIT AEHAMHAT ST U=l AR ANTe
IS T

1874 A 1920 A1 weT@Ea adewmifereh Mfor gaual Fr=n AFlEr =
‘q T

1920 d 1945 A1 H@EKId A3 HigcAd A=Al YN HIN ThR

U 3Med WGV T H

1945 q 1960 AT HICTESIAT TerhARN=A SEHAA  HEM= Wik

HTedl  #A41.
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Yo, [5201]-2005

S.Y. B.A. EXAMINATION, 2017
FRENCH GENERAL-II
(Language Skills)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

Q.1]A) Traduisez en anglais le texte suivant. (10)

Pas de No¢l & Ushuaia ou a Koh Phi Phi cette année... Pour une fois, je suis en France pour les fétes, et ce
sera Noé&l 4 la montagne et en famille! La Savoie, c’est un peu chez moi. C’est d’ici que ma famille
maternelle est originaire et j’y ai passé de trés nombreuses vacances. Le chalet familial de La Toussuire,
c’est mon arriére-grand-pére maternel qui 1’a construit. C’était un chalet d’alpage (mountain hut) pour
s’occuper des vaches pendant 1’été. Depuis il a bien siir été complétement rénové,

La Toussuire fait partie du domaine skiable des Sybelles, qui regroupe les six stations du coin, avec
notamment Le Corbier et Saint-Jean d’Arves. Avec 310km de pistes, c’est le 4e domaine skiable de
France. Bon, j’avoue, j’ai un peu honte... Je suis 4 moitié savoyarde et pourtant je ne sais pas skier. Alors
qu’est-ce qu’on fait & la montagne quand on ne skie pas? Heureusement, ce ne sont pas les activités qui
manquent! I y a beaucoup de sentiers de randonnée. On peut aussi prendre le télésiége pour aller se
balader en haut des pistes.

B) Traduisez en francais le texte suivant. (10)

Nowadays life is so fast; it is very difficult to manage house chores and office work. From morning, we
are busy. We leave home early and return late. Many people have to do shopping on Saturday. Eachone in
a couple has to take responsibility. No one is willing to work on Sunday. Many people go to countryside
or take rest at home. '

Q.2] Répondez aux questions suivantes: (3 au choix) (15)

1). La famille, quel réle joue —t — elle dans votre vie ?

2) Qu’est ce que I’agrotourisme ? Aimez — vous cette idée de passer le temps sur la ferme ?
Justifiez.

3) Quel type de film aimez — vous ? Expliquez avec les exemples et les raisons.

4) Gagner un match n’est pas yne tache individuelle. Expliquez.

Q.3] Choisisez UN de ces sujets: (10)
Ecrivez une recette de votre plat favori.
ouU

Ecrivez une lettre 2 votre ami(e) pour raconter une féte au quel vous avez assisté.
P.T.O.



Q.4] Grammaire et Vocabulaire: [35]

A) Mettez les verbes aux temps convenables : (5)

1. Tamére (téléphoner) il y a quelques secondes.

2. ' Le musée d’Orsay (étre) fermé tous les lundis.

3. On (pouvoir) visiterl’exposition Cézane jeudi prochain.

4. Depuis I’année derniére, le prix des loyers (augmenter) de 5%.
5. Le ciel était trés bas ; je pense qu’il (neige).

B) Reliez les phrases suivantes en utilisant les pronoms relatifs simple ou composés : (4)

1. Juliette Binoche est une actrice. Cette actrice a joué dans Le Patient Anglais.

2. Ma tante vient me rendre visite cette semaine. J’ai passé mes vacances chez elle I’année derniére.
3. C’estI’hotel ; I’accueil y est extraordinaire.

4. Jean a acheté une maison a Nice. Il a payé une grande somme pour cette maison.

C) Complétez les phrases suivantes en faisant des hypothéses : (2)

1. Si je me promenais tous les jours,
2. Si vous avez parlé t6t,

D) Réécrivez les phrases suivantes en utilisant les expressions de comparaison. (2)

1. .M. Hollande gagne votes __M. Sarkozy.
2. Antoine est étudiant de la classe.

E) Mettez les verbes a I’indicatif ou au subjonctif : (4)

1. Il faut que vous (étre) al’heure.

2. IIs souhaitent que tu (vendre) ta voiture.

3. Pierre est siir que nous (venir) chez lui.

4. Je pense que la banque - (ourvrir) en retard aujourd’hui.

F) Mettez les phrases en voix passive : (4)

L’entrainement améliore la puissance du muscle.
L’employé a écrit plusieurs lettres au directeur.
On boit le vin rouge avec la viande.

Le vendeur va fermer le magasin a 21h.

e e

G) Racontez un évenement en utilisant les expressions de cause et de conséquence : (4)
H) Complétez les phrases avec des expressions suivantes : (5)

(il y a/ bien que/ avoir envie de/ donc/ de telle maniére que)

1. le professeur ait donné un travail, tous les étudiants bavardaient.

[6201]-2005 2



2. On voit le dévelopement économique dans cette région deux ans.

3. Le gouvernement crée une nouvelle loi il n’y a pas de probléme en avenir.
4, Ma grand-mére a oublé sa valise en haut, j’y vais.

5. Les ouvriers se mettre en gréve pour augementer leur salaire.

I) Trouvez les noms (2)

1. Vivre
2. découvrir

J) Complétez les phrases avec des expressions temporelles : (3)

1. 10 ans que I’on voit le changement drastique dans |’environnement.
2. Le train partira deux minutes.
3. On vaaux Alpes I’hiver pour faire du ski.

[5201]-2005 3
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oen [5201]-2006

No.

S.Y. B.A. EXAMINATION, 2017
FRENCH (SPECIAL-1)
FRANCE IN THE WORLD
La France Dans Le Monde
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
Q1A) Donnez les dates qui correspondent aux événements suivants: [6]

1) La Déclaration des Droits de I'Homme et des Citoyens a été rédigée en

2)En Napoléon est sacré L'Empereur de France.

3) Christophe Colombe a découvert I'Amérique en

4) c'est le Jour de la Francophonie.

5) L'Euro est mis en circulation le
6) La Journée de I'EU est fétée le

B) Complétez (4 au choix) [4]
1) L'hymne européen de 1'Union Européenne est la neuviéme symphoniede
2) a découvert l'imprimerie en 1450.
3) La nouvelle secrétaire générale de la Francophonie s'appelle
4) est le dernier roi de la France.
5) et sont les deux chambres du Parlement frangais.

C) Dites vrai ou faux [4]
1) Xénophobie veut dire la peur des hommes.

2) Laicité veut dire la séparationt dans I'Etat, de la société civile et la société religieuse.
3) Les clandestins ont les papiers nécessaires pour résider dans un pays.

4) TVS n'est pas un opérateur de la Francophonie.

D) Expliquez en frangais simple (5 au choix) [10]
1) Que veut dire le terme " Francais de souche"?
2) Nommez les pays membres de L'EU.
3) Expliquez le drapeau de 1'Union Européenne et sa signification.
4) Expliquez le mouvement de la Renaissance.
5) Que veut dire pour vous, le terme "La pauvreté"
6) Expliquez les causes du chomage.

PT.0O,



Q2) Expliquez en bref (3 au choix) [30]
1) ANPE/ SDF/RMI/SMIC
2) La Premiére Guerre Mondial.
3) Le Racisme, 'Tmmigration, les migrant et leur intégration dans la société ---les
problémes et les possibles solutions.
4) Qu'est ce que I' OIF et a quoi sert -elle? Quelle est sa mission?
5) L'économie de France-un apergu.

Q3) Répondez en détail. (2 au choix) [26]

1) La Révolution francaise-ses causes et ses conséquences.

2) " favoriser 1'établissement d'une paix durable et de lancer la reconstruction des
pays d'Europe" était l'objectif derri¢re la création de 1'Union Européenne. Commentez et
expliquez en détail la formation, les institutions et les symboles de I'Union Européenne.

3) La France est une république constitutionnelle parlementaire a régime présidentiel.
Expliquez le systéme politique francais, les pouvoirs, I'élection en le comparant au
systéme indien.

[65201]-2006 2
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No. [5201]-2007

S.Y. B.A. EXAMINATION, 2017
FRENCH (SPECIAL) S-2
BUSINESS FRENCH/FRENCH LITERATURE
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Q1) A) Traduisez en anglais. [15]
Le boulanger Holder, a Lille, n'a jamais fait de publicité. Son enseigne, Paul, vit par elle-
méme. Et son réseau de quelques 250 boulangeries artisanales (dont une centaine en région
parisienne) est le meilleur gage d'une notoriété suffisante."Chez Paul, on fabrique tout, nous
sommes des artisans. Les farines sont sélectionnées avec soin: 200 agriculteurs sont sous
contrat, de méme que les meuniers", explique le PDG, Francis HOLDER, qui a regu la petite
boulangerie de son grand pére. En 1998, son groupe affiche un respectable chiffre d'affaires
de 210 millions d'euros, pour un effectif total de 3000 personnes. Cette année, Holder lance
une entreprise destinée a la franchise: Saint Preux. Avec Saint Preux, c'est la division
industrielle du groupe qui s'implante dans les quartiers animés des villes.

Trouvez les expressions/mots dans le texte ci-dessus qui correspondent aux définitions
suivantes

1. un symbole graphique représentant une marque.
2. le fait d'étre connu.

3. qui est fait de la fagon manuelle.

4. le nombre des employés.

5. une forme de commerce associé

B) Traduisez en francais. [10]

Jerome Legal, the CEO of the French company EUROSITE, no 1 in the
manufacturing of vacuum cleaners, was conducting a meeting with the chief of sales and
marketing and the chief of finance. The objective of the meeting was to take stock of the
previous semester. The chief of finance reported that the turnover of the company had
increased from 23 million Euros to 24 million Euros. There were two reasons for this
increase. Firstly, the fusion with the German company Astron and secondly their presence in
the European market.

P.T.O.



Q2) Vous étes Véronique, la secrétaire de M Vincent. M Vincent vous laisse une note. Il
doit partir en urgence pour Washington pour assister a une conférence. Il ne pourrait pas donc
étre 1a pour la réunion avec le chef de marketing M Lambert, le lendemain & 3 h dans son
bureau. M Vincent voudrait que Véronique transmette ce message de regret sur la boite

vocale de M Lambert. Rédigez ce message. [10]
Q3) Expliquez les termes suivantes (5 au choix) [10]
1) SMIC

2) licenciement

3) jour férié

4) prétentions

5) numéro vert

6) dénomination sociale

Q4) Vous recevez un visiteur dans votre entreprise Vous lui présentez voire entreprise.
Vous lui expliquez l'organigramme-le fonctionnement, les services, le chiffre d'affaires
les produits- leur fabrication, I'effectif, le réglement intérieur et les codes et les rituels
de I'entreprise etc. [15]

Q5) [20]

SOCIETE INTERNATIONALE DE SERVICES INFORMATIQUES
RECRUTE
Assistante de direction
Bilingue anglais
*de formation BAC+2, vous avez une expérience dans le secteur informatique
*vous étes disponible et autonome
*vous aimez les tiches variées
*vous maitrisez une troisiéme langue
Votre mission:
*l'accueil des visiteurs
*1a rédaction des rapports
*le suivi des dossiers marketing et publicité.
Merci d'envoyer votre candidature a:
mherv@infotech. fr
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a) Vous recherchez un emploi dans cette entreprise frangaise. Rédigez votre CV. Mariée,
vous habitez a Paris. Vous avez une formation commerciale supérieure et vous étes
aussi expérimentée dans la vente. Vous avez travaillé comme assistante dans une
agence de voyage. Vous étes disponible pour les déplacements.

Vous parlez plusieurs langues et vous avez une bonne maitrise de l'informatique.

b) Ecrivez une lettre de motivation afin de répondre a cette annonce.
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S.Y. B.A. EXAMINATION, 2017
GERMAN
General Paper II
(2013 PATTERN)
Time : Three Hours Maximum Marks : 60
Note :— All questions are compulsory.
This paper also includes listening comprehension of 10 marks and
oral exam of 10 marks.
Use of dictionary is allowed.

Frage I: Ubersetzen Sie! [10]
(A) Ubersetzen Sie ins Englische! (05)
Seit vielen Jahren wird Schweizer Kise ins Ausland exportiert und obwohl er teurer ist als
vergleichbare Kise aus anderen Landern, wird er gekauft, weil er ganz besonders schmeckt.

Warum hat er dieses spezielle Aroma ? Die Griinde sind ganz einfach. In der Schweiz ist die
Herstellung von Kise in den Dorfkésereien beibehalten worden. Und der Kise wird aus
Rohmilch, also aus frischer Milch, hergestellt und nicht aus pasteurisierter Milch.Der
beriihmteste Schweizer Kése ist der Emmentaler. Seinen Namen hat er von der Region, aus der

er stammt, dem Emmental.

(B) Ubersetzen Sie ins Deutsche! (05)
Horst Weber (67 )

Family means for us, children. They play central role in the family. Now our children are grown

up. They don’t stay with us. But when they visit us we are very happy. It is indeed good that they

let us share us their life also. We do have contact with other relatives like sisters, brothers and

their spouses and of course distant relatives: aunts, uncles. We believe that our friends and

acquaintances are also a part of our family.

Frage II: Beantworten Sie FUNF der folgenden Fragen! [10]
Was ist fiir Sie im Beruf wichtig ?

Beschreiben Sie das Wetter heute !

Wo kaufen Sie gern ein ? Warum?

Was bedeutet ein Abiturtreffen ?

Wo fahren Sie im Urlaub hin ? Warum ?

Was bedeutet konkrete Poesie ?

Was soll man fiir ein langes Leben tun ?

Welche Nachricht haben Sie heute in der Zeitung gelesen ?

O~ B W=
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Frage III:Grammatik und Wortschatz [30]
(A)Bilden Sie Nebensiitze! (Nur 3) (03)
(weil, wenn, dass, um...zu, zu + Infinitiv, damit)

1 Der Vater beginnt das. Er schreibt E-Mails .
2 Sie Offnet den Regenschirm. Sie méchte nicht nass werden.
3 Die Kiihlschranktiir schliept nicht richtig. Man macht sie nicht fest zu.
4 Ich habe keine Lust das interessante Buch weiterzulesen. Ich bin sehr miide.
5 Sie duscht morgens kalt. Sie mdchte schnell wach werden.
(B) Ergiinzen Sie die Adjektive (in Komparativ und Superlativ, wo notig)! (03)
(Nur 3)
(gut, lang, gesund, gern, viel, )
1 Morgens trinke ich Tee als Kaffee.
2 Mein Sohn findet, dass New York die Stadt in der ganzen Welt ist.
3 Die Wohnungen in Mumbai kosten als die Wohnungen in Delhi.
4 Ist Narmada als Godavari ?
(C) Welche Priiposition passt? (Nur 3) (03)
1 Eine Kundin hat sich lange Wartezeit geéirgert.
2 Freust du dich Sommerferien.
3 Meine Nachbarin kiimmert sich ihre kranke Mutter.
4 Bistdu deiner neuen Stelle zufrieden?
(D)Schreiben Sie die Séitze im Priiteritum! (Nur 3) ' (03)

1  Wir gehen schnell ins Restaurant und trinken eine Tasse Tee.
2 Sie fiittert gerade die Katze und singt dabei ein altes Lied.
3 Wegen des schlechten Wetters geht es vielen nicht gut. Viele sind erkiiltet.
4  Wartest du lange auf den Zug? Hat er Verspitung ?
(E) Bilden Sie das Passiv! (Nur 4) (04)
1 Man darf hier keine Wische waschen.
2 Der Elektriker reparierte den Wasserhahn.
3 Jemand hat die Treppe geputzt.
4 Im vorletzten Jahr verdnderte man die Fassade des Stadtturmes.
5 Die Studenten vergessen manchmal ihre Ausweise.
F

(F) Bilden Sie Relativsiitze II! (Nur 4) (04)

S’

1 Das ist das Museum in meiner Stadt. Leider ist es Sonntags geschlossen.
2 Das ist der junge Mann. Meine Kollegin ist mit ihm befreundet.
3 Parvati ist ein groPer Hiigel. Viele Alte besteigen ihn jeden Morgen.
4 Die Porta Nigra war einmal ein Stadttor. Seine Farbe war schwarz.
5 Die intelligenten Studenten kommen aus Asien. Der Professor nimmt mit ihnen an
einer Konferenz teil.
( G) Bilden Sie KonjunktivII ! (Nur 4) 04)
1. Die Bananen sind nicht frisch. (Wunschsatz)
2. Ich habe viel Stress. Ich werde besser arbeiten. (Bedingungssatz)
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3. Kannst du bitte die Musik leise spielen? (Héfliche Bitte)
4. Mein Freund raucht viel. (Wunschsatz)
5. Ich brauche ein Glas Wasser von Ihnen. (Héfliche Bitte)

(H )Welche beiden Siitze haben gleiche Bedeutung ?

1
A Die Nachfrage nach Neuwagen ist im letzten Jahr gestiegen.
B Im letzten Jahr wurden mehr Neuwagen gekauft. ,
C Die Verbraucher haben sich im letzten Jahr weniger Neuwagen geleistet.

2

A Es ist sehr wahrscheinlich,dass die Preise fir PKWs im niichsten Jahr sinken.
B Niemand glaubt,das im néchsten Jahr viele Autos gekauft werden.

C Es wird erwartet,dass PKWs im néchsten Jahr giinstiger werden.

3

A Im Wald stand ein einsames Haus.
B Ein Haus stand allein im Wald

C Im Wald befand sich ein altes Haus.

@O Ergiinzen Sie das richtige Wort! (Nur 3)

1 Ich mochte eine Schokolade kaufen.

2 Man kauft eine , um Wische zu waschen. .
53 Erarbeitet ais Arzt. Er hat studiert.

4

Wenn man ein Hufeisen findet, bringt es

Frage IV: Lesen Sie den folgenden Text und beantworten Sie die Fragen!

Am Morgen des 11. Mérz ist die Welt in der Kleinstadt Winnenden bei Stuttgart noch in
Ordnung.580 Schiiler gehen in die Albertville- Realschule. In nur wenigen Minuten
wird ihr Leben nie mehr so sein,wie es einmal war.

Um 9.30 Uhr kommt Tim K . in die Schule.. Der frithere Schiiler dieser Schule ist
schwarz gekleidet,in der Hand hilt er eine Pistole. Er geht in einen Klassenraum und
schieft dort finf Schiiler in den Kopf. ,, Die Kinder waren offensichtlich vollig
iiberrascht. Als man sie spéter tot auffand, hatten noch einige ihre Schreibstifte in der
Hand, sagte spiter Landesinnenminister Heribert Rech. Tim K.geht in zwei weitere
Riume , totet dort eine Lehrerin und zwei weitere Schiiler und verletzt mehrere. Zwei
der Verletzten sterben spéter auf dem Weg ins Krankenhaus. Ein Schiiler ruft mit
seinem Handy die Polizei. Zwei Minuten spéter kommen drei Polizisten in die Schule.
Tim K. Schieft auch auf sie ,dann rennt er davon. Auf der Flucht tdtet er zwei
Lehrerinnen und einen Angestellten einer psychiatrischen Klinik. Zwei Stunden spiter
gibt es einen Schusswechsel mit der Polizei. Der 17 jahrige wird am Bein verletzt. Dann
schieft er sich selbst in den Kopf.
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Esist 12.15 Uhr . Der Amoklauf , die kriminelle Aktion ist vorbei.16 Menschen sind tot.
An der Albertville Realschule versuchen die schockierten Menschen, die schreckliche
Situation zu verstehen. Psychologen kiimmern sich um die Familien der Toten und um
die Schiiler und Lehrer. Fragen werden laut. Was lief falsch im Leben des 17 Jahrigen ?
Auf seinem Computer findet die Polizei das Gewaltspiel Counterstrike. Die Pistole hatte
Tim K. aus dem Schlafzimmer seiner Eltern. Der Amoklauf von Winnenden ist nicht der
erste in Deutschland. z. B.2002 sterben an einer Schule 17 Menschen in Erfurt.

A Beantworten Sie die folgenden Fragen!

1 Wie kommt Tim K. am 11. Mérz in die Schule ?

2 Washat Tim K am 11 Mirz in der Schule gemacht?
3 Um wen kiimmern sich die Psychologen?

B Richtig oder Flasch!
1 Tim K. ist 17 Jahre alt.
2 Tim hat eine Pistole von seinem Freund gelichen..
3 Das Gewaltspiel Computerspiel ist gut fiir die Gesundheit.
4  Der erste Amoklauf findet in Winnenden statt.
C Suchen Sie Synonyme im Text!
1 ganz
2 Minister eines Bundeslandes

D Geben Sie den Text einen passenden Titel und begriinden Sie warum Sie
diesen Titel auswiihlen!
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S.Y. B.A. EXAMINATION, 2017
GERMAN
Special Paper 1
(History and Literature in 20th Century)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
Note :— All questions are compulsory.

Frage I: [16]
A) Ergiinzen Sie! (Nur 10) [10]

1. Mit der bedingungslosen Kapitulation Deutschlands endete fiir Deutschland der

2. Im Mai 1945 waren auf deutschem Boden nur noch zu sehen. Die
Stadte waren vollig zerstort und die zusammengebrochen.

3. In der Konferenz wurde die Grundlage fiir die Nachkriegsordnung
Europas gelegt.

4. In Westberlin mussten 2,5 Millionen Menschen von amerikanischen und englischen
Flugzeugen iiber die ernghrt werden.

5. In den 50er Jahren erlebte die einen raschen wirtschaftlichen
Aufschwung némlich .

6. , der Bundeskanzler von 1969-1974, fithrte eine Entspannungspolitik,
wodurch ein Dialog zwischen Ost- und Westdeutschland begann.

7. Am 13. August 1961 wurde eine Mauer um gebaut.

8. Michael Gorbatschow fiihrte eine neue liberale Politik mit Glasnost d.h.

und Perestoilka d.h. ein.

9. Die internationale Pressekonferenz in am 9. November 1989 erwies
sich fiir die Wiedervereinigung als entscheidend.

10. Bei den ersten freie Wahlen in der DDR, die am 9. Mérz stattfanden, wihlten die

Mehrheit die Partei (CDU) und damit die Wiedervereinigung.
B) Ordnen Sie bitte zu! [06]
a. Siidwestdeutschland i. Stasi oder MfS
b. Juni 1947 ii. Studentenbewegung
¢. Die 70er Jahre iii. Marshall Plan
d. Oktober 1989 iv. FranzOsische Zone
e. DDR v. Erich Honecker tritt zurlick
f. Die 60er Jahre vi. Reform Ara

P.T.O.



Frage I1: Beantworten Sie VIER der folgenden Fragen! [16]

bl

XN

Warum war die Postdamer Konferenz fiir Europa entscheidend?

Was bedeutet Stasi oder M{S?

In welchen Besatzungszonen wurde Deutschland eingeteilt?

Welche ideologischen Unterschiede gab es zwischen den Westméchten und der
Sowjetunion?

Was bedeutet Berliner Blockade?

Was passierte 1989 in Leipzig?

Wie kam es zur Wiedervereinigung?

Wie war die Lage Deutschlands nach der Wende?

Frage III: A) Beantworten Sie VIER der folgenden Fragen! [24]

(=Y
.

Welche charakteristischen Merkmale hat die schongeistige Literatur?
Erlautern Sie die Begriffe Ich Erzdhler, Er Erzdhler, Erzdhlzeit und Erzdhite Zeit.
Schreiben Sie kurz ttber:
i) Parabel und ii) Legende
Was sind die wichtigen Merkmale der Lyrik?

4, Was belehrt uns die Fabel Die junge Schwalbe?

¥,

Schreiben Sie kurz iiber:
i) Ode und ii) Hymne

. Wie unterscheidet sich eine Tragddie von einer Komodie?
. Schreiben Sie kurz iiber die Form ,Episches Theater*.

6
7
8.
9.
1

Was lernen wir von dem Mérchen Die Sterntaler?
Erldutern Sie die Merkmale einer Fabel ODER eines Mérchens anhand Beispiele!

0. Geben Sie den Inhalt der Faustsage zusammen.

Frage IV: A) Beantworten Sie VIER der folgenden Fragen! [24]

1.
2.
3.

AR SR R A o

Worum geht es in dem Text ,, Gesprdch*?

Warum heiB3t das Gedicht ,Markierung einer Wende ‘ ?

Wie lasst sich die Kurzgeschichte ,Das Brot’ als eine Nachkriegsgeschichte
interpretieren?

Woriiber spricht das Gedicht Ein Wiesenstiick von Bernd Jentzsch?

Interpreticren Sic das Gedicht , Eine schwache Erinnerung®.

Worum geht es in dem Gedicht Adieu Land von Gabriele Eckart?

Welche Rolle spielt die Kiichenuhr in der Kurzgeschichte Die Kiichenuhr?

Erléutern Sie den Titel der Kurzgeschichte Geteilte Liebe?

,Als die Mauer fiel, die Mauer steht* Erldutern Sie die Zeile.

10. Charakterisieren Sie die Tante in ,Der Tod meiner Tante*.
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S.Y. B.A. EXAMINATION, 2017
GERMAN
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N.B. :—All questions are compulsory.

Frage 1. 32)
A) Beantworten Sie ZWEI der folgenden Fragen! 16

1. ,Kinder sind unschuldig und naiv. Erldutern Sie den Satz anhand Beispiele aus dem
Stiick ,Max und Milli*

Wie kommt es zur Freundschaft zwischen Max und Milli?

Analysieren Sie die Lieder aus dem Stiick.

Charakterisieren Sie Max und Milli als Geschwister!

Wie unterscheidet sich die Kinderwelt in ,Max und Milli‘ als die Kinderwelt in Indien?

=l <

B) Beantworten Sie FVIER der folgenden Fragen! 16

Wortiber streiten sich Max und Milli , nachdem Milli von der Oma zuriickkommt?
Was machen die Kinder um Max’s fiinf Euro zuriick zu bekommen?

Ist Max eine Angsthase? Erldutern Sie anhand Beispiele.

Wie endet das Stiick? Ist das ein passendes Ende?

Wie ist Ihre Lieblingsfigur aus dem Stiick? Warum?

Wie dndert sich das Verhiltnis zwischen Max und Peter im Laufe des Stiickes?

il ol ol -
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Frage 2. (16)

A) Ergiinzen Sie! (Nur 8) 08
1. Ler 1ST eIne Ferson, die an erster dielle des dtaates stent und
den Staat représentiert.
2. Solarenergie, Windenergie, Biomasse sind ‘ Energien.

Man tut nicht den ganzen Miill in einem Miilleimer, sondern in verschiedenen Miilleimer
je nach den Arten des Miills. Das nennt man

4. Der Bodensee liegt im
5. Die Hauptstadt von der Schweiz ist
6. In der Schweiz gibt es eine Zwischenmahlzeit ,das ‘ gegen
16 Uhr.
7. Das ist der sonnenreichste Ort der gesamten
deutschsprachigen Linder.
8. DACH steht fiir ,
und .
9. Die ist eine Verbindung von mehreren Parteien, die
zusammen eine Regierung bilden.
B) Ordnen Sie zusammen! 08
1. Die Frauenkirche a. Rheintal
2. Zytgloggeturm b. Bern
3. Loreley c. Osterreich
4. Fiaker d. Miinchen
5. Goldene Dachl e. Berlin
6. Elbstein f. Baden Wiittemberg
7. Das Musueminsel g. Dresden
8. Der Schwarzwald h. Graz
Frage 3. (32)
A) Beantworten Sie VIER der folgenden Fragen! 16
1. Was wird in dem Gedicht ,Poor old Germany* kritisiert?
2. Interpretieren Sie das Gedicht ,Schnellimbiss*.
3. ,Schade fiir uns, wie ich meine, Sorry, poor old Germany* Erldutern Sie diesen Satz von

P ke g

Reinhard Mey.

Wie beschreibt Franco Biondi in ,,Anfinge‘ die Probleme der Gastarbeiter ?
Wie wird die Seniorenwelt in der Geschichte ,Kein Platz fiir Opa‘ dargestellet?
» S0 weit am Leben, zu nah am Tod* erldutern Sie die Zeile!

Interpretieren Sie eins der Okolyrik- Gedichte.
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B) Schreiben Sie kurz iiber VIER der folgenden Themen!

Das Familienleben in Deutschland
Bioprodukte

Die Miilltrennung in der Schweiz
Die Essgewohnheiten in Osterreich
Berlin: ein historischer Ort

Das politische System in der Schweiz
Das duale Bildungssystem

L U S e
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(ii) ‘M9 w o' HEEl Hl huEsg d&q # fafeu)

(jii) ‘THGAl W Wed & g 4 fafem w1 few ueR w1 save
e 7 swe fafesn & faud @ w1 gwE 9e1 ?

(Gv) ‘TS ¥ dad TR wert H fafie TR wer wm oywm e

(v) ‘T A H FEA FEE B IRT & WY dgC R A fFW ywR
H AR FW T 2 R H ?

P.T.O.



2. fmfafed 4 @ 6= § uwil & s fafeg . [16]
() ‘U’ wfadr w1 wWend fafew)
(i) ‘Wien’ oA Wik ®H qEE H F dlew @wd § 2
(Gii) ‘=A’ wfaa § ufg-ueht @ 9@l @ W ysR eAfuemea e
€ ?
(Gv) ‘7ifa W A" wfaw w1 adRE fafew)

(v) ‘IR’ Hfadl H BT WG UT e T TR

3. (31 fmafafeq se@el # 4 fodl e & g@ed =mewn wifsu @ [8]
() ‘o™ § §9 I< @R 9rd, § dqae &1 Aifas iR fafed

Gi) ‘39 SE @ W e B WE, S W T fSer wWar O &d

fAetehe 97 IS W o F Udl, 98 el X H Tl
(e) frfafea samel & 4 fodt weh = wued =men wifsw @ (8]
@ < e w6l
ASE I
HICE I I M

el & Sl

[5201]-2018 2



4, (3)
(3m)
5. (31)

[5201]-2018

(i) 'YW wIem
Wl 99 ©
faera feam & & Sy oo
JE T ®
el et
FARA GAM T
F& & PR AE At

frafafeq & @ fedt w W feuot fafew . [8]
(i) ‘HHBA’ wEEl w HIH

(i) ‘foea s=a' wer ® fat@ wwen

(i) ‘T4 Tk faE ¥ werdt # aftfd odum we oo
frafafes & & fodt we w fewuoit fafew [8]
() ‘O SR sEHt wfga §  sifdE-sy

(Gi) 'S9 ® HI T WEH oI T, Hiadl & AN

(Gii) ‘ot W@ el e’ # afefd 9§ @ "ed

frefafed & @ f&<l w) ws=-grdi & A9 ads o 4 gam
S (8]
() A3

(i) TeR—=R

3 P.T.O.



(i) gL
(jv) 9YaA-9rEd
(v) gRETH-gRET

(vi) HIET-HIT|

(am) Frafafeq & ¥ fodt wer faog w® WweamER &1 AT T@R HiET
[8]
() A" foums ¥ ‘T=3 YRd IREE’ W YRR i |

(i) 9Es g1 faarel ¥ WaR Sifaw)

[5201]-2018 4



[5201]-2018
CRISEL CEIRECD)

(Functional Hindi)

g ;. |\ gue quTish : 80

ol :— () [t T eifEn )
(i) e iR fod sfw uwdl & quis |

1. fmfafes § @ 6 ®: 9wl & Wi sw fafeg . [12]
(i) wEeEes & @1 wWEy we #wifeal
(i) oaEwaws &9 § & &1 "Wewa fatew)
(iii) «feT TER & ¥ER fate)
(jv) 9= TAHT HI 9w UREF ST
(v) e Tl AEF H WEY TR HI |
(vi) fo & WEY & WK iG]
(vi)) @A WA & & § &l #1 "ew TR i)
(viii) SEEgH THAER &l fagead fafem |

9. (31) Frafafad § @ fod ww # wwwhe waRREl fafeg ;o (8]
(1) Seen, thanks
(zz) Please discuss
(iii) As a rule
(iv) Enquiries made reveal
(v) Urgently required
(vi) With respects.

[5201]-2018 5 P.T.O.



(am) FeAfafea st geedi & f6=i =9) & f&l wiE fafew (8]
() Brain drain
(i) Pull ones leg
(iii) Meeting of the eyes
(fv) To put a good face on
(v) To turn tails
(vi) To split hairs.
(3) Trfafed s=-—gmi § 4 fodil IR & A e g § 9@
it [8]

(i) HA—Hd

(ii) BA—BA
(iii) F—P
(iv) BR—T
) fEA—<=
(vi) HiA—Fell

3. (3) ffafem & ¥ f&dl U 99 &1 A1 TOR &ifWC [5]
gie™ eR, fhya A<iey, Sar ¥ 4m Zrgue, ARmere § °a
U5 & fau oRy-ud fawd -9y AR &ifeu |

3qar

ILIIIE A 9iFel, TH-AHU WS 99 R 10,000 % &1 HA

YR foan o 999 W @9 @ B S A HH e o e
foie, a ISR, Y0 & TW agA-UF (qET) H AYA AR RIS |

[5201]-2018 6



(am)

(3)

[5201]-2018

fefafed & ¥ fodt U 99 &1 T9A1 IR HiWC [5]
feuo= fen ot & A A a9 & @il 4. 32121 H 5000 %
Ffe o T | FRUYE, aRUMEd o fd., aRUR ymen § feae | Afe
?H % ey # ud fafeu)
A4

ST Wit o HokdIgeh Hedl Ueid ol g ¥9U 1 @ ol
TqEd §| Ul YEUE, S A wAU, s ymEn 9 ®mu el &
fasmes 9o fyed 1 99 @1 WEY R HIfSw

f

Fefafed afi=ge &1 &t # e wifSig . [6]

Ali Baba was a poor man. One day when he was cutting wood
in the jungle, he found a cave in the rocks. It was closed
by a strong door. He tried to open it. While he was doing
this, a band of robbers came up. Ali Baba hid himself behind
some bushes and watched, when the robber-chief came to the
door, he said “Open sesame !” The door opened. The robbers
went inside. Presently, they came out again and the leader
said “Shut sesame !” and the door closed.
AT

AU HUSET=Al el o THHiSeh WRIHSIT A=l geeh
BS Hd S Hiew] d TER U HHdcor=l S e
died, § e WH HhdkUgauE SAdidl 30X STRTEGRl  STae Je
e 3Rd. AB Sl 3 o foomdl hees gH{W=Tees Sca=
E 1 £ G M | e || 2= DO | i o B | [ M | A B ES FeA
AT AU Tl TR

7 P.T.O.



4. Tfafed 4 4 f&E 9/ o e & 3w fafen . [16]
() TEIR & & H fe&t & YA & ar H Gl HIoC|
(i) wEeEE & w0 fagvad fafew)
({ii)) GoHcHe qA Hfeq T@F & Hed bl TIL Hifog |
Gv) foama iR & & H9y & W= FHGwl
() feou & wer fafe)
(vi) URWSE TN & @WEY T HI9T |

5. fTrafafen fowdi § @ fodl @ w fewfoed fafeg [12]
() dSfen &7 # & w1 w@m
(ii) T¥A WIFHl HI A0
(iii) 3eTE e
(jv) TR fagmed &1 A

(v) HER THHIA |

[5201]-2018 8



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

Y. [5201]-2019

S.Y. B.A. EXAMINATION, 2017
& : favw-1
(Hindi Special-I)
(RS wrom =t forermm)
(2013 PATTERN)
wug ;|\ "e quTish : 80
et :— () |t g st €
(i) <fedt iRk fa@ &% T3 & Yo 2|

1. (&) fr=fafed i & 4 f&= 8 99 & IR T&H-T& a1 °
fafey - [6]
(1) =En 58 @ed § 2

(2) d& w gy fafe

(3) f&t feaw wa =AM S § 2
(4) S WK H ][ faArEn |
(5) = &4 Fed T ?

(6) Uiyl & =1 ifersl fafew)
(7)  uefewa ¥ W afagE ¥ 2
(8) T i@l fafew|

PT.0:



(a1) frefafed § & fe<l uer owdl & Sax waw § fafew @ [10]
(1) ©@q oI ¥ 31 Ay § 2
(2) TH R wed § 2
(8) &< WM ki & foRmme fafeaw)
(4) Uiy Y FEd T 2
(5) <arsd @Al fafeu |
(6) WEMWIM = ¥ ¥ AIE T ?
(7) v 68 wed § 2

2. fmafafes 4 ¥ fokl & w fewfml fafe . [10]
(1) Ty y=R gfifa, a
(2) UHHE 9o fagE

(38) v= IR UG

3. fmfafed # & fosdi @ el & S fafew - [18]
(1) = % 31 fafew)
(2) TSWen SAfuEE 1963 w1 ufEE fafEw)
(3) TER 9™l w1 wWey fafew)
(4) 9 &1 gftamnd fafew)
(5) ‘@t A g=me 9w, anoE’ w1 afiEa fafe

[5201]-2019 2



4., Tafafea 4 9 fFH @ 999 &1 sk fawr @ fafae [12]
(1) 9™ &1 @We9 IR fagmad favg wifea |
2) f&dt v= v¥er @ drrw =g s

5. fmafafed 4 @ f6=i @ ool & S faem @ fafem - [24]
(1) 319 9REdd & ®RO W JhE Siad |
(2) @ I AR IUHI HEAYUTEN hl GEd ST |
(3) WIS & SMYUR W S I AR hIfST |
(4) 9o fagm & s w1 ufEm s

[5201]-2019 3



Total No. of Questions—5]

[Total No. of Printed Pages—3

[5201]-2020

quTieh : 80

Seat
No.
S.Y. B.A. EXAMINATION, 2017
HINDI (Special II)
(& famre-2)
(Su=T", e qUT WA &St )
(2013 PATTERN)
g : qF He
UATEeS — (i) U W @A gl SeHl — HHCweR |
(i) P wif — fas gHeR
(i) WA & #&@ — duR®d el 5 CER|
e :— (i) |t v erfEd )

(i1)

Tfeft R fa@ siw wwdi & qufes )

1. () fr=fafea vl # 4 f&=l ©: 9996 & SR Ueh 9@d H
fafea

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)

TR frusl @ § fawen § 2

[6]

wHeAEg w1 qar & @i #=& fuewn "=t ?
WA & IER # hE-%hF TEE 9 2

'6{61.%4 c>1">\\I"|{'il g hidl 91 ?

HAR bl ‘oo 1 fewe’ feua wmEr ?

qEE & YHs U9 IEE T ?

®H fegh T@R # WA R d9mfa 9 ?

‘gaws’ Y wed © 7

P.T.O.



(3m) freafafes gwai 8 § fodl uier wei & w@fem sw fafew @ [10]

(D)
[65201]-2020

(1) ‘g i<’ Aew % 9El & AW fareu

(2) @Ra A sqw fagiw fea 2

(3) ®A wE U@ gI ?

(4) WA 399 UER H ARl fGoel & w9 ?
5) fick & s § FRX F Fad § ?

(6) FEE & HA HI fovemad gqu # fafew)

(7) WW Y9 & ¥ & T H FTIH B F Fed & 7
(8) faeri 7 =ifgsmr & ==a @Al w1 v Y T ¥ 2

2. (%) frefafed seawn d 4 fedt e &t wEed saewm sifsw ;o [5]
(1) 9™ sTa WM F U iR W 8 sed Wd | Seed Gehd dl
AN WO WS = AW W feu S
(2 “tm & fau afifeee #1 mEvasar 76 edi| W g H
g, dum § @ faaw ot & et @1 vee §, sdfa
Sy 71"
(3m) frefafed seael § 4 fwdl weh #1 gued =men sifsw ;o [5]
(1) ‘9 @™ | 99 § W ITHN
ST Skl oW, A HEEl bl T
(2) “oed, Fed, O=a, Tasa, o, feeda, «fsaml
W AT H F@ §, T & w9 @
3. frafafed gl 4 @ fo<l @ uv & wfew W fafeg [18]

-0 wfd' Ak & TCE HI FWAHRAT H TR FHISCI
2



(2) WRT ® A H WWERA H IR H W9 7 THA Hl F HAR
& 2

(3) HER & YAfgwEs fo=ari @1 wHsmEUl

(4) TG ® RpEd & F© FS ATH HHE od gL AN F OH
Fed § 2

(5) TWH & IEUR Th WY Ta HD i U ST Told $Hd &l ¢ 2

6) foet 3 wen wafdg &1 wEE Sl famey 9 a1 2 &2

4, fTmAfafed g § @ f6dl ek u9d &1 W fomr @ fafew @ [12]
(1) “'¥9g H @ gel SeHl’ UM o9@d HeMTR H HR-¥R T

g0 URErR & &ew Ml ¥1" — WeRw guEmEl |
(2) ‘" H WA g eHl U= & unl w1 Afe-fesur wifsu

5. Tmfafed gl § @ 6= & 9w & SW fawr 9 fafeq [24]
(1) ‘Fi-gh =i’ des § A wud | ogenr sifagl
(2) ‘FU-gH wifA' AEE & Y@ UE w1 \iE-faEm Sifew)
(8) “wm ifa & 9= wfa § — ufed <Rl & MUR W HHIET |
(4) ‘“Um ok dicd # ool ww H o fagew ¥ - deww ww
IS |

[52011-2020 3



Total No. of Questions—>5] [Total No. of Printed Pages—3

Seat
No. [5201]-2021
S.Y. B.A. EXAMINATION, 2017
PERSIAN
General Paper i
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. .—(1) All questions are compulsory.

P.T.O.

(2) Figures to the right indicate full marks.

Explain the philosophy of life as embodied in the writings of Umar
Khayyam. [15]
Or

Write the salient features of Umar Khayyam’s Rubais.

Reproduce in your own Persian the views of Umar Khayyam (any
three) : [15]

Ol ek (1)
0%3834_ (")
IR 2 ek ()
= M bE (M)

~G2axs (0)



3. Discuss ‘Hafiz’ as an optimistic poet and moralist. [20]
Or

“Hafiz is one of the greatest ghazal writer of Persian.” Comment.

4. Reproduce in your own Persian the views of Hafiz Shirazi (any three) :

[15]

9(357'“’;/?5 Q)

iZE ()

Sy (1)

F (™

=7 (&)
5. Explain in Persian or translate and explain the couplets in English or
Urdu or Marathi (any five) : [15]

&}Z rﬁjfw/?fduizf @)
riw'b@«fﬂi'f
o e s ()
(«W;/}g/’};u:f’uf/;u
ﬁ,m;;fﬁ;)i;/’fzﬁ r)
SN LA s

2 [5201]-2021



rgl)’,«ru’d(jfjﬁjé/:

ﬁd/}u;fa»&tfb
,Cf;:ﬁbfjlub)b,gf'fufju:

S uk = Ui £
UE G s L osf i

{’fub‘f’/. (sﬁu@/:)t.l/
P el i S GL 3T

o s S G

(”)

(o)

QD)

(2)

[5201]-2021



Total No. of Questions—5] [Total No. of Printed Pages—4

o [5201]-2022
S.Y. B.A. EXAMINATION, 2017
SANSKRIT
General Paper II
[Samskrtarnavah (Gadya and Padya)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

1. ‘&' enfor ‘9 fourTiqd Yl qEid WS feRer SUSid WIS R
Translate any two each from ‘A’ and ‘B’ sections, into Marathi or
English :

femr ot [10]
(Section A)

(i) TIEFREIISE HUFd-H AMST: REdR| ? 9 wa ysHar o,
q g Trears sie-faeafory:, ¥ ta T=<emEe =q@:, 9 1@ Hoataed-
Ty, 9 T AUfaeEniiy;, 9 Td gfed-aued-queq;, § g -
P, ¥ Td dR-gR-a%:, ¥ Ud Yeu-Uey-udefd:, ° Ud SH-g:38@-
TE-TE:, 9 Td @YRGU-T:, ¥ g faaem-faaem:, 9 @ Agy
T T[O- TS STE! aeid |

(fi)) T AT T H A=A FRHUT: I O AISSHAA  gRetdaesT |
AU AN SIgREAseIH I Ty <@ e I fwan <m dfaa
AN AY AR T FHHGMARET a1 Fadrdraihed o1 T

P.T.O.



(iii) ¥RIhE: — HITAAYG 7 ¥R Ul f% &g &R wag, g4

(2)

(1)

(ii1)

i WIgUAREsl AR | 99 9edd T | Hd: @oad: | | Rl
SMIEE | B Haid | (ST=F B Sufd) Hi: qEu|
AARA  sqesd  foaensgfasafy |
TSH  ToffHeg: heas: 3aedd |l
(3fa wrFan sged )
faum ‘&
(Section B)
fif a4 vafda a&@ R 98N

[10]

ol SH: TESHAYAd &)

FaT |9 yHafd wf=faeergod

TG QEgFd faqa /&

RGOS 9 9 W 9FsadE §ad  Hiisc |
YUY SR :, shaRHel  TReHeRHTe I
Sfess <Eifa foargesn

@M W AR faar |

I WA T ate

st mogd wEita =

‘@ afr ‘T faurTigE YS! Ued THed wEtERm @ e

Explain with reference to the context any one from each section,
Sections ‘A’ and ‘B’ :

(@)
(it)

[6201]-2022

fawmr et

(Section A) [5]
Y YReed 4fc Sfafd geafd |
Jeue faue=se war  UgRartcd: |




ﬁqm iai [5]
(Section B)
() = ufeen wgsisfaveen, wd deee S e |

(ii) wdfafeafides: &9 o1 ceEHEA: |

3. HIUAR Tahl Yo Ifaw® IW [15]
Write an essay type answer to any one :
(1) TASTATER  JUfame TRt &
Explain @9 and &9 according to ddsteil.
(2) =M A Soen SueY TR H

Explain an advice of a teacher to his students.

4., DIUAR TRl Y9I Ifoar S T . [15]
Write an essay type answer to any one :
(1) ‘HAfeorgEfEHReay’ der IR H.
Appreciate the lesson HfEIGHEHHR.
(2) 9Jeli= Safgwas sufor wdufgsgs faem w= #.
Explain views of ‘Hﬁ%ﬁ on fate and action (39 and &H)

5. (A foo=® uf=k fag (Fo@d g=) [10]
Write critical notes on (any fwo) :
(1) wmr=T safaien
Character sketch of 4
(2) " AquREdd
Changed views of =&l

(3) Al

[5201]-2022 3 P.T.O.



(B)

[6201]-2022

T@ard W faer (@ =) [10]
Write answers in ¥%hd (any five) :

(i) 9EE [HAEUEIRG Teh 6 ?

(i) ‘Sfcsed fcassd gwide' TH: UG: FEAW wEA W@igd: 7
({ii) ‘THFlensE:’ HiE Y dFdd ? @ T Hhdl & ?
(Gv) WETYE HAH: h: ?

(v) ‘Tougufd:’ wfod T gfasr 2

(vi) TER: & TEYE: ?

(vii) AT HIT A TR sTegmH foed |




Total No. of Questions—5]

[Total No. of Printed Pages—3

Seat
No.

[5201]-2023

Time

1.

S.Y. B.A. EXAMINATION, 2017
SANSKRIT
Special Paper 1

' ' o -
[Kavyasastravimarsa, Vrttavicara and Kautiliya Arthasastra

(adhikarna Ist and 6th )]
(2013 PATTERN)

: Three Hours Maximum Marks : 80

Grelicdeh! el agid TEed  Tee &y

Give reference to the context of any two of the following :[10]

(2)
(i1)
(iii)
(@)

®)

FIAA AT 3T TGN |

1A Tleh a1 — fqurekfererd |

I TR T HITEGASHN: |

FIARE Tehl HAARNE AL RO T H

Define any one 37@&R along with examples : [5]
(@) FATFa:|

(i) TH<E:|

HICAR Tl Jard ALY HGEWO T HU

Define any one 91 along with examples : [5]
(i) 3uShfd:|

PT.0:



({i) TafHol |

(¢c) Tawmm ST W (HIUEE )

Fill in the blanks (any five) [10]
(i) SRR TR :

(EE) Haa-q‘ﬁ- Wﬁ ........................... T aaﬂ-‘ql

T — < TRz |

(IU) ........................... 11—&.1?' Eﬂﬁ[ W =T

() TERERER el EEE |

(Vi) HEABRURITHAGEI oo |

(vii) T TIVSHT THTGHG T[p oo |

3. Tadsl HIER gEiel fod=s URwes famr

Write critical notes on any fwo of the following : [10]
(i) el e
The universe of Fdl.
(i) & M0 GASHeC! &I
Rﬁc_lhf and Prayojanavati TI&M.
(iii) TAfaeToeeL.
Three fold suggestion.

4., (a) UouiHe WGV N (FIOE )
Write reference to context (any fwo) : [10]

() oT¥F: HAYH{on YWeCreifaehl  Hal |

[5201]-2023 2



(i) TARRfYa deh: gdefd 9 defdl
(i) TerERred TSl faRyRiSdfsEn: |
(b) Sred dEl (HIUERN Ui)

Match the following (any five) : [10]
@) qUUM - o1l |
(i) sfsEsmE: - AFHATM: |
(§71)  peTHAALOT — Feariefe: |
(iv) forSTh: — NECIRIEERE
(v) foRTER: — 3foer: |
(vi) TEgETvIfe: — STTATH |
(vii) AFTEHA: - NEIEERE]
5. dfow® IW SO (FIUAEN Teh)
Write a long answer (any one) : [20]

(G) ‘vHeEtHey W i TSR .
Explain in detail IHem@IHEHH.
(i) oWCEAd: oo W Yiemie e fey o
Write an essay on 3@ and examination about their purities

and impurities.

[5201]-2023 3



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
o, [5201]-2024
S.Y. B.A. EXAMINATION, 2017
SANSKRIT
(Special Paper II)
(Vedasaurabha)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
1. WOoUhl HIUARN SEid Y Woal & [10]

Translate any two of the following with notes :
G) T T YR T wE ad e
T A Seifdsem: § A w Afs v A=
(i) | WEEA: T SAmenfaieEEaie |
T el H&@FRUIJ U W oEl wifa: gfeet sReE
Gii) o0 @ T TS W adafsfs we faRn ufRewe @ fa WS
N
THEl waE |l

ol ~ =l w;
oAl siAleRll E"‘l"&l‘iﬂ@l

2. WOOUH! DR Tehra HfowR IR fasr . [20]

Write a long answer to any one of the following :

(i) foaffa-TcEacgE™ (% 3.33) TR H.
Appreciate a dialogue hymn of fa=aifid and & (Rv. 3.33).

P.T.O.



(i) AYSTIgEE (9. 1.1) IR .
Appreciate the HHSFAYH (Av 1.1).

3. HUE @Y TEeH WU wU [10]
Write reference to context to any fwo of the following :
(i) Heca@l o Ju:|
(i) T I HE: FH: Wih: UhEHIIvAd: |

(i) aFgaE Gai: |

4.,  YrEEREUifoe TR & [10]
Explain Yraar&uifaes.
Or
‘TaHEfafa:’ w99 WU
Appreciate a story named <aHMEfYUfq:.

5. H&qued W fagr (wivdd @) [20]

Write answers in the ¥%hd Language (any ten) :

(i) ROCHE YHRESEAl Y|

(ji) dfcwrvema wfd @O ?2 9 & ?

(iii) ‘GeAIHHON' T wdl h: ?

(v) Agdde HiqUad &S ?

(v) &P TONE hH ded AW ?

[5201]-2024 2



(vi) HUSAREFRS Sadl & ?

(vii) FOPATACH ARIIEIE THIE fEH 2
(viii) TM: STOHUNSH TS0 &: Ffod: ?

(ix) ‘dWyEEvi’ TAY: US: HIEH IR add 2
(x) IUfahd HaR: weEmqutmie foged 2
(xi) HIUMEE HT oo TE TGl ?

(xii) TEITARAA FSHES Fd HEAN J&R JAWHO Hafda ?

[52011-2024 3



Total No. of Questions—4+4] [Total No. of Printed Pages—4

Seat
Yo, [52011-2026
S.Y. B.A. EXAMINATION, 2017
PALI
General Paper II : Pali Kusumanjali
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
Note :— (a) Attempt All questions.
(b) Answers of long questions should be given in 400 to 500
words each.
(c) Answers of short questions should be given in 200 to 250
words each.
(d) Answers of short notes should be given in 100 to 150 words
each.
PART-A
Prose Section - ¥ AT
Q.1 Translate into English or Marathi. (Any Two) (14)
il T Al SISIeR . (FIUIAET §F)

a) @Y €Y, Q! AkY A I, WYEEl, W@ AT A URdd fatedrH
FARATERTR STGHRISTUEEHIREE! SRFTa FREry R “Refe @t i, Wi 39
W, W, Adqd AHGM [Aid==d FHfk e sgaek il S aear fHawst
GG 9aH I ITEEeSt e | oF @ Al Wed, ST SR ST qieadrH
Rt SARAGETTH]  JSHRISTUEEAHEl SIerTdl FRgfaery /a1 arg ang,
TFEE! A U al, 1], e anfiesaa|

b) o W G THAA ST RGN WWEal gy il gifdl| 37 @ AEEdl TRy
T fofos] TR Fcy TR S STgHed JUuf WiEfed, 95 Hedl IragHiahal
O A FART FIE Fard STERHT QUUIH HwiiiTgae |he GRS S0d M

P.T.O.



T SIS HUTGeRTa T | 219 @ 3T ToFR GUId [FeRal 39 9aky 394 IS
QeRITH | TgYss T TATAL 3 Tafed dgaa |

c) Y Tl AEG HIUE TGS A S 3T @, HRES], GHON SiaH Sl
RIS Tediotall HeeTehe [HRXicl ST AAHIRET SIRRET™T il dIX ewaas| d @
T R e W Fedon R R el | W ond e
ERTTROTEI Tl @i, Agell JREGHTER Hedl 3Trgear g8 ¥Ry |
AT, W RGNS, I THON T AT e, STl e Tl e
g%wmlw:hmuﬁiﬁatﬁamﬁwﬁr,amﬁaﬁwm"ﬁl

Q. 2 Explain with reference to context (Any Two) (10)

a) 7 T R STl <R A & W A SR S S R s
@R

b) freawit far, g, FaR 2 el o, 01 TTiaw aqrfiv|

c) & TAIgHl, TRugEIUEERTeE Wald SR Fedid fd ?

Q.3 Give critical note on any one. (06)
FIATE THIaR = S fosat..

a) T SRR JEAA  b) ouil HeATroTgh

Q.4 Answer in detail of the following question (any one) : _ (10)
i it AR ST fom. (@d o) |

a) TIRFIAGETAS TSl GEAI=T TUSETE FE aid ST STE?
b) S NI A FHR F IR HAT T2

[6201]-2026 2



PART - B
Poetry Section — 9 farTmt

Q.1 Translate into English or Marathi. (Any Two) (14)
ot o FOEta WTeial 4. (T qi)
a) UEHEE eAl, R ABM T3l

TRl SR, THOT ST |
TR e ey, 3 HE-a9 RN

IEH d THI%dl, A 9§ Fied sas
Tl A9 g, JAT A & 1|
Y T e, JesR ad d R

b) Gl sEERY &, T =iy gafea)
fereeae e fog, o e Bigd
qR] SIS, Fidllhl AR |
dgl SRS Elicl, Tl AT FATU
I T O, TS STl |
ST SR i, Aot o Erfal

¢) TEH T R, SR R
HAe GfE=El e, FU A At |
G 9 THEA! , A A FHIN
T 91 T e, T FE 61 & Haa
B IHT STl 4, Foqafe drieal|
f&d fat foresrt, SameagueEd i

[5201]-2026 3 P.T.O.



Q. 2 Explain with reference to context. (Any Two) (10)
deiaid T F. (FURE 39)
a) IR STIIGI Flwal STra | gt SATIRTAT &l Tl STTera=T gl
b) AUEREATTRIEH TG = Saal| fowan STaaqere v fad gt
¢) EEY GER Qe AUl AR gAHIGHEdl| d SEREdT 7 SRR, GEdiicads
SRR

Q.3 Give critical note on any:one. (06)

EY 2 I RECAC LA TRl b Ay

a) aq U ugt #  b) T

Q.4 Answer in detail of the following question (any one) (10)
Wl i R S e, (Rt )
a) IEER T G qUTH F.
b) T & ek i G T ForwAL,

[6201]-2026 4



Total No. of Questions—05] [Total No. of Printed Pages—5

No.

S.Y. B.A. EXAMINATION, 2017
ARABIC
General Paper |l
(2013 PATTERN)

Seat [5201]-2027

Time : Three Hours Maximum Marks : 80

1. Translate into English or Urdu or Marathi any two of the following

passages:

4.»/}% o }/{} 28 <. _ s f//{u‘“;/ >
| S L= end -‘17 j.;; e eJladiolss W

A\
G
Lo
N
%,.
G
L

dLAYI LT LR S iis 0¥, W IS o9 5s Ll g 1551

= 2
B, . Bas v o2, 2 . S T S A A e A < 2
(Ga33 5,00 L/j\.a..,ﬂ OS> b ood>s SRt sher Js g L i s

PR

2 CET T e . 27 8 . ;.5" G NI T R .
C,.g,.}\.;.‘,aﬂ cg;) LS'L'GJ‘ 9}.&3¢ LS% Cj..: J.f _LQL,J» cuj..g\._,‘p :U,»A_G

e B oa A T 2 IS RS T .
—Q’:’f‘ J""J JLQ,_J\ c.h.i\.xﬂ le..c djsjj\j codizin
Ao Lo NG LSS S AL S0l T el aLs”

sl Wiy Olhasl T3 Lo ls O Bl maey & 01 (LG AL

I P s . Y 7 7 oate . . 3 87 <
oL.g\ J.:/—L.w uL:—\.z Q u\.h%d\ ;L:— U'i‘ Q"f . 3&;\.& A.H._M»} oj._g\ d‘\_\.ji

-

P.T.O.
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=30

(<)



s 8 > 7

3 5h Laido lus e SIS Da 5,5 Sl i O s

z s B - . cai df S _ @ ~
S paie Slasl A Lo 205 o o p (L8 LSS 1)

- Y P Y <2 £ 07 SO TR
i 018 s e Ol A LT U Lmas JG
- * j _} . - - L_s' o _}

P
PPN

2 P i/:/.j)ﬁ z > T T /iﬂ/@;
4.’..3‘)\‘)\ L_A‘}g O 5 S J—G-"'"""M K‘J._é..\:d J._AL.GL_;_:‘ Ao

‘7’

P N P TP R PP E e we 2o 8 5, A
O}I.».:a 4.9\..»«.5‘ _‘\.C«L—w O)J..CA%) c_gj‘ cj._:.” _g\.__g‘ A= C}._*My‘
2,4 S 2, 2 _ 4 4 3% 3 )/);ﬁ/:/'{.’z 2o, az Z o
(}g ¢ Copen) ¢}£ ¢Arae)) C},,MW (a\.;\ SA50 O saw 4300 L2435

PP EING

> <o 2, . A, ER 4 R PG
b — el 5r e WiV a sy e Ul a5y _ a3y o s e d SN

8, 000w P

“Llu Ll el feid s (Al ATl

2. (A) Explain with reference to the context any four of
verses :

$.1.i.>.d§!3 \;3.;— u_ﬂ.:}j

RS RSN

i

st Tyl 01825

T2 il oUssy

-

i

slead) 135 5l 1255

PSR I ) ooy -

\-3;'“‘ A.S'J.,,‘.;..C« Slo

(@)

the following

[8]

QY

(V)

(")

[5201]-2027



3.

P.T.O.

2\
KR
N
b
P
G
\o

isazs |z
> 87 . . 2, 2 s -

V..@..S lele 6}15\ 4..1..».>=:1
sa)l Amadi0s3 815

TR PENEN u;;jfs

(B) Summarise any two of the following lessons :

-

Nl

e,

e Jlal>,
TR

i A2l

S

Translate and explain any two of the following Surahas :

()

(°)

V)

(V)

[8]
(V)
(V)
)
(%)

[16]
QY
(V)
(")

[5201]-2027



Define and illustrate with examples any two of the following topics :

(A)

(B)

b yheadl ¢ SLE Jaal

A

(OKa 5 0lejy O )

S 5 AN Jaall

L3l JGsY)

[16]

(V)

(M)

(")

(9)

Translate into English any four of the following sentences : [8]

S O AT A L ()
SIS ElsbE LA (Y
LS Ge AU 35 s ()
Coadl SUs 3 3K25 0 (9
LI G a Bl ks (o)
CALSAAN ) R B ALBUL ()
i G LY AL CJE ()
Translate into Arabic any four of the following sentences : [8]

(1)  Open your note-book and write a short essay.

[5201]-2027



(2)
)
(4)
()
(6)
(7)

Sit on your desk and read.
Ayesha sits on that chair.
Do you read and write the Arabic.

Don’t play in the street.

Please put the letter in an envelope.

The teacher has written the lesson.

[5201]-2027



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
o [5201]-2028
S.Y. B.A. EXAMINATION, 2017
ECONOMICS
(G-2 : Modern Banking)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) :[20]

(z) Explain the Evolution of Europe Banking.

(ii) Explain the principles of liquidity and profitability.

(iztz1) Merits and demerits of ATM.

(fv) Explain the concept of Commercial Bill of Exchange.

(v) Concept of Tele Banking.

(vi) Explain the Co-operative Bank structure.

Answer the following questions in 200 words each (any two) :[20]

(2) State the limitations of credit creation of Commercial Bank.

(ii) Explain the methods of Remittance.

(zi1) Explain the types of cheque.

PT.0:



(fv) State the concepts of New Technology in Banking—Debit Card,
.Net Banking.

3. Answer any one the following questions in 400 words : [20]
(1) Explain the Individual and Institutional types of Bank Account
Holders.
(ii) Explain the Instruments of credit control of Reserve Bank of
India.
4. Write short notes on (any four) : [20]

(z)  Evolution of Modern Banking in India
(i) Demand Draft

(iiz) Concept of Endorsement

(fv) Core Banking

(v) Objectives of NABARD

(vi) Functions of State Co-operative Banks.

(W wUi)
d% : W aE THUT 7T : 80
gedT :— (i) ¥Wd WA Wefau oevdd sied.
(i) 3SSEHEld FH g Ol o geifea.
(iii) TSHHEIS! Yoz TUSH WIAUCAHI Teral.

1. eyl Y= Yl 100 Iegd Saik foel (el 9r) [20]

() AU T FSHEEN Schidl TR FH

[5201]-2028 2



((i) TEdl 9 dAY9al dd T HA.
(i) TATA. d PR T &

(jv) SAUR Ferdl Hheddl TR FH

(v) <ot dfRTET HhHoUdl TR H.

(vi) UEHN dehMEl AT T HA

2. WdUs! YT e 200 VKM 3ail fael (FvEl M) [20]
(i) AR dehedl gdaHidrea wAEr 9.
(i) TH uSfovaren Ugudl T

(jii) YARITE YhR TS H

(jv) ¥% FEAFEME SYHRAATA-Sae HE, A WhT HHeIA I

3. TEd Yl 400 YA SaR fa@l (IRl TER) [20]

(i) ha 9Ifade U HXUIHe WieRiE YHhR TR S

(i) fTEd d& 3% sfieas=) udfEsom=l 9 e &9

4, gy feur fag (FEE W®) [20]
(i) YRAnE oMYfie de HEEETEl  Sohidl
(ii) HETON TR
(iii) YSIhATdl Hhodl
(iv) ISR SAThT

(v) FETEE 3gEe

(vi) T HWeHM dHhrEl HHE.

[52011-2028 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

Y. [52011-2029

S.Y. B.A. EXAMINATION, 2017
ECONOMICS
(Special Paper 1)
(Micro Economics)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(ii1) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]
(i) State the limitations of Micro Economics.
(ii) Explain the concept of Demand.
(iit) Discuss the concept of Fixed and Variable Cost.
(iv) State the features of Duopoly.
(v) State the characteristics of Collective Bargaining.

(vi) State the conditions of Welfare of Prof. Pigou.

PT.0:



Answer the following questions in 200 words each (any two) : [20]
(z) Explain the tools of Economic Analysis.
(i) Discuss the types of Elasticity of Supply.

(iit) Explain the features of Monopoly and its short-run equilibrium

of firm.

(iv) Explain the Lonable Fund Theory of Interest.

Answer any one of the following questions in 400 words : [20]
(z)  Discuss the Law of Variable Proportion.

(i) Explain the characteristics of Monopolistic Competition.

Write short notes on (any four) : [20]
(i) Micro Economics

(i) Cross Elasticity of Demand

(iii) Opportunity Cost

(fv) Selling Cost

(v)  Supply Curve of Labour

(vi) Motive of Keynesian Liquidity Preference Theory of

Interest.

[5201]-2029 2



(WS wUTa)
q@ : d\ q™ THUT TOT : 80
el :— (i) ¥d Yv GiEefau ofevad SR
(i) SVEhErd 3 YU O gRifer.

({ii) oE¥a® dF Ak AFAT Hlal.

(iv) TEUEES Hoz TUSH UYAUCIRT TRrEl.

1. @ YRl 9% 100 IS S fosl (FIvder 9w) [20]
(i) g RIS WA 9L

(ii) YT Gheddl T H.

(Gii) TR 9 veaar @< d&cuddl ==l &
(Gv) TATUHR aSRUSHT Afgrsey  9om.
(v) UEH AREERE el gL

(vi) 9. T I=n weAwT=T S G

2. Wed YyEEt SW Ydde] 200 V= fawl (Fve 9F) [20]
(i) onfde favawom=t greM fave &a.

(i) UESUTAl ddfghd=Al YR T H
({ii) WHRERI ASRUSHr YTl WA SN SeURei  gHde TS

<h .

(Gv) =ETET &A% A faga T w.

[52011-2029 3 P.T.O.



3. WiicUs! SR WeRl T SW 400 vea@ fo@r . [20]

(i) dedd gHmTE EHEr ==l &

(i) WHGER I SSRYSHl AT T &

4, deREE foo fowr (FUERE = W) [20]
() g AL
(i) AT Bk S okl
(iii) |t @
Gv) famt @+
(v) SHEN &S Th
(vi) &9 IrAl ARTAT YEd gEdt fagae 724

[5201]-2029 4



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

Y. [5201]-2030

S.Y. B.A. EXAMINATION, 2017
ECONOMICS

Special Paper II

(Macro-economics)

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 100 words each (any four) : [20]
(i) Explain the limitations of Macro-economics.
(ii) Explain the concept of Gross Domestic Product (GDP).
(iii) Explain the concept of marginal propensity to consume.
(fv) Explain the concept of Demand Pull Inflation.
(v) Explain the phases of Trade Cycle.

(vi) Discuss the Quantitative Instruments of Monetary Policy.

PT.0:



2. Answer the following questions in 200 words each (any two) : [20]
(z7) Explain the importance of Macro-economics.
(ii) Explain the circular flow of income between Household and
Firm.
(izi) Discuss the Fisher’'s Quantity Theory of Money.

(iv) Describe the Instruments of Fiscal Policy.

3. Answer any one of the following questions in 400 words : [20]
(i) Explain in detail Say’s law of market.

(i1) Define the inflation. Explain its causes and effects.

4. Write short notes on (any four) : [20]
(i) Investment multiplier
(ii) Value of money
(iii) Prosperity
(fv) Macro-economic policy
(v) Average propensity to save

(vi) Gross National Product (GNP).

[5201]-2030 2



(FE wier)
d% : W aE THUT TOT : 80
ol :— (i) 9d Tv GiEfau ofevead SR
(ii) SSEkSld FHh G QO O geifadr.

(iii) 3TMe¥I® dd goah EHAl hlal

(iv) FeWEEdl Hes SUSH YAUSIRT Uerell

1. Trefila Yl Yl 100 vsgid SW foel (Hivdet 9w) [20]

(i) TgA FAMETA HAR] TR H

(ii) TA Q@A IcaRAEl Ghead fave &

(i) Tomid SUMFT Yaai= Hheddl TR H.

(Gv) T\ Iaaerl 9hedd fave &
(v) HAUREHEAT AT TR &H.

(vi) TAATTIEH HUROMTET TEAHE TEAET 9= H.

2. @il YEAEl Goashl 200 IeSid SR TRl (el @) [20]

(i) ¥ AU Al foRig .

(i) s AU AU GEA A SHAAE FhlhR Y@ T H.
(iii) Tre=n =9oq deamE fagast == &3
(jv) TSRS RO TE T 6.

[5201]-2030 3 P.T.O.



3.  WoiiclUeh! MR WeRl Y™ 400 I S foel [20]

@) ‘"' = deRfaugs aw gfowr fOve &L

(ii) TodEET e . JoHderdl Ul o9 giony Tee .

4. dgreEd fon faw (FoeEE = w) [20]
(@)  TAEE O
(i) Y= e
(iii) il
(iv) HHUel efds &R
() GUEd S=d ggul

(vi) TJA TEHE IR,

[5201]-2030 4



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

Y. [5201]-2031

S.Y. B.AA. EXAMINATION, 2017
POLITICAL SCIENCE
General Paper II
(Government and Politics of UK, USA)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1) Party System in England.
(2) Origin and the development of the Constitution of America.
(3) Philadelphia Conference of 1787.
(4) Local Government Structure in England.
(5)  District Court in America.

(6) Women’s Movement in England.

2. Attempt any two questions (in 200 words each) : [20]
(1) Discuss the power and functions of the President of America.
(2) Explain the power and position of the British King.
(3) Explain the Women’s Movement of America.

(4) Discuss the role of Pressure Groups in England.

P.T.O.



3. Attempt any one question (in 400 words) : [20]
(1) Explain the salient features of the Constitution of England.
(2) Explain the salient features of the Constitution of America.

4.  Write short notes on (any four) : [20]
(1) Party System in America.
(2) Function of Interest Groups in England.
(3) Ethnic Movement in America.
(4) Explain the functions of the British Cabinet.
(5) Human Rights Movement in England.
(6) Explain the structure of the House of Lord’s in England.

(E wUi)
9% : A9 9™ THUT T : 80
el :— (i) wd WA drefau seras eiwd.
(i) SSEhele e qul YU gFifad.
(iii) TS B TUSH WRAUCIHRI TErE.

1. WORusl HUae IR 999 Gear (YIs 100 IsIid)  : [20]
(1) SroicHHd 98 T,
(2) ufepd Usg"e=r 39g ofur faswm.
(3) 1787 frarefewar afivg.
(4) TaeHHd e wEEET =L

(5) oMfhda fefgw =R

N
L
>
n
L

(6) e HHid il Hodw.
[56201]-2031 2



20

WSGUH! HIOE S G Tl (IR 200 ISEid)
(1) oaftden TgAwa GfuerR 9 w6 W &
(2) fodor R Afyer 9 wE fomn

(3) ARG SidRl Tode T L.

(4) ToieHdid qEE el fger TR w6

TOOIH! HIUAE Ter 99 Gredl (400 IE(d)
(1) Tos=a TogEeTdl 3oosh  digees o
(2) oWfReG=n Tguedr 3@ dfyrsed fomn

dJresma W fomr (FUEl =w)

(1) omfehdia gerds.

(2) sioendia feqgddl e @
(3) cWEReda AE wedss.

(4) foeTmdie wfdHes @E.

(5) ToienHid WMEl TFh dosde.
(6) SHUE HHUFEET AL

520112031 3

[20]

[20]

[20]
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[6201]-2031

(Political Theory and Concepts)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1) Explain the characteristics of political theory.
(2) Explain the concept of affirmative action.
(3) What is liberal democracy ?
(4) State the importance of Rights.
(5) State the characteristics of sovereignty.

(6) What is Globalization ?

2. Attempt any fwo questions (in 200 words each) : [20]
(1) Explain Marxist concept of state.
(2) State difference between liberal and conservative view of political
theory.
(3) Explain the concept of hegemony.
(4) Explain the types of justice.

3. Attempt any one question (in 400 words) : [20]
(1) Explain the concept of democracy and state its merits and
demerits.
(2) Explain the concept of state. Explain the elements of state.
[5201]-2031 4



4., Write short notes on (any four) : [20]
(1) Concept of equality
(2) Demerits of globalization
(3) Foucault’s concept of power
(4) Nature of authority
(56) Concept of Justice
(6) Concept of Political Freedom.

(WIS wUTaR)
9% : i A THUT TOT : 80
AT :— (i) € WA defau eRdE S
(i) ISl oFh Yo IO SFifeard.
({ii) TEHESt Hb TUST GEUAehT grEl.

1. WooUsl Hivdel A Y99 d@eal (Y 100 =€) [20]
(1) UsE THgiae St T 3.
(2) TPRIH® FHdl Hheddl T H
(3) SERHMAEI TIHIE WIS w7
(4) TR He fogl
(5) wEYmErE aferel o
(6)  SIFIfAehIhTT RO & ?

2. WOlGUHR! HIUGE A YA Hedl (YS! 200 V=) [20]

(1) TSIl HeddEl Hohegdr  foral.

[52011-2031 5 PT.O:



(4) =AM YHR THE &

3. TRl HIUMARE Th Y Gredl (400 @) [20]
(1) TIhIME HheUdl TR FEA ClBIMEr=AT TU-Sr= == H.

(2) T WIS &E ? TIE fafay s T &

4. gred@ du few (FvEmE 9r) [20]

(1) 9HAT Hheudl

(2)  SIATAehIehTom= S

(3) Thichlcedl T Hehoddl
(4) fggad @WEY

(5) E Hheydl

(6) USHhA Wa" Hheddl.

[65201]-2031 6



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-2032

S.Y. B.A. EXAMINATION, 2017
POLITICAL SCIENCE
(Special Paper 1)
(Western Political Thought)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(1) Plato’s concept of Philospher king.
(2) Aristotle’s cycle of Political change.
(3) Machiavelli’s views on Human nature.
(4) Explain Hobbe’s idea about sovereignty.
(5) J.S. Mill’'s views on liberty.
(6) Marx’s class struggle.

2. Attempt any two questions (in 200 words each) : [20]
(1) Explain Plato’s views on communism.
(2) Explain Hobbe’s theory of social contract.
(3) Explain Rousseau’s concept of General Will.

(4) Explain J.S. Mill's views of Representative Government.

P.T.O.



3. Attempt any one question (in 400 words) : [20]
(1) Critically examine Plato’s Ideal state.

(2) Explain Marxian views on Revolution.

4.  Write short notes on (any four) : [20]
(1) J.S. Mill’s utilitarianism
(2) Aristotle’s views on Slavery
(3) Marxian theory of Historical materialism
(4) Rousseau’s views on Government
(5) Plato’s theory of Justice

(6) Machiavelli’s views on religion.

(W& wUI)
9% : i A TRUT TOT : 80
ol :— (i) ¥d WA Hiefau siEvas SR
(ii) ISEHele ok Yo IO Sy,
({ii) TeUEEd TB IUST WU UETEl.

1. WOAIHRl HIUCE AR Y9 Ged (YAST 100 I=E[) [20]

La}

(1) ==t dog JermEr eyl

(2) Ifft=led ufod TS ufiadd =
(3) Hferusele #AMEl WYEfagsags faar
(4) Tlss=l HEYHEET Hoddl W 6

(5) S.UH. Wow WaAGTdIs faur

(6) HEEET .

2. WodUs! HUGE S 9¥d digar (Yt 200 ITEE) [20]
(1) wieEn graet fagd &% .
(2) wlesrar g R fagid T &

[5201]-2032 2



(3) wUE wHfed W GheU N TR FH
(4) S.Ug. Hod gifafFeie snaAfasgs faer T &3,

3. WOAIHl HIUEE Tkl Y W fow (400 IT=E) [20]
(1) =R ey e fews afitgo &
(2) WEREDE widifauaes faeuR W .

4. geFEE foo fae (PR 9w) [20]
(1) S.uH. Hie= IUYERdaER
(2) Siflee= A fosmes fo=r
(8) HHEr Ufderdie  widiehark

(4) ©OE IMEAfITEs faER

(5) wrRE = fagE

(6) HfhUegel= wHfgwgs fo=R.
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-2033

S.Y. B.A. EXAMINATION, 2017
POLITICAL SCIENCE
Special Paper II
Political Sociology
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four questions (in 100 words each) : [20]
(i) What is Political Sociology ?
(1) What is Political Socialization ?
(izi) State the nature of Political Recruitment.
(ilv) What is Political Culture ?
(v) What is Political Change ?
(vi) State the nature of Legitimacy.

2. Attempt any two questions (in 200 words each) : [20]
(z) State the contribution of Max Weber in Political Sociology.
(i) State the elements of Political Culture.
(iiz) Explain the theory of Historical Materialism.

(fv) State the agencies of Political Socialization.

PT.0:



3. Attempt any one question (in 400 words) : [20]
(i) Explain types of Political Culture.

(zi) Explain nature and types of Influence.

4. Write short notes on (any four) : [20]
(i)  Behaviourism
(ii) Political Participation
(izz) Political Influence
(iv) Karl Marx
(v)  Political Recruitment

(vi) Political Ideology.

(& i)
9% : W9 9 THUT TOT : 80
oAl :— (i) ¥d Iy Gefau oevad R
(ii) SSEheld ek A O YU geifed.
(iii) A ez YeAUCAS (SUSH) erEl.

1. Wiyl Sivdel =9 999 9edr (Y 100 J<8d) [20]

(i) USHE AR US| 6 ?
(ii)) qSohig GHISTRI U S ?
(iii) TSI Hdd @&9  9AT.

(jv) TSTHhE F&hdl BN S ?
(v) TS&E IREdd BN &wE 2
(vi) sIftmr=ae =&Y 9rm.

[5201]-2033 2



2. WIeliaidehl hivdel &M 939 digal (Y&l 200 IE) [20]

(i) USHE GHSRTEMA o 9od dreHE  9i.

(i) TSHE F&hdd HIHh G
(Gii) Ufaerfges Hifgwart fagd @ %
Gv) ST GHISTHROMET e 9i.

3. el MR Ueh Y99 dedl (400 ) : [20]

(1) TSI G&hdd FER TR R

(ii)) 9YYEE WEY 0 YHR TR &

4. deRE foo o (FveEE e9w) [20]
(i) ddaR
(i) TS GgHM
(iii) TSHEF GHE
(jv) I A
(v) ST Wl
(vi) TSI fa=RgTEd.

[5201]-2033 3



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [5201]'2034

S.Y. B.A. EXAMINATION, 2017
HISTORY
General Paper 11
[Modern India (1857-1950)]
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any

four) [20]
(z) Explain the concept of ‘Modernity’.

(ii) State the principles of ‘Arya Samaj’.

(izi) What is ‘Ilburt Bill’ ?

(fv) State the nature of ‘Dandi Satyagrah’.

(v) State the nature of the Khilafat Movement.

(vi) What is “Provincial Autonomy” ?

PT.0:



2. Answer the following questions in 200 words each (any

two) : [20]
(i) Explain the causes of failure of the rising of 1857.
(i) Discuss the famine policy of the British Government.

(iii) Explain Dr. B. R. Ambedkar’s contribution in Dalit Movement

in India.

(iv) Explain the consequences of partition in 1947.

3. Answer the following questions in 400 words (any one) : [20]

(2) Discuss the causes for the foundation of Indian National

Congress.

(i) Evaluate the role of Sardar Vallabhbhai Patel in the integration

of the princely states with the Indian Union.

4. Write short notes on (any four) : [20]
(i) Dyarchy
(ii) Theosophical Society
(iiz) Wood’s Despatch 1854
(iv) Significance of the Quit India Movement
(v) Two Nation Theory

(vi) India’s Independence Act, 1947.

[5201]-2034 2



(WS T UTR)
q% : dF A THUT TOT : 80
oAl :— (i) 9Wd Uvd GEfau oeavasw o
(ii) 3Sdheld 3 qui U SEifadm.

(iii) GSHIEES Hoo TUS YLAYIhl TerEl.

1. Teid YeaE 3w 100 veg[ fael (Fivhel |mw) e [20]
(i) ‘engfieRdr’ & Uhedd TR HA
(i) ‘eTHEENET q |
(i) ‘FeHR W WS HE 7
(iv) 'TE FAWEE' WEY H

(v) ToaTwd Fwad WEY G

(vi) ‘vifds =@EEw'' w"/US wE ?

2. WS YIAET 200 VM SWfawl (e 9E) e [20]

(i) 39 1857 AT IIEMAl AYINMEl HIU T H

(Gi) Tofew1 Tor=n Tw@auas gRom=r 9= 6.

(iii) Yadial <fad dIodsidiad ©f. 1. 3R, eehdd ANEH Wee

.

(Gv) 39 1947 <A WI@UTE YU TR H.

[5201]-2034 3 P.T.O.



3. @i YeArE 400 vead SwRfotel (FIUAED Ueh) [20]
(7)) HRAE TS 99T WOl hROmE 9= .

(ii) YRAE FEsad SEIE fafe et uaEEl TER - aGeaYEE U
M fSeledn AR JedHdd .

4. gfgw fewr fo@ (Fv@EE 9w®) [20]

() fsga UToIUSd]

(i) Tasrafrea SeEd

(iii) 39 1854 <M ged1 wWicrdl
(v) 'S YA’ AREE "

) fgrear fagm

(vi) YRAE WA HESH, 1947.

[5201]-2034 4



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat

Y. [5201]-2035

S.Y. B.A. EXAMINATION, 2017
HISTORY
(Special Paper 1)
[Ancient India (3000 B.C. to 1206 A.D.)]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1) Explain the importance of Numismatics for study of Ancient
Indian History.

(2) Explain the concept of ‘Varnashram’.

(3) Discuss the ‘Jain Philosophy’ in short.

(4) Review the trade during the Satvahanas.

(5)  Discuss the development of Science during the times of Imperial
Guptas.

(6) Review the Art and Architecutre of the Chalukyas.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Discuss the Buddhist Philosophy.
(2) Review the cultural contribution of the Satvahanas.
(3) Review the development of trade and commerce during the
Imperial Guptas.

(4) Evaluate the achievements of Harshavardhan.

P.T.O.



3. Answer the following questions in 400 words each (any one) : [20]

(1)  Discuss the socio-economic and religious life during the Harappan
Civilization.
(2) Review the administration of the Mauryas.
4.  Write short notes on (any four) : [20]
(1) Stupa at Sanchi
(2) Lokayat
(3) Mahamatta
(4) Position of women during the Imperial Guptas
(5) Pulkeshi II
(6) Art and Architecture of the Rashtrakutas.
(WS ®UITER)
9% : i A THUT TUT : 80

el :— (i) ¥Wd WA defau sevae R
(ii) 3SVEHSie 3® YU U Ieifodr.

1. T9ed
(1D
(2)
(3)
(4)
(5)
(6)

geAEl W TEw 100 Ve[ fewr (g |mw) [20]
g YR Sfderr=a S (ARl @ Hed TR .
‘quigm’ & GEhod W H

SH YT doErEl gresdd 99l .

qradTeshIeia AR URE .

Teiehtedldiel  fosiArean W=t == .

AR kel S0 TAIAT STl 4.

2.  YeId
(1)
(2)
(3)
(4)

[5201]-2035

geAEl W Tdhl 200 v=d fown (FivE €) [20]
g qETHERT == H

qIqaedr=al WiEhfde  ARQHEMET el =

TAdleldidl MR A0 aiforsy Ardtel girdren  STerar =4
goaLAre wMAE HoIHad .

2



3. TUdA UIAEl SW TIHR! 400 v<id faw (SR Uw) [20]
(1) fay uepfaen amifSe-onfds sufor enfies Stemri == &
(2) WA= YREAT SAeE AL

4, dgewE foor fa@r (o =9w) [20]
(1) == JofiE o
(2) <emEd
(3) He™=
(4) Ty o feord
(5) GEU qeAhl

(6) USZHI ol IO T,

[52011]-2035 3 P.T.O.



Time

N.B.

[56201]-2035

[Diplomatic History of Maratha (1707-1818)]

: Three Hours Maximum Marks : 80

:— (1) All questions are compulsory.

(it) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]
(1) Explain the concept of ‘Maratha Confederacy’.

(2) Explain the concept of ‘Pargana’.

(3) Explain the concept of ‘Aluta’.

(4) Examine the causes of Battle of Panipat.

(5) Explain the achievements of the Barbhai Council.

(6) Review provincial administration of the Marathas.

Answer the following questions in 200 words each (any fwo) : [20]

(1) Evaluate internal relations between Nagpurkar Bhosale and the
Peshwas.

(2) Examine the achievements of the Barbhai Council.

(3) Evaluate the achievements of Mahadji Shinde.

(4) Discuss the role of Peshwa Bajirao II in the diplomatic history
of the Marathas.

Answer the following questions in 400 words each (any one) : [20]
(1) Examine the conflict between Chhatrapati Shahu and Maharani
Tarabai.

(2) Discuss in detail the Maratha-British wars.

[5201]-2035 4



4.  Write short notes on (any four) : [20]

(1) Travellers Accounts
(2)  Gotsabha
(3) Consequences of the Battle of Panipat
(4) Achievements of Peshwa Madhavrao I
(5) Nana Fadanvis
(6) Judicial Administration of the Maratha period.
(TE TUIR)
9% : i A THUT TOT : 80

ol :—(j) Wd YA Grefau smavas sied.
(i) 3ERSIS 3k qui O SIiferrd.

1. 93
(1)
(2)
(3)
(4)
(5)
(6)

2. T
(1)
(2)
3)
4)

[52011]-2035

geEl I 100 Vi@ fowr (FivEr |mw) e [20]
‘TE-Hge’ ¥ Heheudl e

‘qumon’ @ Hheqdl TR H.

‘e’ @ HhedT TR HA
UHYd TeEel SRUE R0 &
IRAE HEar=Al HEANA 9uiF .
TSIT= Widish WAl 3Terdn =41

Yl I 200 veEid forel (hivdd @) [20]
TYLRT WA S0 U9 A SqTd HeHTd  HodHOd .
IRYE T wMEAE IR& .

Teest fRicen wMARE gm0

TSIl Toias  Siaedia gu-a1 asiiE Teersa yfasht ==
k.

5 P.T.O.



3. TUdd YAl SW 400 V[ fawr (FvEEl uew) [20]
(1) 99l Mg 3for Aot qrers AieATdiel geeie qdenr .
(2) TIE-3US ggreit Ao ==

4, dgieqa four fagr (Fo@E =ww) e [20]
(1) U Yo 9o
(2)  TagH
(3) unfiud wleEw uRom
(4) 9 HHEUd URE Al RN
(5) A wEfUrEy

(6) FUSHEE AT YIMEA.
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Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

- [5201]-2036

S.Y. B.A. EXAMINATION, 2017
HISTORY
Special Paper II
History of Modern Maharashtra (1818 to 1960)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(z) Explain the concept of ‘Industrialization’.
(i) What do you mean by the term ‘Utilitarianism’ ?

(iit) Explain the meaning of “Shika, Sanghatit va, Aani Sangharsh
Kara”.

(fv) Discuss the ‘Uprising of Bhills’.
(v) Explain the objectives of the ‘Peasants Woorkers Party’.

(vi) Assess the role of ‘Hyderabad State Congress’ in the Marathwada

Muktisangram.

PT.0:



2. Answer the following questions in 200 words each (any tfwo) : [20]

(z)  Discuss the contribution of Jagannath Shankar Seth to the
socio-religious reform movements.
(i1) Discuss the contribution of Dr. Baba Saheb Ambedkar to the
development of Modern Maharashtra.
(iii) Examine the development of Civil Disobedience Movement in
Maharashtra.
(fv) Explain the role of Non-Brahmin Movement in Maharashtra.
3. Answer any one the following questions 400 words : [20]
(1)  Discuss socio-political, economic and cultural impact of the British
Administration on Maharashtra.
(ii) Review the contribution of Rajarshi Shahu Maharaj to the
development of Modern Maharashtra.
4.  Write short notes on (any four) : [20]
(i)  Urbanization
(zi) Revolutionary
(i) Bhau Daji Lad
(iv) Self Help is our Motto
(v) Abhinav Bharat
(vi) Mulshi Satyagraha.
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9% : W g THUT TOT : 80

[5201]-2036

1. @cia e SW o yds 100 v=[ fas (FoeE 9n) [20]
(i) ‘STENfTER’ € Heheuwd l W
(i) SUGHAER IS wE ?
(iii) ‘o gudid @@ efor ged ww’ w1 HY |
(jv) Tucaren Ie@EEt w= &
(v) VARY FHR Yeret Ifese TR FA.
(vi) TEATEl TH1 TAMMA BFEE W2 HaT=a qfas= Joaarmd
<.
2. @i YEAel IW YRl 200 VR @ (FOME qE) [20]
(7)) ST YRS AT WiHISh- G GURUN Fesdcdidial ARG ==
<.
(i) Sf. SEERd SAeeHt A= Y Hermer=Al fasmMdie AneHrEl
== .
(iii) WVERTHd dAfadd $HECWTT dodei=al dedled gRefu &
(ijv) TENISMIG SEIRR Foderdl YfHhT T .

3 P.T.O.



3. TEld SR Uk YT IW TSl 400 ¥ fosl . [20]
() TeERSME ok wenEAren e, s onfede onfor diepfas

JuE=t ==l .

(i) ey Herrsr= Tl TSI Se. WS Al A= SerE
=1

4. JieHM few fag (Rl 9R) [20]
(i) AR
(ii) ShIdIAR
(iii) 93 TN e
(Gv) @Edsl o 8= s fog
(v) HAMYTE 9Rd

(vi) W TAE

[5201]-2036 4



Time

N.B.

[5201]-2036

[56201]-2036

Medieval India (1206 to 1707)

: Three Hours Maximum Marks : 80

:— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(2)

(i1)
(iii)

(Iv)
(v)
(vi)

Explain the importance of literary sources for the study of

Medieval Indian History.
Write the teachings of Sufism.

Review for development of trade during the Delhi

Sultanate.
Explain the importance of the battle of Khanua.
Discuss the social structure of the Mughal period.

Assess the relations between the Mughals and the Sikhs.

Answer the following questions in 200 words each (any two) : [20]

(2)

(ii)
(iii)
(iv)

Examine the impact of Bhakti Movement on the Medieval

society.
Review socio-economic life during the Yadavas.
Discuss the land revenue system of the Mughals.

Examine the Mughal-Maratha relations.

5 P.T.O.



3. Answer any one of the following questions in 400 words : [20]

(i) Review socio-economic life during the Delhi Sultanate.
(ii) Evaluate the Mansabdari system.
4.  Write short notes on (any four) : [20]
(i)  Jizyah
(i) Din-i-ilahi
(iit) Administration during the Vijayanagar
(fv) Trade during the Mughals
(v) Taj Mahal
(vi) Painting during the Mughals.
(WS ®Uiar)
9% : o A TRUT TOT : 80
o :— () 9d Uy Grefan oJevas &R
(i) SodReld 3% TEAE qU U SRifaa.
((ii) TEWEES oo SUST YYAUTAHT Terat
1. @rfd el W Ydsl 100 V| fagr (Foedl =9n) [20]
(i) HEFE ORAred Sfqedred STYIMEE] digFE Hed W .
(ii) gwlaerEr frenae foar
(iii) Tooolt Yadmehrel™ ARG Ydren 3@ =4
(jv) WHA deRd Hed W H.
(v) HIAHEE WHESEH e =99 B

(vi) T sufn e da9ue gormd &

[5201]-2036



2. Wreld YeE SW Yl 200 V=i @ (SRE dF) [20]
(i) Yol FSBdedl HEYNH HHSEdd YuErd  giRev &

(ii) ICdHIc G- fSeqmr  sfemar =i

(iii) HEGTSA SHHA-HEYA dgdrdl == .

(fv) HIA-FUS FaY™ TREW HA.

3. @aid HIUAEl Weh YeAr=l SW 400 & fo@r : [20]

[ ) L}

() Toooll goaamei= Amfses-Afdes  fSeqren e =

(i) WIHOERI Ygde HegH .

4., dgeEa feur foer (FoEE 9w) [20]
(i) Tafen
(ii) EH-3-3Rl

(iii) ToSITRERE  99mEA

(iv) YEARGE STIR

(v) dSHEA

(vi) HoAHEA TR

[5201]-2036 7



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-2037

S.Y. B.A. EXAMINATION, 2017
ANTHROPOLOGY
(G-IT : Indian Tribes and Tribal Development)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words each : [20]
(z) What is the concept of Tribal Development ?
(i) Write the cultural classification of Indian Tribes.
(iiz) Explain the tribal movements before Independence.
(v) What are the health problems of Tribes ?
(v) Explain the causes of tribal movements in India.

(vi) What is Report Writing ?

2. Answer any two of the following questions in 200 words each : [20]
(i) Explain the various types of interviews.
(ii) What is the problem of school drop out among Tribals ?
(iiz) What are the various approaches to Tribal Welfare ?
(iv) Write the geographical classification of Indian Tribes.

P.T.O.



Answer any one of the following questions in 400 words : [20]
(z) Explain the structure and functions of Youth Dormitories.

(i) Explain the difference between Caste and Tribe.

4.  Write short notes on any four of the following : [20]
(i) Ethnography
(i1) Fieldwork tradition in Anthropology
(iit) Participation of Tribes in Freedom Movement
(iv) Ghotul
(v) Data Collection
(vi) Racial Classification of Indian Tribes.
(E wUi)
9% : i A THUT TUT : 80

el :— (i) Wd WA Giefan oiewds e

1.

(i) SSEhele e qul YU gFifad.
(iii) TRHUEE TS IUSH WRAUCAR] el

WAGIH! DR TR YIAE W FAST 100 V=@ fewr ;0 [20]
(1) offcardl fowmmEl ddheqd &E e ?

(ji) 9RdE enfeardi™ Wrahfas arfieeo ol

(iii) TEAATERGAA  AMCaH T3 T H.

(jv) oTfcard=l ARFIHE &M@ Rd 7

(v) YRAre eTfgarft Feeddiel HRO TR HA.

(vi) SR W@ WIS HE ?

[6201]-2037 2



2. WOGUH! HIUEE FA YEAE SW GdR! 200 ve@ fow [20]
(i) Yaed fafay ywR ww F
(i) onfeardimdta RNefvre A=l U wE oA ?
(Gii) onfcard fowmm fafaw gfesm fove .
(jv) YRdE enfgardi=s drifae  oFfihior .

3. TOGUHRI ®HIURE THT YT SW 400 v=wdd fewr [20]
(7)) FgaAryErEl Y& S @ fovie &AL

(ii) S IO SHIG A Blh W HA.

4. TOOUHI HUEE AR e[ dar fewr [20]
(i) Rgge foaH
(i) VHRTEAGE &Ed ®E I
(iii) a4 Feeddldial  Sfeard=n Hgwr
(iv) EgA
(v) Hifedl HeheH
(vi) YRAE SAfeard= e aFfiehu.
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

Y. [5201]-2038

S.Y. B.A. EXAMINATION, 2017
GEOGRAPHY
(G-2 : Elements of Climatology and Oceanography)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iit) Draw a neat diagram wherever necessary.

(iv) Use of map stencil is allowed.

1. Answer in 20 words each (any ten) : [20]
(1) Define climate.
(2) Which are the components of the atmosphere ?
(3) What is inversion of temperature ?
(4) Write any two effects of global warming.
(5) Define Isobars.
(6) Write any two causes of pressure belts formation.
(7)  What is local winds ?
(8) Define absolute humidity.
(9) Give any two examples of tropical cyclone.
(10) Define Oceanography.
(11) What is continental shelf ?

P.T.O.



(12)

Write any two factors affecting on density of ocean water.

(13) Give any two names of ocean currents of Pacific Ocean.
(14) Define tides.
(15) State any two resources found in ocean.
2. Answer in 50 words each (any ftwo) : [10]
(1) Relative humidity
(2) Anticyclone
(3) Tsunami
(4) Significance of coastal environment.
3. Answer in 150 words each (any ftwo) : [20]
(1) Explain the structure of the atmosphere.
(2) Heat budget of the earth.
(3) Elaborate the importance of the Oceanography.
(4) Describe relief of the Indian Ocean floor.
4. Answer in 300 words each (any two) : [30]
(1) Explain monsoon winds in detail.
(2) Describe the different types of clouds.
(3) What is salinity of ocean water ? Explain factors affecting
on salinity of ocean water
(4) State types of ocean currents and explain causes of their

[5201]-2038
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9% : i A THUT TOT : 80
el :— (i) ¥|d Yyd diefau seavgsd TR

(i) SoEwele % gy qul U geifadr.

(iii) SAERIH d9 Yok AhAl el

(jv) THET LfEd IR vaE WA 3Te.
(v) WEHHES! Ho SUSH JLAUAHRI TRIEl.

1. WTod Yl S Ydh 20 V=S fagr (Fveer <@ ) o [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)
(14)
(15)

g Are fotel

SAERUE ¥k hIvd oAed 2
aEEET faufaa =S s ?

SAIfaeh A99E A6 Sivdel e ufom fesn
THYR = AR AL

AYUR Ygwien fAffdE w9 wRo o
ek IR WIS wE ?

frue emsa=t =men fomn

iy Ca T 1D M | e e T E B i B e i
AFTETEET SAre foetn

qqsge SHA WU wE 7

ARSI FHdeRdl  IROMH  I0R hivldel @I ¥<sh  foTel.
Yfafthes WEMPRIE HIvE! SN OFRidRET qd .
Wr-siEee =amen  fo.

qrA o1 €9 9us=l A |

2. WA YHEl SN YR 50 V[ foml (FURE @F) [10]

(1)
(2)
(3)
(4)

[5201]-2038

el sl
YT

AT
IR /IR qaieone Hed.

3 P.T.O.



3. WA YTAET IW YIHT 150 =i faw (FoRE E) [20]
(1) drdeRer=E @A W FH.
(2) Y== Aftrw Gger.
(3) UrWME #ge fave .
(4) & "e™rR d@=Ae 9uiHa #

4. @HE TR W TS 300 V= fowr (FUmE g [30]
(1) WHYgHl 9r gk e &
(2) @ fafay g 9uia 4.
(3) WX Sid &Rdl WUS %@ ? MR Sal gRdad aRomy &) =eh
e .
(4) U YaE™ YR OF e MHdEl wRe e &

[5201]-2038 4
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(Gg-210 : Geography of Disaster Management)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(iii) Use of map stencils is allowed.

(fv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]
(1) Which are the types of natural disaster ?
(2) Give the fwo examples of man-made disaster.
(3) What is rehabilitation ?
(4) Give the two causes of cyclone formation.
(5) What is soil conservation ?
(6) Write two remedies of flood.
(7) What is earthquake ?
(8) Write two effects of Tsunami.
(9) Give the definition of forest fire.
(10) Write two causes of soil degradation.
(11) Write two examples of non-exhaustible resources.
(12) What is acid rain ?
(13) What is ozone depletion ?
(14) Write two examples of climatic disaster.

(15) Write two stages of disaster management ?

[5201]-2038 5 P.T.O.



q% :

e T

Answer in about 50 words each (any fwo) : [10]
(1) Post-disaster management

(2) Cyclone in India

(3) Landslide management

(4) Effect of acid rain on plants.

Answer in about 150 words each (any fwo) : [20]
(1) Explain the aims and objectives of disaster management.
(2) Explain the causes of drought.

(3) Write the effects of forest fire in detail.

(4) Explain the causes of global warming.

Answer in about 300 words each (any two) : [30]

(1) State the classification of disaster and explain the relationship
of geographical condition and disaster.

(2) Explain the causes and effects of earthquake.

(3) Explain the soil degradation in detail.

(4) Give an account of Hail-Storm 2014 in Maharashtra.

(A wUTaw)
dw ™ THUT TUT : 80
t— (i) Wd Y¥T IEvIE e
(ii) IoEHele 3w U U SEifdar.
(iii) oTERTh dY gAk Al Hal
(fv) “HRN LfEd IRy Y@ 3.
(v) TIHEES Tz TUSH URAUCART TEwE.

[5201]-2038 6



1. Y&t AR 20 ¥ S foer (Foad @) e [20]
(1) H9fif U= YR DA ?
(2) HrEtHHd oo @M Sered @
(3) YIEEd WS &E ?
(4) ofed fAafdd=i 9= SO =
(5) TR GYURU WUS & ?
6) WA T= 3uE o
(7) Y9 BN HE ?
(8) TgAHE & uRum ol
(9) a4 Snfi= =redn =
(10) Ha1 Sfaadrt g &Ro e
(11) AfoRl WETEIee g1 e ol
(12) 3T USI=1 =S k1T ?
(13) A &9 ®US %F  ?
(14) TamHE faogs U< @9 el foern
(15) U<t HIEUA &4 W ol

2. Y&l 50 = IW fag (HoE dF) [10]

(1) SUHHGE A

(2) YRAMA Thiacs

(3) Yfyurd =HaEATH
(4) 7T IS SFSdiad gfonE.

3. Y& 150 V=@ SW o (Foedt @|) [20]
(1) oY« Haequeret &g oo Sfeses v &,
(2) SAEYUTE HRU TR HA.
(8) == o= ufomy wfesR fomn
(4) SINTdiR d9HM SR HRU T FHA.

[5201]-2038 7 P.T.O.



4. YIS 300 v Sw faw (FowE SF) [30]
(1) STU<i= R0 9. Yiiifeies gffeerd snfor eAu<i=n Tey T .
(2) YHUNET HRU 9 YRUM T H.

(3) W& YU HawX TR HA.
(4) VRN TR dGes 2014 |iOwR o =@
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

Y. [5201]-2039

S.Y. B.A. EXAMINATION, 2017
GEOGRAPHY
[Gg-220 : Economic Geography (S-1)]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(i) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any fen) : [20]
(1) Define Economic Geography.
(2) What is meant by non-metallic minerals ?
(3) What is meant by energy resources ?
(4) Define thermal energy.
(5) What is meant by developing country ?
(6) Define atomic energy.
(7) Write factors affecting on location of cotton textile
industries.
(8) Write the name of cash crops.
(9) What is meant by subsistence agriculture ?
(10) Write two places in India having ship building industries.

(11) Write maize producing region in India.

P.T.O.



(12)

Write name of any two substances which transport through

pipeline.
(13) In India, when did the Green Revolution take place ?
(14) Write types of roads in India.
(15) Write four names of precious metal.
2. Answer in 50 words each (any tfwo) : [10]
(1) Explain Globalisation.
(2) Write a note on ship building industries.
(3) Conventional energy resources.
(4) Explain the term less developed countries.
3. Answer in 150 words each (any two) : [20]
(1) Explain importance of solar energy and write distribution of
solar energy producing area in short.
(2) Write factors influencing on International Trade.
(3) Write petroleum distribution in short.
(4) Write Rice producing region in short.
4. Answer in 300 words each (any two) : [30]
(1) What is meant by natural resources ? Describe classification
of natural resources.
(2) Explain world distribution of Hydroelectricity.
(3) Explain in detail factors influencing agriculture.
(4) Define economic activity and write types of economic activities

[5201]-2039
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(WS ®Uiay)

9% : i dE TeRUT TUT : 80
AT :— (i) WE WA H@EAE AR

(i) SSe®ele @k qul IO SFiferdm.

(i) THRT Laew oA QEETl SR,

(jv) AEFIH dF Fadw AFAT Hlal.

1. 9Yd&t 20 V= S o (Fvder €8 o [20]

(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(1D
(12)
(13)
(14)
(15)

e rler=l  sAredl i
FYg WS WS & ?
ISGA RS HEF ?
fifoorer 3ot =amear fera
fomraTeilad W WIS w2

s = forl.

HIIS  JLUNTAT TR0 IR0 0N 52k ferel
Tl fue @ d T

SRR I WS HE 2

URATIA  STerSienegui  SEr 9ol @ o=t Ta 9em.
HRAGI Hehl 3cdieeh  Yo¥l 9T

qRAId 8Rd hidl Hheel & @el  ?

IRATdfel & R foa.

uR Hiegdad  dgEl A fosn

2. UIH 50 vEid IW fo@ (Fad |@d) [10]

(1)
(2)
(3)
(4)

[5201]-2039

ST Il TI5 .
‘Sterstenyelt sE’ feu fermn
LEEEIETUIEIIRS |

‘Afgerdid ]9’ GA TR H
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4.

TH 150 V=i SW e (FvnE g ) [20]
(1) URSS™ "™ TR Hed ORss sdagad fame diewm fomn
(2) SO ARG qRUM HOM Hewh Tl

(8) @i doma faqor diega fomn

(4) Tiges ScUGSh Tal TS forl.

TSl 300 V=@ S forer (FoE q) [30]
(1) T=fife WeE 9o BUS ®™ ? € 9FE T9iie e "udeE S
e H.

(2) wdfagd e Srfae faawor ws w51
(3) Tl FogEER giRumy HOR e gfawl T .

(4) offder U =R WA STfYe FeEErE YRR HiawR e
.

[5201]-2039 4
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[Gg-220 : Tourism Geography (S-1)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i) Figures to the right indicate full marks.

(ii1) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]
(1) Write the definition of tourism.
(2) State the types of tourism based on travel time.
(3) State the types of tourism based on number of tourist.
(4) Give any two names of national parks in India.
(5) Write the full form of W.T.O.
(6) Give any two names of ideal villages in India.
(7) State the geographical location of Warli tribe in Maharashtra.
(8) What is space tourism ?
(9) What is house boat ?
(10) Explain the meaning of ‘Dharmashala’.
(11) State any two economic factors affecting on tourism.
(12) In which states Konark Sun Temple and Raigadh Fort are
located ?
(13) Write any fwo characteristics of Lonar Lake.
(14) In which state Bharatpur Bird Sanctuary in India ?
(15) Give any fwo characteristics of Marina Beach.

[5201]-2039
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2. Answer in 50 words each (any two) : [10]
(1) Importance of Tourism
(2) Sport tourism
(3) Tourism and employment generation

(4) Water transport and tourism.

3. Answer in 150 words each (any two) : [20]
(1) Explain the types of tourism based on Nationality.
(2) Write with examples on culture and festivals.
(3) Explain the role of tourist guide in development of tourism.

(4) Describe the tourist centre : Mahabaleshwar.

4. Answer in 300 words each (any two) : [30]
(1) Explain the nature and scope of Tourism Geography.
(2) Explain the relief features affecting on tourism development.
(3) Give an account of Government and Religious accommodation
in detail.
(4) Explain the socio-cultural factors for assessing tourism

potentials.

(TS ®UI)
q% : dF A THUT TUT : 80
ol — (i) |d WA giefan semas sied.
(ii) IAwEl® &k YUl U IF(ford.
(iii) STE¥IH A9 b SHAl Hal
(jv) THERT Lfacd IRIE AT 3R
(v) WIS B TS LAULER TEmE.
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2.

[5201]-2039

TIh! 20 VS S fawr (FIoel <@ [20]

(1) it = o

(2) TIE GIUR THA™ YRR ERT.

(3) TIART=A §&AIER W™ YR 9T

(4) HRAMIE 9 TSI =T AW AL

(5) W.T.0= g &9 fermr

(6) WAl g AR TErE A S

(7) ORelt onfeardr SHIAE R  Grifas  fewror |
(8) SEHRME Wed WIS &®F ?

(9) THE aR/REN =S wE 2

(10) ‘wHvm@’ weaTEnl #d W

(11) TdeAER 99e THUR qF e wes T

(12) @M GIEfX 9 [ATe fheen @iven Usa@ oed ?
(13) wUR W=t g yqE aftrey o

(14) YRAE YA 9&ft AWIRTI HIUl Todiq 3R 2
(15) wfe sf==ft = afere @i

o 50 v few fam (FomE @9) [10]
(1) T Hed

(2) fwel WA

(3) e emfor YR fAfHd

(4) SodRgE 9 gH.

TAHET 150 T=id dfawR Sw fae (FORE @) [20]
(1) UEHEHER T JhR T 6.

(2) TEhdl onfor HumEHE Uded SereionEg  feten.

7 P.T.O.



(3)
(4)

Tied fawmE ArlesieET (TMEE) qfFer TR #.

eyl e el ouiq .

4. YIFH 300 V=M HOER IW @l (FURE @F) 130]

(1)
(2)
(3)
(4)

[5201]-2039

e fiiae WEY 9 A TR HA.
g fosmEE afomd UM yEdE ueh e
IERE d "ifHe gded Aol wfaw) gaa fore.

qded Gl HeIHIuAdlel HHIfTs o Gikhfdeh Heh WS &




Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat
- [5201]-2040
S.Y. B.A. EXAMINATION, 2017
MUSIC
g 9= (Si-2)

(2013 PATTERN)
(fafree g :— o1 done T Gila e, 6T, SaR AT dedeht
qe fawar=t IuTdEel Tk Uyufen dreen)
T I T
9% : 1 @w 30 fufe TRUT TOT : 20
g — (i) ufgenm gy Hiefan HAfer e
(i) ARG UTAh! FUCE @ S THU AR YA Hiedn
(iii) W& YAl YAl 5 A YA HHH O AR

1. 30 o= S1ATashyTdiel I Taht T S A (HeIed/gdad)

W@ H.

2. fawm fepar FER AUFT FUE TEr W GfowR wEtg A@ifed foe

3. Uil VAR S dreli=l §qul e wifedt fage dreen 3% Thudld
ferer -
i) =
(i) <=

-

(iii) Tocifed Twdaa.

PT.0:



4. TAATHR!T HIAE Ut e fawr

(z) IR
(zi) &k
(it1) Wl
(iv) Hie

(v) HIER
(vi) HHI

(vii) faaret.

5. feo fam (Foem@ €9)
(1) AHR YER
(ii) TUEHER S WRA™E 32 oer=i A
(iii) Yus, ¥HR TSI
(v) A fagi.

6. TEy foae (FoEE Teh)
(i) G |IEE
(i) REa
(i) T offor engfier A STl
(jv) FMd I9d  ARSH.

[ =] [ ]

7. A U AIEHAMIG IRl TRl difadrd 9 forar.

[5201]-2040 2
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: 1 @\ 30 fafe TeRUT TUT : 20
i— (i) ufgem WA wiefaw sfEd R
(ii) SANG YA HIOCE @ S THU AR YA e
(iii) @ YA TAS! 5 A GHO FHH O 3.

I Tl AR AS DI TehT WA T Td WRfadteg .

A AT SFATHAGIA IOl TehT = T IMS Aifed! forgd WO
fem.

feor famr (SR §9)
(i) wHAEE T

(ii) A YHR

(iii) THEH 9 M ThHR

(jv) TIATAT SHIE ThYe 9 gue for.

A NN ERATA IR Ukl Tiiidare grififds areH fave .

AU HIVAE Tkl fawamer dfowR fomr
(1) YgImEd 9 SARrmEA

(i) W Uhee Hfwa

(iii) <IhE.
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9% : 1 @™ 30 fufe THUT TOT : 20
oAl :— (i) ufgenm wRA Grefam sterd e
(ii) 3ERG YA HIE A S THU AR YA e
(iii) W& YAl YAl 5 A YA HHH O 3R

1. <a fRal Twae A ROCME Ue diaret 9uo s mifedt forgd

dle =l Skl TehUeld o guieid feal.

2. HUAEE TF gHe 9 THh faer  fomn

3. Jdm fem (FiveE €F)
(1)  =sheR
(i) T, =
(iii) YRdE Giaa fafy= @ qecarE  SugEdd
(jv) T, IS

4., YIAUR! wUAE TE fovmer wfowr e e
(2) USH, T TMdIhR
(ii) TIGU d gl deid Udh Uk ot foran

5. HIUAEl Ukl dadaERs™ 9 faml

[5201]-2040 4



Total No. of Questions—7+7+7] [Total No. of Printed Pages—5

Seat
No. [5201]-2041
S.Y. B.A. EXAMINATION, 2017
MUSIC (HTita)
Special Paper 1
(I EiT TEE)

(2013 PATTERN)
fagie gerT :— O Gude W OGIE MEE, q9e, WA ATl qEen
fawaret ®IUHE Teh qYAUBERT |rsdn)
I WG T
q% : 1% @™ THUT TOT : 20
el :— (i) ufeew TvA diefau sifed sw.
(ii) 3G HEUw! FIUE qH I THT AR YA Hiean
(iii) T YEAAI YAH! 5 AGHO HAF IO SR

1. I AITUHRUEIA HIAR TRl Tl faesid eae (J81 ©&d) @R
e .

2. &S, wedm, BEMS Al HIART Tkl W WO vreiad  Aifed
feter.

3. HIUARE Uewl facifod d@m= oed &

4. dieFa e (FoRE 99)

(1) ®Ff

(2) g

(8) T FIHI UGl
(4) M.

P.T.O.



5. W fag (Fvmd &)
(1) <=\
(2)  H
(3) =@
(4) <=1 GE

6. Ty fag (FoAE TH)
(1) &3 e
(2) gifa, TEgeEt famn
(3) = ga

7. == fag (SoEl o)
(1) Y e
(2) U SIEHUEA FAARLSINY
(3) W IFHR @l
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adelt

fogw o — ar dWenie T " MEE, qeel, §aR Ar i eht
o fawarst FIuEE T weeuten |igan)

9% : 1% a™ TRUT TUT : 20

o — (i) ufgew wva diefan sifEd e
(i) ARG WEUH! HONE A T THU AW YA Hied
(fii) Fd YAA YAh! 5 AIGHN HHHA O AR

1. Braere d@d 4.

2. Tehdleld @i@d .

3. TU9El d forsn

4. IEEMedE gue foa
5. W@l o9 HIQEW TR H.

6. fEy fag (FvaEl )
(1) 9Y9g

(2) docAdal Ee SIS
(3) @G (TIA)

7. qUA AESA HIUARI Tkl SR =i o

[5201]-2041 3 P.T.O.
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AR
fooiw gor :— W Hewe I A e, d6en, @Ak A9 dT e
T fomarel wIvTEl Tk yvedtieRr Higen)
% : 1% a9 TRUT TOT : 20
e i— () uRken wed defm sfed e
(i) ARG WEUH! HUGE oF S THU TR YA el
(i) | YA YS! 5 AWHAT HHAF IO ARG

1. &eR, disl, Wa AUs! FHIAERE TR Wit Afgq@rl 1@ @ fafueg
<.

2, I AAMFHACIA HITAR] ekl =1 Gfoway e Arfedl  forr.

3. a, Whdrel, YHR AU RIUAE TRl dlcl< O, ©E, S, & Al
JHO EH h.

4., diex@ fa@ (FodE | |)
(1) SWEER I
(2) AT
(3) fo=m=
(4) FHR

5. Jm fa@ (+dEd §|)
(1) arETsR
(2) SWEEE gid YR
(3) U=
(4) ot @R fausE

[5201]-2041 4



6. fEu fag (FoEE )
(1) HeX =
(2) Gita TEqel famn
(3) HaR arErEn gfae™

7. 9fE fo@l (FIUEE TH)
(1) 3BXIE e
(2) 3WR FHR @i
(3) Y. e

[5201]-2041



Total No. of Questions—7+5+5] [Total No. of Printed Pages—4

Seat

- [5201]-2042

S.Y. B.A. EXAMINATION, 2017
MUSIC
Hita fewior @ (TH-2)
(2013 PATTERN)
(fafre gomr :— o1 dowie T Wi e, qe9l, WA’ ar dedeht
quen fauare #lurdd T UyauteR dredn)
I HIG T

9% : 1 @@ 30 fate THUT TOT : 20
gaar :— (i) ufgenm wvd wefau sAerd s

(i) NG F& Yl HUCE @ S THU WX YA Hiedl

(iii) |E YEAAT YAH! 5 A GO FHHE IO S

1. I STIAERAIA HIVAE! Tkl WA facifad dfey/ael ©&d WRiduies
hl.

2. fuyquery, SiAQE enfor amigl iRt HIOCIEl Uaht M= WiowR IMeta wrfedt
foTar.

3. ‘yuR onfor gEW W YRl RIUEE! Ul dem HifediEe o@d .

4. GATATHR! HOAR dFeR dar fowr
G) mEga fag
(i) YT
(iii) TEU T &R
(jv) REFTA

e

PT.0:



5. Giadsl ®ivER & fort desa fawr
(G) W S
(i) UE TEA
(Iii) =FA-3TEA TR
(jv) F@HE YAT T WA
(v) T THR

6. WlaUs! SRl Ut fooamer fay femr .
(i) EReEd YgdEl AW d WAl
(i) FAHEET 9 i
(iii) wifta fereome w@Ey

7. @oidUs! AR TRl Fiiaard SaTaie  fagl
(@) 3. fafwen @@=
(i) 4. fodas sAfaeet
(i) 9. =/ S S
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9% : 1 ™ 30 fufe TeRUT TUT : 20
e :— (i) ufgem yvd drefaun eifremd e
(ii) SANG YA HIOCE @ S THU AR YA e
(iii) @ YA TAS! 5 A GHO FHH O 3.

1. A AAHRAGE DRI Tehl M=l HETEHE! T TRAIag 6.

2. I AGHANIG HIUAE Tenl I IMGHT Oifedt 9 WRigwR fof.

8. Weliadeh! vl SFerR o fasr .
(i) EHI-Yhi-His
(i) WSI-YaH W

(1i)) TEAEA USdl

(fv) SHSHI

4. Geladen! FER Tt fawmer ey fomr
(i) YdARGEANA deenl  9ig
(i) Gta a oNYfHe gaRHEAd

5. Al APl HAR dGwrAl digd Seitdl Sl foran

[5201]-2042 3 P.T.O.
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9% : 1 @™ 30 fufe THUT TOT : 20
oAl :— (i) ufgenm wRA Grefam sterd e
(ii) 3ERG YA HIE A S THU AR YA e
(iii) W& YAl YAl 5 A YA HHH O 3R

1. W fRar goaa At FIEE TRl aia™ Aifedide doceed 6.

2.  SIRUHRAMIA HIUAE! WeRl dlc=l Tk HEGI o o diefiadies .

3. Gciadehl HIvAE gFeaR 2 famr .
@
(i) el
(i) W
(fv) A HMEET

4. GEAUHR! FwEE T fovmer fey fam
() @ ffde faga
(i) decarEl sfde™
(iii) qEeERAd T (SRd) 9T

5. U OS] dadEcET ded Sl afred o

[5201]-2042 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

- [5201]-2043

S.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
(G-2 : Indian Administration)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer of the following questions in 100 words each (any four) : [20]
(i) Any four Reforms of 1935 Act
(i) Significance of 1947 Act
(iii) Union Public Service Commission
(iv) Role of Chief Minister
(v) Vidhan Parishad
(vi) Lokpal.

2. Answer the following questions in 200 words each (any two) :[20]
(i)  Municipal Commissioner.
(it) Zilla Parishad C.E.O.

(iit) Objective of Administrative Reforms.

(fv) Sarpanch.

PT.0:



3. Answer any one of the following questions in 400 words : [20]
(z) Explain the powers and functions of the President of India.

(ii) Explain the structure, power and functions of Gram Panchayat.

4. Write short notes on (any four) : [20]
(z)  Functions of Council of Ministers
(ii) Powers of Supreme Court
(i) Planning Commission
(fv) Functions of Panchayat Samiti
(v) Powers of District Collector

(vi) The Governor.

(TS ®UTa)
d% : W aE THUT 7T : 80

oA :— (i) 9Wd WA diefau sfewEsd ERd.
(i) ISEHErd 3 Yo o geifedra.

1. @ Y=l S gt 100 V| foer (Sohsr 9mw) [20]
(1) 1935 T HEAGA HIUAR AR GHROT

(ii) 1947 =N HFHEAE He™

(iii) 3E TGl EN
(v) HermAET i
(v) faum afeg

(vi) R,

[5201]-2043 2



2. @i el IW YA 200 VEE @ (FOME gE) [20]
(i)  WEMTRUTCieh  SATe
(i) fToRmfte=n e wEwd  sAfusrd
(iii) 9RMERE GURoE  3fgse

(jv) TEE.

3. GEash! VAR TehT Y9 TR 400 vieerd ferer . [20]
(1) HRArEAT UUdE SAfYeR enfun e wWe #A

(ii) THYEEdEl O, UAR 9 wE TR FHA.

4. dreFa foo foawr (s =9w) [20]

(1) HIHEE™ HA

(ii) Hared —AEEEE  ATHHR
(iii) TS e

(iv) HEEd Wi

(v) SRR AfmR

(vi) TIUTA.

[5201]-2043 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-2044

S.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
(S-1 : Personnel Administration)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Meaning of personnel administration
(2) Features of Civil services
(3) Importance of Recruitment
(4) Meaning of promotion
(5) Resource development
(6) Right to Strike.

2. Answer the following questions in 200 words each (any fwo) : [20]
(1) Functions of civil service
(2) Objective of training
(3) Tress management
(4) Right to Form Association.

3. Answer any one of the following questions in 400 words : [20]
(1) State the problems of Personnel Administration.

(2) Write redressal mechanism in Personnel Administration.

P.T.O.



4. Write short notes on (any four) : [20]
(1) Importance of Personnel Administration
(2) Direct recruitment
(3) Principles of promotion
(4) Benefits of retirement
(5) Motivation

(6) Career development.

(W& wUaR)

q% : diF A THUT TUT : 80
gl :— (i) ¥Wd W gefau sevds  Sed.
(ii) 3SSE®ele 3% U U Seifodr.

1. wod JeEl SW®OUdSl 100 Y= g (PR W w) [20]
(1) Ta% YRmEEET 1Y
(2) & Ha= S
(3) WA Hew
(4) Wedten a1

(5) HIHEes faw™

(6) HU HIOIET AfYHR.

2. WA YEEl I YS! 200 veSid fowl (FvdEl gF)  : [20]
(1) T o= &
(2) fvr&om=En %

(3) dm-quieaTe  SHEEATI

(4) THSAT TIUT HOIET ATYFHR.
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3. WAAURl AR TRl TeE I 400 k@ AR o [20]

(1) Jao YA 998 9.

(2) HEET YIMEAT 3= fAamer o

4., dreHd foor fagr (odd Ww) [20]
(1) Y& WETE Hed
(2) TS o
(8) dedd dd
(4) TE= wER
(5) HEYFUME

(6) wHHIN foewm.

[5201]-2044 3



Total No.

of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[5201]-2045

S.Y. B.A. EXAMINATION, 2017
PUBLIC ADMINISTRATION
(S-2) : Local Self-Government of Maharashtra
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(iz) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(i)
(iv)
()
(vi)

Scope of Local Self-Government

Chief Executive Officer of Zilla Parishad
Functions of Gram Panchayat

President of Municipal Council

Mahila Bachatgat Mohim

Gharkul Yojana.

2.  Answer the following questions in 200 words each (any two) : [20]

(2)
(i1)
(iii)
(iv)

Vasantrao Naik Committee
Zilla Parishad President
Commissoner of Municipal Corporation

73rd Constitutional Amendment.

PT.0:



3. Answer any one of the following questions in 400 words : [20]

() Explain composition, power and functions of Municipal
Corporation.

(ii) Explain the relation between Political and Non-Political Executives

in Local Self-Government.

4.  Write short notes on (any four) : [20]
(i) Nature of Local Self-Government
(ii) Functions of Panchayat Samiti
(i1i) Gramsevak
(fv) Functions of Cantonment Board
(v) Problems of Metropolitan Cities

(vi) Jawaharlal Nehru Nagari Punurotthan Programme.

(& i)
% : WA A THUT TOT : 80
ol :— () ¥Wd Y SAavAE 3led.
(i) 3SSEHEld FH g Ol o geifea.

1. Wed JeEl SW TSl 100 vSd faer (FUeel 9r) [20]
(1) e EREETEl ST
(i) Toeg uftoR=n g&a sEed sifued

n_n .

(iii) UHIEEAET T
(jv) TRUERET TR

(v) wfeen S=aTd@ Hifed
(vi) EHRA SHI

[5201]-2045 2



2. WEE YAl W YOI 200 VR fow (HURE ) [20]
(1) SHaUd e Gt
(i) TS wftue=n sreae
(iii) WEMTRUICih=l ST

(fv) 73 HSAT TEEI

3. eyl HIUE Tkl T W 400 vea@ fo@r [20]

(i) THEMRUCSE! T&A1, ISR d HE G

(i) USRI 9 WIS Y@ e @RIEEEHed a9y T .

4., greqE few fomr (HIUEET WX) - [20]
(i) e ERTEEE EEY
(ii) YEEd gffde
(iii) W {AH
(jv) ®EU HEwE HH
(v) HEFRIA  GHE
(vi) EARIAE dE® AR YA HIAHH.

[5201]-2045 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5201]'2046

S.Y. B.A. EXAMINATION, 2017
PSYCHOLOGY
General Paper-II
(Social Psychology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer of the following questions in 100 words each (any four) : [20]
(i) What is Self ?
(i) What is conformity ?
(izi) What are the components of attitudes ?
(v) What are the levels of aggression ?
(v) What is pro-social behaviour ?

(vi) What is attraction ?

2. Answer the following questions in 200 words each (any fwo) :[20]

(1) Explain the characteristics of leadership.

(i) Discuss causes of prejudice.

PT.0:



(iiz1) Explain the three theories of love.

(fv) State the causes and theories of aggression.

3. Answer any one of the following questions in 400 words : [20]

(i) What is social psychology ? Explain the role of theory in social

psychology.
(ii) Define communication. Explain the process and types of
communication.
4.  Write short notes in 50 words each (any four) : [20]

(i) Co-operation Vs competition

(1) Gender

(iit) Commitment to socially responsible behaviour
(iv) Effects of social rejection

(v) Close relationship

(vi) Motives for pro-social behaviour.

(W wUTR)
d% : W aE THUT 7T : 80
ot :— (i) 9d WA Hiefaul SfeREsd ek
(ii) SSEiheld 3 Yo O ERiferdr.
(iii) TIHAS Hob TUSH WYAUCART TRIE.

1. Eeld YeEl SW Y 100 Vi fagl (el |9r)) [20]
() '\ "N %A ?
(i) SEING WS & ?
(iii) AfMgHA "EH HUd ?

[5201]-2046 2



2. @l YEAHl W YRl 200 Vi@ fow@l (RO ge) [20]
() gt TUERTE TS H.
(i) U= HRUTET == .
(i) 9ArEl i fagra e &
(ijv) SHHhddl HRO 9 fogid e &

3. Wi YeAET SW 400 Vi o (FoEEr uw) [20]
(i) TS AFERTS RS i 7 IS AHERTede i it
R HA

(ji) TUUUTEl Aren fdsl GUEY Yike 9 YRR TS H.

4. YIel 50 v=d e fewr fo@r (Fv@E 9n) [20]
(1) Hewmd faeg i
(i) fam

(i) FHSTYTE FHdlt FeTeG

(jv) TS  FIEHR/TSH
(v) EfT3 AAEEY
(vi) HHNSTYIE YT

[5201]-2046 3



Total No. of Questions—4+4]

[Total No. of Printed Pages—6

Seat
o [5201]-2047
S.Y. B.A. EXAMINATION, 2017
PSYCHOLOGY
S-1 : Abnormal Psychology
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1)
Answer the
(z)  State
(1) What
(iii) Write
(tv) What
(v) State
(vi) What
Answer the
(@)

(i1)

Figures to the right indicate full marks.

following questions in 100 words each (any four) : [20]
the multi-axes that uses DSM-IV to make diagnosis.
are the positive symptoms of Schizophrenia ?

in brief about dysthymia.

is Bulimia nervosa ?

the symptoms of autism.

is paranoid personality disorder ?

following questions in 200 words each (any two) : [20]

Describe the criterias of abnormal behaviour.

Discuss the etiological factors of Schizophrenia.

(iiz) Illustrate insomnia sleep disorders.

(iv)

Explain types of intellectual disabilities.

PT.0:



3. Answer any one of the following questions in 400 words : [20]
(1) Define anxiety. Discuss the various types of anxiety.

(zi) Illustrate different types of dissociative disorders.

4.  Write short notes on (any four) : [20]
(z)  Behaviouristic approach
(i1) Schizoaffective disorders
(iii) Cyclothymic disorder
(fv) Delirium
(v)  Frotteurism

(vi) Anti-social personality disorder.

(WS wUi)
% : WA A THUT TOT : 80
gl :— () Wd Y dHiefau AEvEad 3.
(i) ISEwerd ik o T geifedra.
(iii) TS Yoz TUSH WYUCAHI Terdl.

1. @efa YeAEl SW e 100 K[ foel (RveE E@mn) [20]
() = T TW-IV 79 fRM #ogEE Uil SR Sg-31e 9.
(ii) To-HT&hddl HhNIHE LU hHIUH AR ?
(iii) Wre-sTewEEed  dfe  wfedr et
(jv) HuIfie® IS TS & ?
(v) T-HEGE A .

(vi) TYdS SAfFHE foerd "IN ®@E ?

[5201]-2047 2



2. @eid UeEEl SW YS! 200 V[ @ (e @)

~

(j) TAlfged gdaren & auiE &

(ii) To=T=hd=a SRU-92H=l =99 &
(Gii) Tismme fasdi=l R Afedl S
(jv) dIfGYU®H TGHAA YHR T H.

3. WEid HIAE Teh Y™ W 400 g fofer .

H

ke TN .1

(1) THa=t =aren = fad=n fafay ysr=in == &

[ ]

(Gi) Toaems fagd= fafy=s 9R dereor g

4. dreHa four fagr (FoEE 9w)
(i) ddTeRel g

[ Lo}

(i) Te=verms fagd

(iii) wohTadl wrafeerdt  fagd
(iv)  yfgszqon

(v) HHEH TR SR

(vi) wHN-TaUel =afrma fagd.

[52011-2047 3

[20]

[20]

[20]
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[5201]-2047

S-1 : Psychology of Adjustment
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(zi) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i) What is marital adjustment ?
(ii) Why are gender roles changing ?
(iiz) State the uses of psychological tests for career decision.
(fv) What are the criterias of abnormal behaviour ?
(v) What is physical illness ?

(vi) State problem focused constructive coping.

2.  Answer the following questions in 200 words each (any two) : [20]
(i) Discuss the alternatives to marriage.

(zi) Explain biological and environmental origins of gender

differences.
(zi1) Illustrate anxiety disorders.

(iv) Describe major types of stress.

3. Answer any one of the following questions in 400 words : [20]

()  Define adjustment psychology. Discuss psycho-dynamic perspective

of adjustment psychology.

(z1) Illustrate the models of illness.

[5201]-2047 4



4. Write short notes on (any four) : [20]
(z)  Divorce
(i) Gender stereotypes
(izz) Job stress
(iv) Paranoid personality disorder
(v) Positive effects of stress

(vi) Blaming yourself.

(TS wUR)
d% : W aE TRUT TOT : 80
gerr — (i) Wd Uy Wiefau dEvas 3R
(i) SVEIhErd 3 YU O gRifer.
(iii) TS Yoz TUSH WYTUMIRT TRIE.

1. @ g3l SW Yds! 100 v foer (ke |mr) [20]
(i) dalfes HARESH WIS HEF  ?
(ii) fam-yfidr &1 dcad oRd ?
(Gii) HRHIE fTofamaEdt gHEerE |=Eeie SYErT 9.
(Gjv) TAfakd oIdaE AT woM eMRd ?
(v) INE ANRUT B/IN HEF ?

[}

(vi) THThS] TEATHE UlaAsE 9.

2. GElid YEAE SW YS! 200 Yid o (FvmE dF) [20]
(j) foawmen waEn ®F w™ SAed 2 el @™l S
(ii) femderEh Sfas enfor gaferoners: Igme W w0
(iii) fa@ fagd Hem T F.
(Gv) TUTAT 9@ YhR= 90 .

[52011-2047 5 P.T.O.



3. Tl VAR Uk Y™ SW 400 ¥ fal . [20]

(7))  TEESH AFESTEE A S G AHOSTET=A TAnTaes gl
EEICT

(ii) SASRYET Yed 9ERv W &

4, drewE feaor fagr (svdE =mw) [20]
(i) EEERE
(ii) fem-dreegHd
(iii) HE-q

(jv) WY Afaad o]

(v) dYTE HHRIHS  gRomH
(vi) TERTERIYA.

[5201]-2047 6



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

Y. [5201]-2048

S.Y. B.A. EXAMINATION, 2017
PSYCHOLOGY
Special Paper 11
(S-II : Developmental Psychology)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1)  Describe the physical development in early childhood.
(ii) State the physical changes in middle adulthood.
(zi1) Explain the cognitive development in middle adulthood.
(fv) State the psychological problems in late adulthood.
(v) Explain the small and taste sensation in infancy.

(vi) Describe the brain development in early childhood.

PT.0:



2.  Answer the following questions in 200 words each (any two) : [20]

(2)

(1)

(ii1)

@v)

Describe the motor development in infancy.
Explain the development of friendship in early childhood.

Explain in detail the problems of school going

children.

Describe the daily life of late adulthood.

3. Answer any one of the following questions in 400 words

each : [20]
(z) What is development ? Describe post-natal adjustment.
(i1) Describe the family relationship in adolescence.
4. Write short notes on (any four) : [20]
(z)  Physical development in infancy
(i) Social development in early childhood
(itt) Motor development in middle childhood
(fv) Leisure time
(v) Career choice in early adulthood
(vi) Unemployment.

[5201]-2048



(FTE W)
q% : WA A THUT T : 80
el :— (i) 9Wd Uvd Gefau oAeavas o
(ii) SSEheld 3 A O YU geifed.

1. Eeld Y3l 100 IsSid 3w fasl (Sivdel 9r) [20]

(i) gHecaEESda IRE  faemE aviE . wa.

(i) WA YeEEdda IR 9qd |

(iii) W UeeRdda dgfe faed ' w7

(iv) JgEEddiad TRIRE 9@ 9.

(v) VREEEHE T F T GOgT T A

(vi) YAaAEREd Hg fowmE v w5

2. Wl YAEl 200 ¥ SW fawr (FvdE @ ) e [20]
() InEEEdid SRe faemEE e
(i) YAaeEESde B fawm T

(i) TMesd SUMAT Horeal RS HiO&R TR &

(jv) THr=N Al SHaA™ 9uH

3. Gl HUMRI Tk TEAET 400 &M IW fasr [20]
() Towrm WS @ ? TR GHESAN 99 HA

(ii) TorviREESda ®Efaw TaYd avH &

[5201]-2048 3 P.T.O.



4, deEE feu fagr (FvEE \ww) [20]
(1) IwEEEde TR o

(ii) YoeTcAEEddia gt fash

(jii) " dedEdid $Re  fdw™
(jv) e B

) T YeEEda ZEuE e
(vi) &N

[5201]-2048 4



Time

N.B.

[5201]-2048

(S-2 : Positive Psychology)
: Three Howurs Maximum Marks : 80
:— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
Answer the following questions in 100 words each (any four) : [20]
(z) Explain positive emotions and flow experiences.
(ii) Explain negative and positive effects of trauma.
(iiz) Describe successful aging.
(fv) Explain benefits of marriage.
(v)  Describe matching hypothetic concept.

(vi) State the relationship between mindfulness and well-being.

Answer the following questions in 200 words each (any two) : [20]
(1) Describe the various fields related to positive psychology.
(ii) Explain positive emotions and flourishing.

(iit) Explain gender differences in emotional experiences.

(zv) Describe interconnection between ‘Good’ and the ‘Bad’.

Answer any one of the following questions in 400 words : [20]
(1) What is Happiness ? Explain two traditions of happiness.

(ii) Explain CVS-classification system of human virtues.

[5201]-2048 5 P.T.O.



4.  Write short notes on (any four) : [20]
(i) Goals of positive psychology
(1) Clinical perspectives of resilience
(izz) Sources of resilience in childhood
(iv) Religion and happiness
(v) Why are materialists unhappy ?

(vi) Terror management theory.

(W& T UIR)
q% : dF A THUT TUT : 80

1. Trelid YAl Yl 100 vsgid SW foel (Hivdel 9w) [20]

(i) TERHAE WEAT A0 SHHT-3Y T h.

(ii) SEES HeA™ AGNIHe 9 HhIUHE YRUMH TS &L

(iii) ‘I JgEEA’ GO w0

(Gv) TaamE wEe W H.

(v) ‘sgeu fogd Heegwr' 9vE &AL

(vi) WTAGSHIA d STFGIGl/ERIe Fa9 .

[5201]-2048 6



2. WA YEET Yet 200 VS SWfawl (e @ ) e [20]
(i) HHNHS HEEITSE el &3 duF .
(i) THRRHE e N0 FArdein/aggsiiod T .
(iii) famde onfr wEfe I9¥a T &
(iv) ‘=’ S ‘eEe’ A Y Ui

3. WElclys! VMRl Ul YA 400 Igid W foa@r . [20]
(7)) AFCERl WU w7 STMegNreN @M WU TR &
(i) HFel GO OLELTH. eIl Yell TS o

4. greFE fem foRr (@odE \9w) [20]
(i) HHNHE HHEETSTE 4
(i) fedraEamEn fafecaas gfesm
(iii) oedreEddia  feadeamher=  smHeer
(iv) o" i TRl
(v) ofdeat gt w1 STEaE  ?

(vi) TEId HIEAYH SYUI.

[5201]-2048 7



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5201]'2049

S.Y. B.A. EXAMINATION, 2017
GANDHIAN THOUGHT
(G-2 : Gandhi’s Social, Educational, Political and Economic Thought)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four): [20]
(z) Explain in short the concept of man according to Rousseau.
(i) Explain in short the concept of social change.
(iiz) Explain Gandhiji’s concept of ideal society (Ramarajaya).
(iv) Explain Gandhiji’'s view on nature and function of state.
(v) Explain in short concept of ‘Decentralization’.

(vi) Explain in short concept of ‘democracy’.

2. Answer the following questions in 200 words each (any two) :[20]
(z)  Explain Gandhiji’s concept of relation between man and society.

(ii) Explain Gandhiji’s thought about cast and gender.

(iit) Explain Gandhiji’s concept of Swaraj with its different dimensions.

PT.0:



(fv) Explain Gandhiji’'s concept of ‘Sarvodaya’.
(v) Explain Gandhiji’s concept of ‘Swadeshi’.

3. Answer any one of the following questions in 400 words : [20]
(1) Explain and discuss the importance of Gandhiji’s eighteen point
constructive programme of social change.
(ii) Explain in detail Gandhiji’s concept of “Satyagraha”.
4.  Write short notes on (any four) : [20]
(i) Concept of society : Thoreau
(ii) Concept of Ashrama
(ii1) Gandhiji’s tribhasha sutra
(fv) Stateless society
(v)  Self-sufficient villages
(vi) Spiritualization of politics.
(WS wUTaY)
9% : i A TRUT TUT : 80
oAl :— () Wd WA Grefan oravds o
(i) SoEiHelA 3 Yol U Syifadm.
(iii) WSHMES! Wb TUSH WYAUCARI TEE.
1. Trefad Y3l Yol 100 vsgid SW foel (el 9w) [20]

(i) ®H I HATSA T HhHeddl T FHA

(ii) TS gfEdarEl Hoheddr T &

[5201]-2049 2



(iii) TNESI=T TS Gaheqdlr 9.
(jv) T WEY A0 FE TMeSTar gfedd T .

(v) TESET ‘fafeen’ Hohouar oiedad W H

(vi) TAHIME TheUdl T H.

2. Woid YAl W Y 200 Vi@ fowr (FRE ) [20]
() UIHF SN WENS Ad AoEsd @ meisiel  Heheu @i
(i) i offur fafawees s faur e .
(iii) T~E Hheodd fafaw U &< .
(jv) TS Hiffderel! ‘Haled' Heheddl TR A
(v) THSTET TEREE Gheq T TR H

3. EEddsh! HIUE Ukl YA W 400 vead foer : [20]
(1)  TNErST=1 TES UREdATesEH= A8 hoH fOume wReH TR hEA

I Hed favie .

(G ‘g’ @ M=l Gheddl Hfatl TWee .

4, ged@a du fo@ (FoEE |aw) [20]
(1) ORET gHS Heheddl

(ii) SNYH HhoUdl

(i3i) Sarsm gA—TmeEAST

(Gv) TSAfGEE FHSEA

() @AY ©Et
(vi) TSTHROTE  STEATHSHIT.
[5201]-2049 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

- [5201]-2050

S.Y. B.A. EXAMINATION, 2017

YOGA
(G-2 : Yogvidya)
(2013 PATTERN)
Time : Two Howurs Maximum Marks : 40
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]
(2) Explain Karma.

(ii) State the importance of Dhyan in attention.

2. Write short notes on any fwo of the following : [10]
(1) Punarjanma
(i) Jivabandha
(izi) Shitali pranayam

(zv) Purvamimansa.

PT.0:



3. Answer any two questions from the following in 200 to 250 words

each : [15]
(1) Explain Uttarmimansa
(i) Explain Charvak Darshan

(ii1) State the benefits of Kapalbhati.

4. Attempt any one question in detail : [10]

(z) What is perception ? Explain the importance of Pratyahar and

Dhyandharana in perception process.

(ii) What is Nastik Darshan ? Explain Nastik Darshan in detail.

(S wUi)
9% : g qE THEIT T : 40
g :— (i) Wd WA dEfau JEavas TR
(i) IEHErd 31k Yo o geifedra.

(iii) GEHETS W TUSH ULAUARI TawE!.

1. Gl SRl ThE 50 Yeid ISR =@ [5]
(i) HHifIwE HifedT Q.
(ii) STEYM SAFE™ Hecd 9.

[5201]-2050 2



2. Waysl gew[ feqr o (RIvER ge) [10]
@) g
(ii) SfrEmEY
(iii) ¥ftdaedt gmomad
(jv) gAML

3. WUl SR g URAE 200 d 250 &M W A [15]
(i) TREAE WS wE ?
(ii) < ST wifedt @
(iii) HACTHEE HFS  EEL

4. AR PR TRl YT HiawR I el ¢ [10]
(i) TIT ®US HE T A Fagd UfEId TARR 9 oAM URUN Hew
iR T2 h.

(i) e WA WUS HE T OAAE  SHcEATOwE dfgw ==l w

[5201]-2050 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [5201]'2051

S.Y. B.A. EXAMINATION, 2017
HISTORY OF CIVILIZATION (Indian Culture)
General Paper 11
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(i)  State about ‘Paleolithic Tools’.
(1) State about Neolithic Culture.
(iii) Importance of Inscriptions.
(tv) Define Dravidian Culture.
(v) What is a Minar according to Islam architecture ?

(vi) Bhakti Movement.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Discuss the sources for the study of Ancient Indian Culture.
(ii) Write in brief on Post-Harappan Culture.
(iii) State salient features of Ancient Indian Culture.
(fv) Take a brief review of the Philosophy of Jainism.

PT.0:



3. Answer any one the following questions in 400 words : [20]

(1)  Describe the contribution of Brahmo Samaj and Satyashodhak
Samaj in Social-Religious reform movement.

(ii) Write in detail the demerits of the Varna and Caste System.

4.  Write short notes on (any four) : [20]
(1) Indo-Aryan Language
(ii) Geographical Features of India
(iit) Four Arya Satya in Buddhism
(fv) Cultural Contribution of Gupta Period
(v)  Sikhism

(vi) Space Technology.

(S wUi)
% : WA A THUT TOT : 80
oAl :— (i) 9d U Hefan oevas  sied.
(ii) SSEheld e A O YU geifad.

1. Weid 9=l Ydst 100 v S el (Fvdel 9w) [20]
(i) YURHIE TR ATfaeRET EAm.
(ii) TETCEETESE
(iii) ToemerE™ e
(jv) Tfde T SARAT <L
(v) ‘'HAR' WS ®E ? W SO 9eHi.

(vi) Yl TZAR.

[5201]-2051 2



2. W YEET Yt 200 VS S fawl (e @ ) e [20]

(1) U YRAE SShdre SIErel 9ieEret 9l .
(ii) TW-FSW HhdeR e foml
({ii) U 9RAE Ghdidl 3cgeh  Afvrsed 9L

(Gv) N9 YH=AT doAEEl GIeRd @ <.

3. WEld ARl Wk Y9I 400 I IW fasr . [20]
(i) GHISh-aifHe GURUT Fedcidical Sl THS d TRl Tas A=
IAEETE U H.

(Gi) 99 offor Wi §Y Aer |faw o

4, dreRE fow fag (F@E @ R) [20]
(i) 3USI-3REA
(i) WA diifas  Sfme
(iii) dig wHida IR o wA
(jv) TwHleRde HRHdh ARRH

(v) T gyl

(vi) SATHIT T FM.
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Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
- [5201]-2052
S.Y. B.A. EXAMINATION, 2017
HOME ECONOMICS
G-2 : Sociology of Indian Family
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(@)
(i1)
(iii)
(iv)
)
(vi)

Explain the relation between Sociology and Indian Family.
Explain the process of socialisation of the child.

Explain the basic development of Human Race.

Explain the types of Marriages.

Explain the importance of Family Welfare.

Explain the importance of Social Legislation in India.

Answer the following questions in 200 words each (any two) : [20]

(@)
(i1)
(ii1)
(v)

Explain the functions of family.
Explain the merits and demerits of Joint Family System.
Explain the causes and effects of family disorganisation in India.

Write an essay on social legislation about marriage and family
in India.

PT.0:



3. Answer any one of the following questions in 500 words : [20]
(z) Explain the merits and demerits of Nuclear Family.

(ii) Explain the causes and effects of family disintegration in India.

4.  Write short notes on (any four) : [20]
() Importance of Sociology
(ii1) Importance of Marriage
(i) Human Race
(zv) Child Welfare
(v)  Family Organization

(vi) Education and Family Development.

(WS ®qiar)
9% : i A THUT TOT : 80

el :— (i) W Yy Wiefau Evas 3R
(ii) 3SEReld 3% Ul U geifadm.

1. Teid 9eEl SW Ydsl 100 vegid faer (Fivegl 9r) [20]

(1) OHSETE STl YR Hed Adia 99y e H.

(i) shT=A1 TMHISThIhO=] Hihal T .

(iii) WHS aETEAT HBYd fowme TR S

(Gv) foomEE YHR TR w4

(v) HF HAUME Hed TR H
(vi) YA gEfSe faggd™ Had TR H.

[5201]-2052 2



2. Wed YAl SR Yok 200 VR few (FURE ) [20]
(i) HeoT HE TR B
(ii) T HId TSA IO AT W TR HA
(iii) YNAMa Hed fIeUar= &R0 § URom e FHA.

(jv) YRdAa foeae a gdfaTas  fatFser fHay  fog
3. Wi YAl SW 500 V= foRl (FIUEE ) [20]

(i) o9 Hed Ygdd TU-SN TR R

~—

(i) HRAMIA hed fosedr=l ®RU 9 YRoMY e R

4, geFa fon fa@ (FvEE =\ w) [20]
(i) HHASETSTE HE
(ii) foemer wee
(iii) Al oY
(lv) M HeA
(v) S HEEA
(i) Tagm suft e fowm.

[5201]-2052 3



Total No. of Questions—4+4+4] [Total No. of Printed Pages—9

Seat

Y. [5201]-2053

S.Y. B.AA. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
D.S. G-2(A) : Military Geography
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the scope of Geo-strategy.
(2) State the importance of Military Geography.
(3) Give the importance of National power.
(4) Explain the concept of Grand strategy.
(6) Give the logistic problems of Jungle Warfare.
(6) Explain the concept of Logistics.

2. Answer the following questions in 200 words each (any two) : [20]
(1) Describe the concept and scope of Geo-strategy.
(2) Explain the concept and aims of strategy.
(3) Explain the Geo-strategic importance of Diego-Garcia.
(4) Describe the characteristics and logistics problems of Plain
Warfare.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the oil crisis in West Asia.
(2) Explain in detail the principles of Logistics.

4.  Write short notes on (any four) : [20]
(1) Uses of Natural Gas
(2) Kuwalit

(3) Arms in Jungle Warfare

(4) Impact of geography on land warfare
(5) Meaning of Military Geography

(6) Concept of Tactics.

(TS TUIR)
9% : i A THUT TUT : 80
ol :— (i) W& WA Hefau seras o
(i) 3ITAHEE FF YIAE YU U SFifora.
(iii) TS B TUSH WRAUCIHRI TErE.

1. TP WAET W YR 100 I=Sd forr (Fvher 9r) [20]

(oW la}

(1) Y-FSAlfa=l ATl T R
(2) @R YT Hewd |
(3) UNE 9HeAd wWewd Wi

Lo W ) n =

(4) fowmear ggHAifd=t Hhedd T HA.

(5) WA JSURUA qRaSl HIXI= guE @A
(6) Y@ HEEIE! Heheddl T H
[5201]-2053 2



2. UG WAE SW TAS 200 7@ fow (FomE &) [20]
(1)  Y-FEAifaet Hhead o =A< fave &
(2)  FoHiasel Heheddl § B TR H
(3) feoit mivfae qumfe wew e &
(4) Wt gounosn afyrse anfr [ee wegem mwmen fave A

3. TOOYRl HIUAE TRl WA S 400 I foer [20]
(1) dfyem onfyardid da 9 W &

(2) Y@ AT dw Gfaw wee Hw

4., drewa foo fegr (@@ =\w®) [20]
(1) gfifer o= 3qam
(2) Had

2

(3) S JSHUNUA Y

(n}

(4) =l SfEHEE e T8 YHE
(5) sRA  YiermEn Y

(6) TEUF Hhoudl

[52011-2053 3 PT.O:



[56201]-2053
D.S. G-2(B) : Geopolitics
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the nature of Geopolitics.
(2) State the importance of unified field theory.
(3) Explain the importance of Political Geography.
(4) State the problems of Buffer State.
(5) Explain the concept of Exclusive Economic Zone.

(6) State the types of natural boundaries.

2.  Answer the following questions in 200 words each (any two) : [20]
(1) Explain the basic elements of Nation.
(2) State the concept and problems of Landlocked state.
(3) Explain the nature of Political Geography.

(4) State the functions of Territorial water.

3. Answer any one of the following questions in 400 words : [20]
(1) Describe in detail the Heartland theory of Mackinder.
(2) Explain the geographical factors affecting war.

[5201]-2053 4



4.  Write short notes on (any four) : [20]
(1) Objectives of Geopolitics
(2) Admiral A'T. Mahan
(3) Concept of State
(4) Functions of Boundaries
(5) Karl Haushoffer

(6) Frontiers.

(WS wTaw)
9% : i A THUT TOT : 80
el :— (i) wd WA drefau seras eiwd.
(i) SoEIRSI® ih YA Yol U Fifeard.

1. Uolo WAE W YdH! 100 IS fosl (Hivdel =) [20]

(1) YUSHIdE @& e &

(2) THEY & fagaE "ew @

(3) TS Y e W .

(4)  STEAEISER TSR WHET G

(5) ofdew fasfy &&=l Heheddl TS A
(6) THfifes Ha= YR .

2. TP WAET W YIH! 200 I fowl (Fivhsl ) [20]

(1) UM HadY4d ¥eh T .

[52011-2053 5 PT.O:



(2)
(3)
(4)

(D)
(2)

(1)
(2)
(3)
(4)
(5)
(6)

[65201]-2053

qafted TSl Heheddr SMfUT wHE HWEL

TSR e Ed e .

YRy SaEET S 9r.

TIAGUH! DIV TRl U39 W 400 I foml

Hferel =1 ‘wHyH' g gfaw) auie .
ISR RO FOR HFfeh Heh T H.

dieqma < foer (Fivdel |X)

ENERIEIC T
FJefma wdt. "s[
Tl eyl
Sk i MG P

FHA BRI

HH Y

[20]

[20]



[56201]-2053
D.S. G-2(C) : Industrial Security
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the importance of Industrial Security.
(2) What are Bailable and Non-Bailable crimes ?
(3) What is Industrial Espionage ?
(4) State the importance of Security Department.
(5) What is to be done after fire break ?

(6) State the role of Control Room.

2. Answer the following questions in 200 words each (any two) : [20]
(1) What is Security Lighting ? Explain.
(2) Describe the concept and importance of first aid.
(3) State the duties of Chief Security Officer.

(4) Explain in brief Evidence and Court Procedure.

3. Answer any one of the following questions in 400 words : [20]
(1) State the role of Security Department near main gate.
(2) Explain the security planning and its implementation.

[52011-2053 7 PT.O:



4.  Write short notes on (any four) : [20]
(1) Bombay Police Act, 1951
(2) Fundamental Right
(3) Intelligence
(4) Dry chemical equipment
(5) Snake bite

(6) Control room.

(TS wUTa)
9% : i A THUT TOT : 80
el :— (i) wd WA drefau seras eiwd.
(i) SoEREl® FH YT qul U Sxifadm.

1. TPe WA SW YIS 100 Id f@er (Hvdd 9r) [20]
(1) SiEife qEE 96 W= H.
(2) VHHIS F FASHEUE TR WIS wE 7
(3) ofEfier R = w@ 2
(4) & faurm= " HATL

(5) I AT FdX hEI HAd 2

(6) Tz wem=t yfasr @

2. TP WAET W YIH! 200 I fowl (Fivhsl ) [20]

(1) TR YhIT Fadl BUS M d TR FHA.

[65201]-2053 8



(2) YUHUERET Heheudl STVl Hew fovie A
(3) & e sl saed 9.
(4) qUEl AU A iR dieed Wee

3. TOOURl HIUAE TeRl W™ W 400 I fogl [20]
(1) ¥H&A YoRgR Sacdia geen fawmms=i yfysr @
(2) SiENfier e FANE 9 SIH@eSmav W .

4, deqEE fou foa (FvEE =ww) [20]
(1) ¥z difew Afuf=Em, 1951
(2) HAYd sifuer

(3) T HRa

(4) TSA HiHRA ITHW
(5) Hdcw

(6) fHE=01 w4

[52011-2053 9



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
No.

[5201]-2054

S.Y. B.A. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES

(D.S.S.-1(A) : Indian Military System After Independence)

Time :

N.B.

(2013 PATTERN)

Three Hours Maximum Marks : 80

:— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Explain the operation of Safed Sagar.
State the importance of MacMahon line.
State the effects of 1998 Nuclear Test.
Explain the strategic importance of J & K.
State the geostrategic importance of Kutch.
What is Operation Talwar ?

Answer the following questions in 200 words each (any two) : [20]

(1)
(2)
(3)
(4)

Explain the causes of Kargil conflict.
Explain in detail Indo-China border dispute.
State the causes of 1965 war.

Explain the development of Indian Nuclear Programme.

Answer any one of the following questions in 400 words : [20]

(1)
(2)

Describe the development of Indian Missile Programme

Explain reconstruction of Indian Armed Forces.

P.T.O.



4.  Write short notes on (any four) : [20]
(1) Assimilation of Kashmir
(2) Indian Army
(3) Problems of Bangla refugee
(4) 1974 Nuclear Test
(5) Partition of Armed Forces
(6) Simla Agreement.

(TS BUIMR)
9% : i A THUT TOT : 80
ol :— (i) ®Wd WA Hisfqu sEvas .
(ii) SEREle 3T qU U SEifadm.
(iii) TR HeB TUSH YYAUCAST UETEl.

1. THA A SR TGOS 100 TS| el (el |mw) e [20]
(1) M@ ¥%he WX T 6.
(2) HehHrd TW A @
(3) 1998 Hiflel ofveier =r=via URomE @AM
(4) SH-HRHNE HHE "ol T S
(5) Hovd YHMRE Hee G
(6) SIE TOEOR BUS HE  ?

2. WA YIAET SW sl 200 v=id fow (HoaE dF) [20]
(1) wRATA oo ®RY T &
(2) YRA-<F HHER gfawR T Fw.
(3) 39 1965 = IJIE FHRO HAT.

(4) YA 3TUeih HEAGHTET fgh™ T H.

[5201]-2054 2



3. WIdys! HIUER Uk YA W 400 V[ fawr [20]
(1) YRdE GUure fashr™ wEfed T &
(2) YRAE WS Al gRET TR S

4. deFm@ fow fam (FRE Ww) 201
(1) HRHERE THIH
(2) HRAHE Tl

(8) wraRy fraifaarst guen
(4) 1974 =it sqvdth  =TEON
(5) RE fawsH

6) fagen #R

[5201]-2054 3 P.T.O.



[6201]-2054

(D.S.S.-1(B) : Maratha Military System)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(z1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)

(4)
(5)
(6)

State the strategic importance of Jawali.

What are the articles of Treaty of Purandar.

Explain the geographical situation of Maharashtra before
Shivaji.

State the causes of the first Anglo-Maratha war.

What are the causes of Shivaji’s victory against Shahistekhan ?

State the strategic importance of forts.

2. Answer the following questions in 200 words each (any fwo) : [20]

(1) State the objectives of Karanataka Campaign.
(2) What are the causes of downfall of Maratha Power ?
(3) Why did Shivaji adopt Guerrilla tactics ?
(4) Describe the third Anglo-Maratha war.
3. Answer the following questions in 400 words (any one) : [20]
(1) Describe the Maratha Miltiary Organisation under the
Shivaji.
(2) Describe the Third Battle of Panipat (1761 A.D.).

[5201]-2054
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4.  Write short notes on (any four) : [20]
(1) Sambhaji Maharaj
(2) Causes of downfall of Maratha Power
(3) Types of Cavalry
(4) Bajirao-I
(5) Rajaram
(6) Jijabai.
(W& wUlaR)
9% : W9 aE TRUT TOT : 80
ol :— (i) W WA Hisfau ewds  sed.
(ii) ISihele 3k qui U gYifedr.
1. Tod Yl S Ydsl 100 =ik fagr (FvaeE W) [20]
(1) <Ee= 9Mie Hed 9.
(2) YETAT @RI Hed R ?
(3) Toogd®elia HerRmeET  dricie  aRferdt T &
(4) dfged SUS-AUST gSTEI HRU HETL
(5) Tarst mWerNren Yewer favgen fosar=t &R0 ®oE ?
(6) fTocae 9mi® #@ed 9.
2. WA YA SW U 200 [ faw (ROmd ge) [20]

(1) wdlch AEE=l SfEse 9.

(2) WU Hcd=Al UdATE! HRO kU ?

(3) Tt WerReHl THH wEAET AR w1 e ?
(4) ZU9-"Ae fow=n gg™ 9 &

[5201]-2054 5 P.T.O.



3. WA YIAEr W 400 v faw (FUAE wew) [20]
(1) Tt uermm=n Faaomereia TeT=n a Rl gEead 9uF .

(2) 1761 =0 uiAgd=n fao=n <eEd 9vF &

4. dgieqE fou fag (SvddE w9w) [20]
(1) IS Hers

(2) WHUS Hcd=AT YdAr=t ol

(3) EIegA™ YHR

(4) dfgen «SRE
(5) USH
6) foemer.

[5201]-2054 6



Total No. of Questions—4+4] [Total No. of Printed Pages—6

o [5201]-2055
S.Y. B.AA. EXAMINATION, 2017
DEFENCE AND STRATEGIC STUDIES
D.S. S-2(A) : International Relations
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Answer the following questions in 100 words each (any four) : [20]
(1) State the concept of Diplomacy.
(2) Explain the Game theory.
(3) Explain the importance of International relation.
(4) State the concept of disarmament.
(5) State the objectives of WTO.
(6) Explain the concept of Detente.
2. Answer the following questions in 200 words each (any two) : [20]
(1) Explain the meaning and concept of New Cold War.
(2) Explain the objectives of New World Order.
(3) Explain the decision-making theory.
(4) Explain the role of U.N. in maintaining peace and security.

P.T.O.



Answer any one of the following questions in 400 words : [20]
(1) Explain in detail evolution of cold war since 1945 to 1991.
(2) Describe the Idealism theory to the study of international

relations.
4.  Write short notes on (any four) : [20]
(1) Cold War
(2) GATT
(3) Realism
(4) Soviet Disintegration
(5) International Political Economy
(6) Non-alignment.
(TS ®UTa)
9% : i A THUT TUT : 80

g :— (i) W WA defau oeRTd AR

(i) 3VEthele ek Ul U SFifodm.
({ii) USHEE He TUSH WIAUART UREl.

Tee JEAEl W YRl 100 I=[ fow (FUmE W9r) [20]
(1) TSHArEl GheudT 9O

2 we fag w= U

(3) AT Hau™ W T H.

(4) TrEEOTET GhedTr |E.

(5) INfde SAMR Geeqdr 3fesel @rm.

(6) HAEA=El Hhoddl T HA

[6201]-2055 2



2. WG WAME IW TIH 200 I&E@ fow (F00E qE) [20]
(1) Afeq Ragsmr s1d 9 ddheq T w0
(2) HAfoq nde HaET Sfesey W .
(3) frolommdl fogia s &
(4) STAWSER IMAal 9 R fepfavandal Te U= il ¥ .

3. UOe WAM IW 400 T foar (Fod@ TEw) [20]
(1) 39 1945 d 1991 wdadl sl Iohidl T H
(2) SAWST Tayreal AMe Acyiart faga fave .

4., gER@ du fow (SR FTR) [20]
(1) faags
(2) T
(3) AEdR

(4) Wifgua JHaaa fausE
(5) SR USHA  rdae
(6) Aferwar.

[52011-2055 3 PT.O:



[5201]-2055

D.S. S-2(B) : International Security

Time : Three Hours Maximum Marks : 80

N.B. :—

() All questions are compulsory.

(1) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(D)
(2)
(3)
(4)
(5)
(6)

What is Cold War ?

State the meaning and concept of non-alignment.
Explain functions of diplomats.

State the meaning and concept of Ethnic conflicts.
Explain the causes of Terrorism.

State meaning and concept of Balance of Power.

2. Answer the following questions in 200 words each (any two) : [20]

(1)
(2)

(3)
(4)

Describe the origin and development of Cold War.

Explain the role of non-alignment in maintaining international
security.

State the meaning and concept of International Security.

Explain the characteristics of post Cold War Scenario.

3. Answer any one of the following questions in 400 words : [20]

(1)
(2)
[6201]-2055

Describe the types of cyber crimes.
Explain the nature of Arms Control and Disarmament.

4



4.  Write short notes on (any four) : [20]
(1) Global Warming
(2) National Security
(3) Detente
(4) Diplomacy
(5) Effects of Terrorism
(6) Nature of Cyber Crimes.

(& TUiaw)
q% : dF A THUT TOT : 80
el :— (i) wd WA drefau seras eiwd.
(i) IAHSle FF TAE YO O SFifar.

1. WOl WBAE S YIS 100 Ieid fogr (Fdd =mw) [20]
(1) PRags = w3 ?
(2) cifawder &g 9 Hahoudr GO

(3) USIGArEl H1E TS H
(4) Gy Tust=r 31d F Tehoudr WL

(5) <EICEERNE SO TS H.

(6) Hwl Ggerrn 3§ Heheddl AT

2. WOe YAl W YISl 200 IEid foR (RUkE @F) [20]
(1) foagern sm enfon fawm fawe =

[52011-2055 5 PT.O:



(2) oA g fespfavardia siferad=n  fiysm ¥ &
(3) oAAWSE [WEEl A 9 Heheddl AT
(4) R 9o FEde  aiferd=t afmes e

3. UTO® WAM IW 400 I=EM four (FUAE TH) [20]

(1) ¥EeR T TR foRe &

(2) ImEfAEEu S ST WEy TR &

4. gieHEE d few (PR WR) [20]
(1) SirTfdsk  dIHEEeE
(2) U HaEm
(3) o
(4) TSA

(5) <EYAARE YRUmH

(6) WEER Todd WEd.

[6201]-2055 6



Total No. of Questions—5]

[Total No. of Printed Pages—3

Seat
- [5201]-2056
S.Y. B.A. EXAMINATION, 2017
SOCIAL WORK (Gen.-II)
(1) Introduction to Fields of Social Work
(2) Population Education
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(i1)

Figures to the right indicate full marks.

1. Explain the concept of Population Education and discuss the importance

of Population Education. [16]

Or

Explain briefly the various fields of social welfare with reference

to India.
2.  Explain the

Discuss the
3. Explain the

Explain the

socio-cultural factors affecting population growth. [16]

Or
need and scope of Tribal Welfare.

effect of large size family on family life. [16]
Or

causes of poor standard of living.

P.T.0.



4, Explain the concept of Labour Welfare and discuss its importance
in Indian Society. [16]
Or

Write an essay on “Population Explosion”.

5. Write short notes on any two of the following : [16]
(z2)  Problems of Rural Communication
(i1) Importance of Medical Social Work
(iii) Unemployment

(fv) Importance of Aanganwadi.

(W& wulav)
q% : o A THUT TUT : 80
M :— (i) WA Yy Hiefau EvEas 3.
(ii) Ioeheld 3k YU O TEiferdr.
(iii) TIUEIES Hoz TUSH UYAULART TerEl.

1. Rged U=t Oheddl W $ed =l Hew™ Jel 949l &d. [16]
ferar

U=l Gevfd gmifsier sweamm=n fafay &9 digsmd W &4

2. AHEEAl dea THiSe d Gehfde W@l URUMH T & [16]
ferar

feardl FeAUm=ET TS ST AT IR 9=l .

[5201]-2056 2



3. Hed SioAER HIGH A=Al FHearal YR W FH. [16]
feRar
e UevitaArE= SN RO T .

4, FHHMR FAUME THeddl TR FEA YRAAA TS < g JeR J=i
EXE [16]
=

“ArrgeEn famme!! ger feEy e

5. IR SRR dredda feu femr [16]
(i) U GHSEEAT GHE

(ii) dUHE THN FHEE He
(iii) SRS
(iv) STUETE Hew.

[5201]-2056 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Yo [52011-2058

S.Y. B.AA. EXAMINATION, 2017
COMMERCE
G-II : Business Accounting
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(1) Figures to the right indicate full marks.

(zti) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]
(a¢) What is Book-keeping ?
(b) Who is a Debtor ?
(¢c) Concept of LIFO.
(d) What is Time-keeping ?
(e)  Objectives of Book-keeping.
(/A What is Capital ?

(8) Meaning of Nominal Account.

2.  Journalise the following transactions : [20]
Jan. 2016
1 Started business with cash Rs. 80,000.
4 Paid cash to Ram Rs. 5,000.
6 Received Commission Rs. 1,000.

P.T.O.



15
18
22
27

Give

3. (A)

[5201]-2058

Cash Sales Rs. 3,000.
Cash Purchases Rs. 5,000.
Goods sold on credit to Ravi Rs. 1,000.

Purchased goods on credit from Ajit Rs. 3,000.

Paid salary Rs. 2,000 to Rahul.
Paid rent Rs. 1,000.
Or

the meaning, form and utility of Balance-Sheet.

State in brief methods of Time-keeping.
Or

Prepare Cost-Sheet from the following :

Material Purchased

Direct Wages

Direct Expenses

Factory lighting

Factory heating

Office Salary

Rent and Tax

Advertisement

Bad Debts

Income Tax

Delivery Van Expenses

Sales Manager Salary

Oil and Water

Postage

Sales

[20]

[15]

[15]
20,000
5,000
3,000
2,000
1,000
4,000
2,000
5,000
2,000
1,000
2,000
5,000
1,000
2,000
80,000



(B) Explain in detail Purchase-Procedure. [15]
Or
Prepare Store Ledger Account on the basis of First In First
Out method : [15]
Purchases :
5th Jan. 200 units @ Rs. 22
20th Jan. 1,400 units @ Rs. 24
27th Jan. 800 units @ Rs. 26
13th Feb. 2,000 units @ Rs. 28
20th Feb. 1,000 units @ Rs. 30
Issues :
9th Jan. 1,000 units
22nd Jan. 1,000 units
30th Jan. 500 units
15th Feb. 1,000 units
22nd Feb. 1,000 units

4.  Write short notes on (any four) : [20]
(a) Principles of Double Entry
(b) Petty cash book
(¢) Causes of labour turnover
(d) Debit and Credit note
(e) Types of Discounts
() Types of Overheads.
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Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[5201]-2059

Time :

S.Y. B.A. EXAMINATION, 2017
EDUCATION G-2
(2013 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Write the merits of insight learning method.
Explain the concept of Open University.

Write the educational importance of Heredity.
Explain the concept of problem solving method.
Explain the concept of forgetting.

Write the social characteristics of Adolescence stage.

Answer the following questions in 200 words each (any two) : [20]

(D

(2)
(3)

(4)

What is Secondary Education ? Write the objectives of Secondary
Education.

Explain the factors affecting learning.

Explain the role of school in the development of national integrity
among students.

Explain the characteristics of physical and mental development

at childhood stage.
P.T.O.



3. Answer the following questions in 400 words (any one) : [20]
(1) What is memory ? Explain the steps of memory process.
(2) What are the problems in secondary education ? Suggest the

remedial measures to overcome these problems.

4.  Write short notes in 50 words each (any four) : [20]
(1) Concept of De-schooling
(2) Educational importance of environment
(3) Nature of Trial and Error method
(4) Characteristics of physical development at infancy stage
(5)  “Vishwabharati’
(6) Characteristics of the process of development.

(TS ®UI)
q% : i\ A THUT TUT : 80

gaT — (i) Wd WA Hisfau dEEds SR

(ii) ISEIHSl® 3k G YO 7O SFiferdra.

Tod YIEEl S YOSl 100 v faw (Fed ww) [20]
(1) wHeEa® AET Ugde HEe ol

(2) W faemdiert Waheu r e H.

(3) e Ve wWew o

(4) @ fORU ggdEl g@eddl TR HA

(5) foomom=l HHedT TR HA

(6) HAREEAdT |G fawmE=t ago T
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2. WO Yl S gdR 200 IS fawr (FRvhE  @e) [20]

(1) weafges fagn wmos w2 greafge oot Sfese ferern
(2) AR UROMH FOR HEH TR H.
(3) fomneAtAsd U@ UdhIHd=N A WMesel YfH&T T 6.
(4) TrviEEda wie 9 oFfas fawmmEt o @ &
3. WA YAl 400 ITEE SW el (SRl Th) [20]
(1) TR0 WU % ? R giwaw fafay =@ foeg
(2) WeAHs WuTdiel gHEN &0l ? ™ Q¥ HOFEEl 3UE gEE
4. YIS 50 V= dieqd few fagr (Fo@E |9w) [20]
(1) e ggd=l  ehea
(2) URferd= Jefes Aed
(3) WACYARE UG w@Ed
(4) acaEEde IR fowmt afres
(5) fovaurdt
(6) fawma ufwd=n aAfyms.
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Total No. of Questions—5] [Total No. of Printed Pages—10

Seat
No.

[6201]-2060

S.Y. B.A. EXAMINATION, 2017
INDUSTRIAL MATHEMATICS

(FMG-2 : Operations Research and Optimization Techniques)

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithm table and calculator is allowed.

(iv) Graph papers will be supplied on demand.
1. Attempt the following : [16]

()  Convert the inequalities x; + 2x9 < 4 and 3x; + X9 > 6 into

equations.

(i) Explain the term : Basic feasible solution of LPP.

(i1z) ‘Assignment problem is the special case of Transportation problem’.

Justify.

(fv) When do we say that LPP has alternate solution in Simplex
method ?

(v) Explain the term Gradual failure.

PT.0:



(vi) Write any two assumptions of sequencing problem.
(vit) What is two person zero sum game ?

(viii) Write any two differences between CPM and PERT.

2. (A) Attempt any one of the following : [6]

(1) Find the dual of the following LPP and find the solution

of primal.
Min Z = 3x1 + x9
Subject to,
X1 + x9 > 1
2x1 + 3x9 = 2
X1, X9 = 0.
(i1) Solve the following LPP by Simplex method :
Max Z = 2xq1 + X9
Subject to,
dx; + 3xg < 12

4x1 + x9 < 8

[5201]-2060 2



(B)

[52011]-2060

Attempt any fwo of the following :

(2)

(i1)

[10]

Five new machines are to be located in a machine shop.

There are five possible locations in which the machines

can be located. The cost of placing machines are given

below :

M,
M,
Machine M3
M,

M;

Place
1 2 3 4 5
5 10 25 25 10
1 8 10 20 2
8 9 17 20 10
4 10 25 27 15
10 8 25 27 12

Find the optimal assignment to minimize the total cost.

Solve the following LPP graphically :

Max Z = 3xq + 2x9

Subject to,

—2x1 + x2<

P.T.O.



(iii) Find an IBFS of the following transportation problem by

matrix minima method :

Destination
1 2 3 4 Availability

A 7 2 51 5 30

Origin B 4 4 6 | 5 15

C 5 3 3| 2 10

D 4 1 4 2 20
Requirement 20 | 25 15 | 15

3. (A) Attempt any one of the following : [8]

(i) Solve the following LPP by big M method :
Min Z = 12xq + 20xo
Subject to,

v

le + 8x2 100

xp, % 2 0

(ii) Solve the following transportation problem to maximize
profit by VAM method :

Profit (Rs./Unit)

Destination
Origin || 1 2 3 4 Supply
A 40 25 22 33 100
B 44 35 30 30 30
C 38 38 28 30 70
Demand | 40 20 60 30

[5201]-2060 4



(B) Attempt any one of the following : [8]

(i) Two competitors A and B are competing for the same
product. Their different strategies are given in the following
payoff matrix.

Company B
I I III IV
I 3 2 4 0
Company A II 3 4 2 4
I1I 4 2 4 0
v 0O 4 O 8

Use dominance principle, to find the optimal strategies.
(i) A project has the following data :
Activity Optimistic @ Most Likely Pessimistic

1—2 3 6 10
1—3 6 7 12
1—4 7 9 12
2—3 0 0 0
2—5 8 12 17
3—6 10 12 15
4—7 8 13 19
5—8 12 14 15
6—7 8 9 10
6—9 13 16 19
8&—9 4 7 10
7—10 10 13 17
9—11 6 8 12
10—11 10 12 14

(a¢) Draw a project network.

[52011]-2060 5 P.T.O.



(b) Identify the critical path and determine the expected

project completion time.

4. (A) Attempt any one of the following :

[6]

(i) Determine the optimal solution for the following :

Optimize Z= x? - 10x, + x? — 6x, + x2 —4x,

Subject to,
X1 + X9 + Xg = 7

X1 .‘JC2, .‘)CS = 0

(ii) Find the sequence that minimizes the total time in hours

required to complete the following tasks :

Tasks | A B C D F
Time Ay 3 12 5 2 11
on machines A, 8 6 4 6 1
(in hours) Ag 13 14 9 12 13
Also find the idle time of each machine.
(B) Attempt any two of the following : [10]

(i) A firm is thinking of replacing a particular machine whose

cost price is Rs. 12,200. The scrap price of this machine

[5201]-2060 6



is only Rs. 200. The maintenance costs are found to be

as follows :
Year Maintenance Cost

(Rs.)
1 220
2 500
3 800
4 1,200
5 1,800
6 2,500
7 3,200
8 4,000

Determine when the firm should get the machine

replaced ?

(ii) In a game of matching coins with two players, suppose
A wins one unit of value when there are two heads,
wins nothing when there are two tails, and loses 1/2
unit of value when there are one head and one tail.
Determine the payoff matrix, the best strategies for each

player and the value of the game.

[52011]-2060 7 P.T.O.



(iii) Construct the network for the following activity data :

Activities Predecessor(s)

A

B A

C B

D B

E B

F C

G C

H F.G

I D,E;H

J I

5. (A) Attempt any one of the following : [6]

(i) A project schedule has the following characteristics :

Activity Duration (Weeks)
1—2 15
1—3 15
2—3 3
2—5 5
3—4 8

[5201]-2060 8



3—6 12
4—5 1
4—6 14
5—6 3
6—7 14

(@) Construct the project network.

(b) Find the critical path and the project completion

time.
(c) Also, calculate the total float of each activity.
(ii) Solve the following game by graphical method :

Player B

(B) Attempt any two of the following : [10]

(i) Explain the dominance principle for solving the m x n

game.

[52011]-2060 9 P.T.O.



(it) There are seven jobs, each of which has to go through
the machines A and B in the order AB. Processing times

in hours are given as :

Job Machine A Machine B
1 3 8
2 12 10
3 15 10
4 6 6
S 10 12
6 11 1
7 9 3

Determine a sequence of these jobs that will minimize
the total time T. Also find T and idle time for machines
A and B.

(iii) For the following function, determine the optimum

value :

S(x) = 3x, +2x7 +4x, +x; — 2x,x,.

[5201]-2060 10



Total No. of Questions—5]

[Total No. of Printed Pages—3

Seat
Yo, [5201]-2062
S.Y. B.A. EXAMINATION, 2017
ENGLISH (General)
Paper II
(Study of English Language and Literature)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :—

(2)
(i1)
N.B. —
1. (A

Rainbow : A Collection of short stories
Ed. : Board of Editors, Orient Blackswon
Linguistics : An Introduction

Ed. : Board of Editors, Orient Blackswon
(i) All questions are compulsory.

(i) Figures to the right indicate full marks.

Attempt any one of the following in about 100 words

each : [8]

(i) Trace the development of a short story as a literary
form.

(ii) Comment on the conflict in a short story with the help

of examples.

P.T.O.



(B)

Attempt any one of the following in about 100 words
each : [8]
(i) Discuss the theme of the story ‘Mother of a Traitor’.

(ii) What is the moral of the story “The Bottle Imps” ?

2.  Write short notes on any four of the following : [16]
(i) Organs of Speech
(ii) Weak Forms in English
(itzi) Back Vowels
(fv) Uses of Falling Tone
(v) Word Accent
(vi) Consonants in English.

3. Attempt any fwo of the following in about 100 words each : [16]

(2)
(i1)
(iii)
(iv)

Comment on the ending of the story ‘After Twenty Years’.
Give the character sketch of Kabuliwallah.

Discuss the major themes portrayed in the story ‘Lawley Road’.
Comment on the way Dickens builds up an atmosphere of

supernatural terror in the story ‘The Signal Man’.

4. Write notes on any two of the following in about 100 words

each :

(2)
[6201]-2062

[16]
Derivational and Inflectional suffixes

2



(ii) Prefixation and Suffixation
(izi) Morphemes and Allomorphs

(iv) Morphology as a branch of Linguistics.

Write short notes on any fwo of the following in about 100 words
each : [16]
(i) Types of Style

(izi) Code mixing and Code switching

(iii) Multilingualism

(iv) Difference between British English and Indian English.

[5201]-2062 3



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

Y. [5201]-2063

S.Y. B.A. EXAMINATION, 2017
SPECIAL ENGLISH
(S-1 : Appreciating Drama)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :— (i) ‘The Merchant of Venice’ by William
Shakespeare.
(ii) ‘A Doll’s House’ by Henrik Ibsen.
(iit) “The Old Stone Mansion’ by Mahesh Elkunchwar.

1. Answer any four of the following questions : [16]
(1) Conflict is the soul of Drama. Explain the statement.
(2) Define absurd plays.
(3) Write a note on Tragic plays.
(4) How do hamartia and catharsis play an important role in
drama ?
(5) Write a note on character in drama.
(6) How does contrast play an important role in maintaining the

rhythm of a play ?

2. Answer any one of the following questions : [16]
(1) Analyse Portia’s character.

(2) Compare and contrast Venice and Belmont. Explain the

significance of these two distinct settings in the play, The

Merchant of Venice’.

P.T.O.



3. Answer any two of the following questions : [16]

(1) How does Ibsen succeed in externalizing the inner problems
of the characters by using effective symbols ?

(2)  One of the significant themes of ‘A Doll’s House’ is the problem
of inheritance. Do you agree with the view ? Justify your
answer.

(3) Discuss the significance of the title of the play ‘A Doll’s
House’ ?

4. Answer any two of the following questions : [16]

(1) How is the plight of the traditional joint family depicted in
‘The Old Stone Mansion’ ?

(2) Discuss The Old Stone Mansion’ as a family drama or a social
play.

(3) What is the significance of ‘time’ in ‘The Old Stone
Mansion’ ?

5. Answer any eight of the following questions : [16]

(1) Mention the major characters of the play ‘The Merchant of
Venice’. Explain their types as character.

(2) What features of comedy do you find in “The Merchant of
Venice’ ?

(3) Define problem play and apply the definition to a play that
you have studied.

(4) Write in short about the plot of the play ‘A Doll’s

[5201]-2063

House’.



(5)

(6)

(7)
(8)

9)
(10)

[5201]-2063

Enlist the symbols used in the play ‘The Old Stone
Mansion’ ?

State the importance of setting with reference to The Merchant
of Venice’.

Explain briefly the conflict in the play ‘A Doll’s House’.
What type of character is Ranju in the play ‘The Old Stone
Mansion’ ?

Is Torvald a round or flat character ? Explain.

What is the climax of the play “The Old Stone Mansion’ ?



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat
No.

[5201]-2064

S.Y. B.A. EXAMINATION, 2017
ENGLISH
Special Paper 11

(Appreciating Poetry)

Text :— Auroral Musings : An Anthology of English Poetry

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i)  Describe in detail the features of ballad as reflected in “The
Ballad of Sir Patrick Spens”.

(ii) Explain the metaphysical features of the poem “Broken
Heart”.

(iit) Write a note on the use of hyperbole in “Rape of the Lock,
Toilet Scene”.

(iv) How does “On His Blindness” convey Milton’s Christian faith ?

(v) Write a note on the neoclassical elements in “Alexander’s

Feast : or the power of Music; An Ode in Honor of St. Cecilia’s

»

Day.
PT.0O,



(vi) How are the lovers united and divided in the poem “The

Definition of Love” ?
2. Answer any four of the following : [16]

(z) How is the theme of death handled in Gray’s “Ode on
the Death of a Favourite Cat, Drowned in a Tub of Gold
Fishes” ?

(i) Describe in detail the theme of “Batter My Heart”.

(iiz) Comment on the objective of John Milton in writing “The
Invocation”.

(fv) Is “Sonnet 130” a poem against love ? Give reasons for your
answer.

(v) According to Edmund Spencer, what are the two aspects of
true beauty ? Explain with reference to “Men Call You Fair”.

(i) “Theme of “The Coronet” is temptations of fame, power and
need for humility.” Elaborate.

3. Answer any two of the following : [16]

(z) Do you agree with Wordsworth’s claim in “The Tables Turned”
that nature is a better teacher than books ? Support your
answer with reasons and illustrations.

(i) Write a detailed note on the features of “Dramatic Monologue”
reflected in the poem “My Last Duchess”.

(iti) Write a note on the symbols in the poem “Ulysses”.

[5201]-2064
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Answer any two of the following : [16]

(2)
(1)
(iii)

Describe the element of hope and acceptance in “Ode to Autumn”.
Comment on the imagery used in the poem “God’s Grandeur”.
How does the poem “Dover Beach” elaborate the idea that

love is the cure for our misery ?

Explain any four of the following with reference to the context : [16]

(2)

(1)

(ii1)

(iv)

Drive my dead thoughts over the universe
Like withered leaves to quicken a new birth.
And by incantation of this verse
Scatter, as from an unextinguished hearth
Ashes and sparks, my words among mankind !
An aged man is but a paltry thing,
A tattered coat upon a stick, unless.
Soul claps its hands and sing and louder sing
For every tatter in its mortal dress.
We slowly drove—He knew no haste
And I had put away
My labor and my leisure too,
For His Civility.
I saw their starved lips in the gloam;
With horrid warning gaped wide
And I awoke and found me here
On the cold hill’s side.
3 P.T.O.



(v) We pictured the meek mild creatures where
They dwelt in their strawy pen,

Nor did it occur to one of us there
To doubt they were kneeling then.

(vi) And you, o my soul, where you stand,
Surrounded, surrounded in measureless
oceans of space,

Ceasely musing, venturing, throwing,—

seeking the spheres to connect them.

[5201]-2064 4



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-2065

S.Y. B.A. EXAMINATION, 2017
PHYSICAL EDUCATION (Gen.-II)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(i) Draw neat diagrams wherever necessary.

1. Answer the following in 50 words each (any two) : [5]

(1) List out the Health Related Physical Fitness Components.

(2) List out the various committees to organise tournament
successfully.

(3) List out any five aasnas from Yogasana.

2. Answer the following in 100 words each (any two) : [10]
(1) Describe various problems during tournament organization.
(2) Importance of push-ups exercise in sports.
(3) Write down the procedure of any one aasna from yoga and
write down its benefits.

P.T.O.



3. Answer the following in 250 words each (any tfwo) : [15]
(1) Write down the principles of Physical Fitness.
(2) Write down the detailed analysis of Long Jump in Athletics.

(3) Describe the objectives and importance of Modern Olympics.

4. Answer any one of the following in 500 words : [10]
(1) Draw a neat diagram of Kho-Kho ground and list out the
skills and fouls in Kho-Kho.

(2) Describe the various positions in Suryanamaskara.

(W& ®UI)
9% : & d™ TeRUT TOT : 40
o — (i) Wd WA diefau sreEsd oR.
i) SoERET sE U U i,
({ii) A fowoi gasw HEE FHerd.

1. @ YeEl Yol 50 ¥ SW feRl (wivddl g§F) [5]
(1) SRrafgsd e Ygedd =ew  foral
(2) hiSEYl IIRAl FMEE AEvdek GHAT A6l L
(3) ANMEAia wivrcael ferdtdial 5 emEArEt e foml

2. Weil 9l Yl 100 vgid Sw forer (wivE @F) [10]

(1) hieraYl STRESHMT 998 99 .
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(2) QU I HEM UHNE Wldid Haed @il

(3) wIvramel fedmeia WeRt ATl FHal fogd, @ WER €A

3. Weid YAl el 250 VS Sw foel (el dF) [15]

(1) vRR® Fged=a fa@wm@mEl dd o=

(2) Wt wWifdial @id SSt A1 3T YRR YUFHIO A
(3) onyf siifaftues W= Mgy AFH Wed TR H

4, @AY HUEE Tk Y= 500 wskid IwW el [10]
(1) Wl Yoo HSHE! Thdl Higd GoAyd ®Red 9 YA art
I.

(2) PWAAERE FHdl FEOE quHE FHA
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

Y. [5201]-2066

S.Y. B.A. EXAMINATION, 2017
MATHEMATICS
(MG2 : Discrete Mathematics and Linear Algebra)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(iz) Figures to the right indicate full marks.

1. Attempt each of the following : [16]
(@) Construct a truth table for the statement :
v r(pvr)
(b) State DeMorgan’s laws.
(¢c) Let S(x, y) denote the statement :
“x is square of y” then what is the truth value of
S9, 3).
(d) State Inclusion-Exclusion principle for three sets.
(e) Define subspace of a vector space V.
(f)  Verify whether the map T : R — R defined by

T(x) = x + 1 a linear transformation ?

P.T.O.



)

(h)

2. (A)

(B)

[5201]-2066

Let V and W be vector space over R and T : V — W be
a linear transformation. Show that :

T0)=0.
Define orthogonal projection of a vector 7 on 7 in an inner

product space.

Attempt any one of the following : [6]

(i) Show that —V x(p(x) — Q(x)) and 3x(P(x) A = Q(x)) are

logically equivalent.

(ii) Prove that if n is an integer and 3n + 2 is odd, then

n is odd.
Attempt any fwo of the following : [10]
(z) Show that :
pPrg)—>@Vyq
is a tautology.
(i1) What are the negations of the statements V x(x> > x) and
x(x? =2)?

(iii) (a) There are 32 microcomputers in a computer center.
Each microcomputer has 24 ports. How many different
ports to a microcomputer in the center are there ?

(b) Let L be the set of Washington state license plates,
there are numbers followed by three capital letters.

How many license plates are in the set ?

2



3. (A)

(B)

4. (A)

[5201]-2066

Attempt any one of the following : [8]

(2)

(i1)

Prove that the number of r-combinations of a set with
n-elements, where n is a non-negative integer and r is
an integer with 0 < r < n equals :

n!
Cn,ry=——mm.
rt(m-r)!

Find the number of elements in A1 uA2 uA3 if there
are 100 elements in each set and if :
(a) the sets are pairwise disjoint.

(b) there are 50 common elements in each pair of sets

and no element in all three sets.

Attempt any one of the following : [8]

(@)

(i1)

Let T : V - W be a linear transformation from an
n-dimensional vector space V to a vector space W then
prove that :

rank(T) + nullity(T) = n.
State and prove Cauchy-Schwartz inequality.

Attempt any one of the following : [6]
(i) Let V, W be vector spaces over R. Let T : V - W
be a linear transformation. Prove that T is injective if
and only if :
ker(T) = ).
(i) Determine whether the set B = {(3, 1, —4), (2, 5, 6),

(1, 4, 8)} is basis for R3.

3 PTO.



(B)

5. (o)

(B)

[5201]-2066

Attempt any fwo of the following : [10]

() Let W= {x, y, z) € R®| x =y}. Show that W is a subspace
of R3. Find dim W.

(i) Let T : RZ — R? be defined by T(x, y) = (x + ¥,
x — y). Find ker(T). Hence find dim(R(T)).

(zi1) Show that the intersection of two subspaces W; and W,

of a vector space V is a subspace of V.

Attempt any one of the following : [6]
(i) Determine whether the set of vectors :
p,=5p,=-6x+x* and p, =3 - x)
are linearly independent in P,

(ii) Use Gram-Schmidt process to transform the basis
u ={,1,D,u, =(-1,1,0) and u, =(1, 2, 1) to orthonormal
basis of R3.

Attempt any two of the following : [10]

(i) Find co-ordinate vector of the vector (1, 2) relative to
the basis {(3, 4), (1, -3)}.

(ii) Show that in any inner product space :

N +VIP+llw =VIP=210ulP+2]VI.
(iii) Let P, be a vector space with inner product <p, ¢> =

1
J.P(x) q(x) dx. Find lpll, where p = x2.

-1



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat
Yo, [5201]-2067
S.Y. B.A. EXAMINATION, 2017
MATHEMATICS
[MS-1 : Problem Course Based on Papers

MG-2 and AMG-2]

(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]
(z)  Construct truth table of exclusive or.
(i) Write the negation of Vx (x*>x).

(iit) Show that the following set of vectors is linearly independent
in R3

S = {1, -1, 0), (0, 1, -1), (O, O, 1)}
(fv) Determine ker T, where
T: R 5 R
is given below :

T(x, vy, 2) = x + y — 2.

P.T.O.



(v) Let

f(xa J’): IOO_yZ_XZ,
plot the level curves f(x,y)=0, f(x,y)=51 in the domain
of f in the plane.

(vi) Let z=x?-y*, show that (0, 0) is a critical point. Is it a

local maximum or minimum ?

(vii) Evaluate :

lim (2 +1)i +e ] + ;: k.
(viii) If
7 =x*yi +yzj + yzk ,
then find div/ at (4, 3, 2).
(A) Attempt any one of the following : [6]

(i)  Give direct proof that if m and n are both perfect squares,

then m .n is also a perfect square.

(zz) Show that the number of one to one functions from
a set with r elements to a set with n elements
is

nn — 1) (n — 2) ..... n —r + 1).

[6201]-2067 2



(B) Attempt any two of the following : [10]

(i)  Find the greatest and smallest values that the function :

S(x, y)=xy
2 2
4 x° y
takes on the ellipse ?+7= 1.

(ii) Evaluate by changing the variables :

J‘J‘ (x2 +y2 ); dxdy
A
where :

A ={(x, V)| x? +y2 Sl}_

(zizz) Show that f is differentiable at (0, 0),

where :
3 2
X~ —3xy _
flx, y) = 2+ 5 if (x, y) # (0, 0)
=0 if (x, y) = (0, 0)
3. (A) Attempt any one of the following : [8]

(z) (a) A whatsapp group contains 30 members. They decided
6 members will help trafic police on a particular
day. In how many ways can a six members be selected

to go for the first day ?

(b) How many permutations of the letters ABCDEFG
contain the string DEF ?

[5201]-2067 3 P.T.O.



(i) (a) Let
2 =xz+y,

then show that :
0%z _ x+3z°
Ox0y (3z> -x) |

(6) Show that :

. . (1] : (1)
lim xsin|— |+ ysin|— |=0
(2,9)(0.,0) y x ’

by using ¢-§ definition.
(B) Attempt any one of the following : [8]

() Let A = [aU-] be the matrix representation of a linear

transformation T : R3 — R3 with respect to a basis

B ={ii,, ,, iy}, with

i, =(5,1,3), @,=3,2,2) and i, =(1,2,1)

Find the linear transformation T.

[6201]-2067 4



(zi) Let
F =4x7—2y27+ 2’k .
Verify Gauss Divergence theorem for the function F over

the region bounded by the cylinder 2+ ),? =4 between

the planes z = 0, z = 3.

4. (A) Attempt any one of the following : [6]

(i) For which values of A do the following vectors :

= 1 1 o 1 1 = 1 1
Viz| -2 |, Vas|—m ]|, Vas|-2, -2 A
2°2) 2 2) 2 2

are linearly dependent in R3 ?
G) T : R3 > RS is given by :
Tx,y,z2)=(x+y+2z, x+2z,2x+y+32)
Find kernel and image of T.
(B) Attempt any two of the following : [10]

(z) Let py be a vector space with inner product :

1
<pg>= | p0) g dx,
-1

Find :
(@ |pl for p = 1 — «x

®) dp, @), if p = x and g = x2.

[5201]-2067 5 P.T.O.



(ii) Let R? hvae Euclidean inner product. Use Gram-Schmidt

process to transform the basis :
u; =(1,-3) and u, =(2,2)
to orthonormal basis of RZ.

(ziz) Let V be a vector space. Let Wy and Wy be two subspaces
of V. Then, show that the sum W; + W, defined
by :

W, + W, ={W, +,| w; € W, and w, € W, }

is also a subspace of V. Further, W; + Wy, is the smallest

subspace of V containing W; and W.

5. (A) Attempt any one of the following : [6]

(i) Find T,N,B, k£ and t for the curve

f(t) = acosti + asintf + bk, tel0,2m].

(i1) Suppose f is a vector function and ¢ is a scalar function
having first order partial derivatives in a region D. Then

show that in D :

curl (Q)f) =0 (:urlj7 + grad (I)><jF

[6201]-2067 6



(B) Attempt any two of the following : [10]

(2)

@i1)

(i)

[5201]-2067

Find the work done by the force :
F = Qx+))i +(x+22)] + (3x+y+z)/€

in moving particle along the polygonal path C = OABC

with vertices :
O, 0, 0), A1, 0, 0, B(1, 2, 0) and C(1, 2, 3).

Verify Green’s theorem for F = (2x—1%)i + xyj over the

ring-shaped region D bounded between the circles :
C, x*+y?=1 and C, x? 4yt =09.

Using Stokes’ theorem, evaluate the line integral :

4) e'dx +2ydy — dz
C »

where C is the curve :



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

Y. [5201]-2068

S.Y. B.A. EXAMINATION, 2017
STATISTICS (GENERAL-II)

(Statistical Prerequisites)
(Application of Statistics and Theory of Probability)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory
(ii) Figures to the right indicate full marks.
(7ii) Use of calculator and statistical tables is allowed.

(fv) Symbols and abbreviations have their usual meanings.

1. Attempt each of the following :

(A) State whether the following statements are true or false :
[1 each]

@ "C; = "P,
(ii) Crude death rate provides the probability of surviving

a person during the year under reference.

(Zit) P(AuB)=PA)+P(B) when A and B are mutually

exclusive.
(fv) In AR(1) model, the current observation depends on

immediately two preceding observations.

P.T.O.



(B)

[5201]-2068

Choose the correct alternative : [1 each]

(2)

(i1)

(ii1)

Least square method :

(@) reduces the calculations

(b) does not give estimate for future
(c) reduces the sum of square of errors

(d) is subjective
1
If X%B(n,zj, then the probability distribution of

Y =n - Xis :

(@) B(n, 1/4)

(b) B(4n, 1)

(¢) B(n, 3/4)

(d) B(2n, 1/4)

Let X be a random variable with mean 5 and variance
16. What are the values of mean and standard deviation
of X — 5)/16 ?

(@ 0, 1

b) 0, 0.25

() 5, 1

(d) 5, 0.25



(iv) The partial correlation coefficient lies between :
(@) -1 to 1
b) 0 to 1

() —oo to o

d) 0 to o
(C) Answer in brief : [4x2=8]
(2) Define :

(@) Multiple correlation coefficient

(b) Partial correlation coefficient
(ii) State the components of time series.
(iit) State the additive property of Poisson distribution.
(fv) If a pair of unbiased coins is tossed, obtain probability

of occurrence of at least one head.

2. Attempt any four of the following : [4x4=16]
(A) The following data give the sales (in 000 Rs.) of a company

for the year 1985-1994

Year () Sales (y)
1985 50
1986 82
1987 65
1988 86

[5201]-2068 3 P.T.O.



1989 70

1990 52
1991 90
1992 65
1993 87
1994 43

Calculate 5 yearly moving average.

(B) In a trivariate distribution r;, = 0.7, rig = ry3 = 0.5.
Find :
@) Rgg
@) 7139

(C) Define :

(1) Simple event
(1) Impossible event
(1i1) Exhaustive event
(fv) Mutually exclusive event.
(D) State various measures of fertility and compare them.

(E) Compute mean and standard deviation for the following probability

distribution :
X PIX = x]
-3 0.2
-1 0.4
0 0.3
4 0.1

[5201]-2068 4



(F) Define discrete uniform distribution. Give three real life situations
where this distribution is experienced.
3. Attempt any four of the following : [4x4=16]
(A) Let —» B(n =10, p = 0.3). Find the values of mean and standard
deviation of X. Also find P[X < 1].
(B) The joint p.m.f. of (X, Y) is :

2x +3y x=0,1,2
72 y=123

P(x, y) =
=0 otherwise

Find :
(1) marginal p.m.f. of X
(i) conditional p.m.f. of YIX = 1.

(C) A roulette wheel is divided into 25 sectors of equal area numbered
from 1 to 25. Let X be the number that occurs when the
wheel is spum. Find :

() pm.f. of X
(@) PIX > 15].

(D) State axioms of probability.

(E) Describe AR(1) model.

(F) Define the following terms :

(z) CDR
(zz) STDR
(zii1) CBR
(iv) GFR.
[5201]-2068 5 P.T.O.



4. Attempt any two of the following : [2x8=16]

(A) Compute CDR and STDR for the following two towns. Take

population of town A as standard population :
Town A Town B
Age Group Population | No. of | Population | No. of
(in ’000) Deaths (in ’000) |[Deaths
0—5 15 300 10 280
5—30 30 600 25 400

30 and above 20 800 15 750

(B) Explain the following methods of estimating the trend values
in a time series :

(i) Method of moving average
(ii) Method of least square.

(C) The probability of no misprint in a page of a book is 0.15.
Find the probability that a page selected at random from this
book contains :

() at most 2 misprints
(i1) exactly 2 misprints
(iz1) at least 2 misprints.
(D) Define permutation and combination, also prove that :

[5201]-2068

@ "C, = "C

r n—-r

i) "C, + "C,, = "*iC,



5. Attempt any one of the following : [1x16=16]

(@)

®)

[5201]-2068

Given the following data on three variables X, X, and
X,

X, =103.9214 X, =93.9714 X, =99.7357
o, = 24.4492 oy = 45.493 65 = 2.9315
ris = 0.4104 ri3 = 0.7357 rog = 0.2326

(2) Find the equation of plane of regression of X; on X, and
X.

(i) Estimate the value of X; when X, = 98 and X; = 20

(ii1) Find the value of R, o4

(iv) Find the value of ry ;.

(i) Define bivariate probability distribution.

(i1) The joint p.m.f. of (X, Y) as follows :

|1 o 1 2
-2 1/9|1/27(1/27| 1/9
1 2/9 0 1/9 | 1/9
3 0 0 1/9 (4/27
Compute :
@ PX > 0)

Gi) PX < 0,Y > 0)

(zii) P(X is odd)

(tv) P(Y is odd and positive)

(v) The conditional distribution of X when Y = 1.
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[5201]-2069

S.Y. B.A. EXAMINATION, 2017
LOGIC AND METHODOLOGY OF SCIENCE
(G-II : Formal and Relational Logic)
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following : [20]

(2)

(1)

(iii)

Explain the modern criticism of the traditional square of
opposition.
State and explain using relevant examples, the form, use and
restrictions on the revised rule of existential instantiation.
Prove validity of the following arguments (any two) :
(@) ®I[Sx o (Tx o Ux)]
x)[Ux o> (Vx . Wx)] / .. ®)[Sx D (Tx D> Vx)]
b) x(Cx o ~ Dx)
Gx)Cx . Ex) / .. (Ix) (Ex . ~Dx)
(c) All dogs are faithful. Alex is not faithful. .. Alex is not
a dog. (Dx = x is a dog, Fx = x is faithful, a).
d) ®IBx v Vx) D (Ox . Dx)] / .. (x) (Bx D Dx).

P.T.O.



(iv)

[5201]-2069

Symbolize any five propositions using the symbols given in

brackets :

(@)

®)

(c)

(d)

(e)

")

()

(h)

All houses built of brick are warm and cozy.

(Hx = x is a house, Bx = x is built of brick,
Wx = x is warm, Cx = x is cozy).

Each passenger is in tourist class if and only if he is
not wealthy.

(Px = x is a passenger, Tx = x is in tourist class,
Wx = x is wealthy)

If anything is lost, and nobody tries to look for it, it
will not be found.

(Ox = x is lost, Px = x is a person, Lx = x is looked
for, Fx = x is found)

If any trains are delayed, then some passengers will be
unhappy. (Tx = x is a train, Dx = x will be delayed,
Px = x is a passenger, Hx = x is happy).

Helen likes only good looking men.

(Gx = x is good looking, Mx = x is a man, Lxy = x
likes y, h)

A dead lion is more dangerous than a live dog.

(Lx = x is a lion, Gx = x is a dog, Ax = x is alive,
Dxy = x is more dangerous than y)

John loves only Mary

(Lxy = x loves y, j, m)

God helps those who help themselves.

(Hxy = x helps y, Px = x is a person, g)

2



2. Answer any fwo of the following : [20]
(z)  Explain the method of proving invalidity of arguments in predicate
logic using relevant example.
(ii) Explain the attributes of relations and state their symbolic
representation.
(iii) Prove validity of the following arguments (any two) :

(@) [Ex > (y) (Fy > Gxy)l
Gx)Ex . Jy) ~ Gxy]l / .. (3x) ~ Fx.

(b) All circles are figures. Therefore, all who draw circles,
draw figures. (Cx = x is a circle, Fx = x is a figure,
Dxy = x draws y).

() Anita is taller than Beena. Beena is taller than Charu.
Therefore Anita is taller than Charu. (Txy = x is taller
than y; a; b; ¢)

(d) (x) (Cab o Dxb)

(3x) Dxb o (3y) Dby / .. (3x) Cax D (dy) Dby.
(fv) Prove invalidity of any two of the following invalid
arguments :

() All studens are intelligent. Some spiders are intelligent.
Thefore All students are spiders. (Tx = x is a student,

Sx = x is a spider, Ix = x is intelligent)
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®)

(e)

(d)

(x) [Mx D (Nx . Ox)]

(3x) (Px . Nx)

Gx) Px . ~ Ox) / .. x) Mx O ~ Px)

(x) (Cx o ~ Dx)

~ Cj / - Dj

All soldiers are brave. Rahul is brave. Therefore, Rahul

is a soldier (Sx = x is a soldier, Bx = x is brave, r)

3. Answer any one of the following : [20]

(@)

[5201]-2069

(@)

®)

Prove any three of the following theorems with the help
of axioms given below : [15]
Axioms :

() (p vp DOp

2) g>(@va

3) (p va D@ Vv p

4) (p vigvrol@v(vr)

6) (@>r) > vag >pEvVvri.

Theorems :

1 — (pp>2~aq 2(@>D~ p

2) — p>a@d>@>r)>((p >r)

B3 — ~pvVvop

4 — p>p

B) — p > (p v p.

State the rules of formation and the rules of transformation

of the P.M. System. [5]

4



(i1) Prove validity of any four of the following arguments : [20]

(@ (x)[Ex o (y) Fy oIyl / » x) Ex o (y) (Fy > Iy)
b) x [Nx 2 Ox) / .. ®){Px > [(y) (Py > Ny) > Oxl]}
(¢) (Gx [Lx o (y) My / - (x) [Lx > (y)My]
d x) [Px D Gx)/ .. x) [{(Dx.Ex) . (wI(Dy.Ey) > ~ Gyl}
> ~ Px]
(e) (x) [Ax D ~ Cx) / . Wa D [(x) (Wx D Cx) D ~ Aa]
#H ® @Qx D Rx)
(x) (Sx o Tx)] / ~ (x) (Rx o Sx) o (y) (Qy > Ty).
4.  Write short notes on any four of the following : [20]

(z)  Obtaining proposition from a propositional function

(ii) Preliminary requirements of P.M. system

(itt) Need for predicate logic

(fv) Rule of quantificational negation

(v)  Enthymemical arguments

(vi) Revised form of rule of universal generalisation.

(AS ®UI)
% : WA A TEHIT TOT : 80
g :— (i) Wd U Gefau oJevds &
(ii) ISEheSlS ek T YO YU geifedr.
(iii) TEUMAIS T@ TUST UYAUAHT T,
[52011-2069 5 P.T.O.



(2)
(i)

(iii)

(Iv)

[5201]-2069

HIAE Al IR A [20]

faumfadly IRaEde snyfe dET TR FA

feqeaT= et om=a faar=n geaia staxi=i Jear efor arm
TEMER T FH.

TIEAcUh! HUCRN g JaREl Jgaa (96 w0

(@)

®)

(c)

(d)

(x)[Sx o (Tx o Ux)]

x)[Ux D (Vx . Wx)] / - (x)(Sx D (Tx D Vx)|

(x)(Cx o ~ Dx)

(@x)Cx . Ex) / . (3x) (Ex . ~Dx)

gd Bl YR sTgard.  SfoRd UIHIfUIeR AR, WUH  Sfeied
FAT L. (Dx = x HA AR, Fx = x UHIUE 3R, a).

®)[Bx v Vx) o (Ox . Dx)] / ... (x) (Bx o Dx).

S

(@)

®)

feen o= amR &eq @da faam f==ifed a0 (e

foerft aiveiell @ R SRR MUl AR STEd.
(Hx = x R &%, Bx = x fael @iycal 3, Wx = x
IR AR, Cx = x IANHSHEl 3TR)
Y% JAE SR #iHd 9d, WS e e (IRE) oA
YA .
(Px = x Ja®l &g, Tx = x 9WM &4 Ja™ &d,
Wx = x $fiHd 3TR)

6




(c)

SR el eldel, ST I o YNYTEEl YIS shell AR, o
d HISUR TR
(Ox = x A 3, Px = x Ol 3TE, Lx = x &

S, Fx = x HUS/AUSAd &%)

(d) R HIeAl MEl WA eTelt, W HE YA ARS i
(Tx = x ME &R, Dx = x RMNA I, Px = x T R,
Hx = x @9 3Ed).

(e) Tl e <@ YEH S
(Gx = x T@UM M, Mx = x I¥9 &R, Lxy = x o y
smaedl, h)

(H Ta fgg = S0 wHAUe T HFRES  STHEdl
(Ix = x fag &, Gx = x FA 3@, Ax = x f&d R,
Dxy = x @ y Y& €ioKcEs  39dal)

(g0 WM B Wed HUSR YA Hl
(Lxy = x @ y o UH &, j, m)

(h) AT Hed HOTIHENE ¥R HEd il
(Hxy = x @ y & Hed &%, Px = x =&l 3R, g)

2.  HIOE A SR oA [20]

(i) a9 qeITETde Joaaer STgeadl g HuarEl Tgdl  3eeLur=l

MR TS .

(i) fTeca way=n dftr=l = fo=ieAee We &9

[52011-2069

7 P.T.O.



(iii) @il ®vcaE g Jlaarst JHa fag wa

@v)

[5201]-2069

(@)

®)

(c)

(d)

x)Ex D (y) (Fy o Gxy)l
@x)IEx . 3y ~ Gxyl / .. (3Fx) ~ Fx.

Hd el SH STHAM. TUH Iged GV el STHT Hledld.
(Cx = x d9gx8 3, Fx = x &hdl oM, Dxy = x @ y
hied)

It & SiAruen S9 S, o € ereuen S90S, WUH i
& WU SU S

(Txy = x ® y U&m 39 3ME, a, b, ¢

(x) (Cab o Dxb)

(3x) Dxb o (3y) Dby / .. (3x) Cax o (Jy) Dby.

Greflcideh! HIvEEl el sgeal f¥9g &

(@)

®)

(c)

(d)

gd faenefl gfgum s9aM. ®ledl U THAE. A He foened
@il Tad. (Tx = x foemeff 3m8, Sx = x &A@ IR,

Ix = x §fgaA 3R)
(x) [Mx o (Nx . Ox)]

(3x) (Px . Nx)

Gx) Px . ~ Ox) / .. (x) Mx O ~ Px)

(x) (Cx > ~ Dx)

~ Cj / . Dj

gd dfte IR YA, Tgd I[W AR, WUA @ HAE AR
(Sx:xﬁﬁ%"%,Bx:x?{(m,r)



3. WIdUm! HIUAE TR W oA [20]
(i) (a) WUl HIOME 09 THI JaaRe= siuR fag &4, [15]
HA™IX :
(1) (p v p op
(2) q o> vy
3 (pva D@ vVvop
4) (pv(gvro(@v (Vi)
b)) (>r)>Up vag D Vv

‘;l’ﬁ'a :
1 — (p>~aq >5@>~ p
2 — p>qg9 >Ug>r)>(p D)
B — ~pvVvop
4 — p>Op
B5) — p > (p v p.
(b) HiLUH. YUTel wevid fEw enfr wuREda frEw @i (5]
(i) Treleds! SR AR gaarEt gaaa fag w0 [20]

(@) x) [Ex o (y) Fy o Iy)] / . x) Ex o (y) (Fy o Iy)
b) x) [Nx o Ox) / .. ®{Px o [(y) (Py o Ny) o Oxl}
() (& [Lx o (y) My / . (x) [Lx D (y)My]
d & [Px o Gx) / . x [{(Dx.Ex) . (y)I(Dy.Ey) o ~ Gyl}
D ~ Px]
) x [Ax D ~ Cx)/ .. Wa D [(x) (Wx D Cx) D ~ Aa]
H & @Qx D Rx)
(x) (Sx > Tx)] / .. x) (Rx D Sx) D (y) (Qy o Ty).

[52011-2069 9 P.T.O.



4. GE@Ys! RER wier foar fowr [20]
(i) foure woAuRE faum SuRed wvdren gl
(Gi) WA JUTC=N aqd/Yigtie TS
(iii) Too qRIMS=T  SATETIR
(jv) FEAUsE Ty f=Em
(v) EEFERl PR s

(vi) Tt (Afyas) TE=NEwETET fEm (gl ee).

[5201]-2069 10
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[5201]-2070

S.Y. B.A. EXAMINATION, 2017
SOCIOLOGY
(Group A (G2) : Population and Society)
Or

(Group B (G2) : Introduction to Social Welfare and Social

Time

Legislation in India)

(2013 PATTERN)

: Three Hours Maximum Marks : 80

N.B. :— (i) Attempt Group ‘A’ or Group ‘B’

(ii) All questions are compulsory.

(iit) Figures to the right indicate full marks.

(Group A (G2) : Population and Society)

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Write the Theory of Population by Thomas Malthus.
Explain the importance of population education.
State the two types of migration.

Give the information about HIV.

Write the short note about Aadhar.

State the meaning of Population Studies.

P.T.O.



2.  Answer the following questions in 200 words each (any fwo) : [20]
(1) Discuss the scope of population studies.
(2) Elaborate the characteristics of Indian Population.
(3) Explain the effects of population growths on Economical
Development.
(4) Explain the Marxist and Communalism perspective about

population.

3. Answer any one of the following questions in 400 words : [20]
(1) Discuss the Demographic Transition Theory about population
growth.
(2) Explain the types of population policy.

4.  Write short notes on (any four) : [20]
(1) Family Welfare
(2) Biological Factors of Fertility
(3) Factors Affecting Population
(4) Meaning of Population Policy
(5) Gender Development Report

(6) Correlation between Population and Poverty.

(AS wUiaw)
d% : W aE THUT 7T : 80
g — () e ‘' fher e ‘9’ gyAdrer dreeml.
(Gi) |d Yy defaun mavas &R
(iii) IEIHRSIG H YAE YU U SRifadm.
(jv) WIS H@ IS WLAUGER T
[5201]-2070 2



1.

2.

RICHEC
TS YIAE Yeadhi 100 ¥R SW faw (FoeE \w) [20]
(1) o\E Acgde aegen faga fomn
(2) TihEed fwemmr #Aed W o
(3) T A YHR .
(4) vugH fawht wfedt =
(5) ‘smur’ foerit feu foran.
(6) TrhEEA AWl AY AT

TS IeEl TS 200 v IRl (@ivdEl g@e) [20]
(1) g AIEET A= =9 F.

(2) YRAME deEerd At fave .

(3) d©ihged dErar afds fahmer gomu ufiom T .

(4) <wgen fawr gedaE 9 el geteH TR &

Qe hIvdel Ueh geArEl 400 vissid Sw fomr [20]
(1) TsRuEa der=l wau ggarEt 9fas == .
(2) ST UMY YRR TS

qreerd fewr fagr (SIvdel =) [20]
(1) hed e

(2) MR SaeTSiEa uew

(3) CREEIS YH[E ARUR  HTH

[52011-2070 3 P.T.O.



(4)
(5)
(6)

(Group

rehEE Ao 31
famure faw™  s1eam«
g oo SIRGadiel gede.

OR
B (G2) : Introduction to Social Welfare and Social

Legislation in India)

1. Answer the following questions in 100 words each (any four) : [20]

(D)
(2)
(3)
(4)
(5)
(6)

(1)
(2)
(3)
(4)

Write the concept of Empowerment.

Explain the meaning of Social Welfare.
Write the objects of Mid Day Meal Scheme.
Discuss types of Human Rights.

Write the concept of child trafficking.
Explain PCPNDT Act, 1994.

Answer the following questions in 200 words each (any fwo) : [20]

Discuss the issues of Dalit in India.

Write the issues and problems of disables.

Discuss the History of Social Welfare in India.

Explain the role of NGO’s in dealing the issues of marginalized

groups in India.

3. Answer any one of the following questions in 400 words : [20]

(1)
(2)

[5201]-2070

Explain the Right to Education Act, 2011.
Elaborate the protection of women from Domestic Violence Act,

2005.



4.  Write short notes on (any four) :

(1)
(2)
(3)
(4)
(5)
(6)

Fundamental Rights

Bonded labour

PESA Act, 1996

Civil Society

National Commission for Scheduled Tribes

Social justice.

(WS ®|UIa)
TE. la.i

1. TFd YeEET YAl 100 vSid S fowl (e uw)

(D)
(2)
(3)
(4)
(5)
(6)

AT om=t Gheaqr foral.

st deammenr A9 TR FH
R I S E R S E i M) B A B
[ e o | O B | O o
far fiem =m=oh wfdey e, 1994 W= &

2. WA YTl IW YS! 200 IS for@l (HivdE @)

(1)
(2)
(3)
(4)

YAl Solldr=al 9vaeR =<1 <.
AU Y F HHE o
YAl 9THISTeh  hodom=al  sfder@r=l <=1 .

[20]

[20]

[20]

IRAiel faaifaes Ter=a eievid  WRyat  Feer=
h .

3. WA RIUARI Teh IR IW 400 =@ for@

(D
(2)

[52011-2070

2011 =1 TYeromEn dFk &EQ W &Y

[ ] n L
|

Jfen=ll ==

[20]

FIEfah fRaEmOgA o @am &om 2005 @1 wEe fovk

<h .

P.T.O.



4, diewE fowr fag (S0GE 9w) [20]
(1) HAYd &Fh
(2) @I
(3) 1996 = YA HRI
(4) TR HES
(5) onfcardt SHEET U™ SITEM

(6) HMHISsh —ME.
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[Total No. of Printed Pages—3

Seat
o, [5201]-2071
S.Y. B.A. EXAMINATION, 2017
SOCIOLOGY
(S-1 : Foundations of Sociological Thought)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer the following questions in 100 words each (any four) : [20]

(1) State the impact of French Revolution on Society.

(2) Define social facts. (Emile Durkheim)

(3) Write the characteristics of Ideal types. (Max Weber)

(4) Write the criteria of Dominant Caste given by M.N. Srinivas.

(5) Write the background of emergence of Sociology in India.
(6) Write the Law of Three Stages (Comte’s).

Answer the following questions in 200 words each (any two) : [20]

(1) Elucidate the Durkheim’s theory of religion.

(2) Explain the Weber’s theory of social action.

(3) Describe A.R. Desai’s view on the social background of Indian

Nationalism.

(4) Explain the Ghurye’s theory of caste.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain the Marx’s theory of class struggle.
(2) Discuss Dr. Ambedkar’s theory of origin of caste.

4.  Write short notes on (any four) : [20]
(1) Egoistic Suicide (Durkheim)
(2) Alienation (Marx)
(3) Interpretative Sociology (Verstehen) (Max Weber)
(4) Indology (G.S. Ghurye)
(5) Development of Sociology in India after Independence Period
(6) Enlightenment.

(AS ®UIa)
9% : W ae THUT TOT : 80
oAl — (i) ¥Wd YA drefau eead .
(ii) ISEIHSl® 3k YA YO O Sifordra.
(iii) TRVEE H@B IUSH YRAUAS] GBI

1. | geE gdsl 100 Y= S farl (FivEl |mw) [20]
(1) 4 T Hid=r gaEedd giom  fomn
(2) WIS deal waren fas (Tfia SWEmEd)
(8) ARy WEue dftree fomn (He aeR)
(4) TATA. siffeg Al diffdeean 9YEl S
(5) YRAT THSETST=A 3edrEl URayH  fore.
6) M srawyrEn fam famr (St wim)

dis
4]
e
2
3
el

2. WO gyl Yds! 200 vsgid SW faw (SivmEl ) [20]
(1) s uw=n faga favre +u.
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(2) dat=n gmifse R fagia s &

(3) YRdE UsgaRrAl gmifse URdyH foseien e, O ae foewe
JuUH  H.

(4) 1 Sl fagE TR w.

3. WISl FHIVAR TR Y™ 400 vgid SR fefer [20]
(1) wed=n o geien faga e &3

(2) Tl HeHEU=AT e o fagaEt ==l

4. deRE foor fam (Fod =mw) [20]
(1) ofeaRl 3THel (STEiEH)
(2) O/ (HE)
(3) STAYUIHEG HHNRNS (Fqaiy usd) (T dear)
4) gt (99)
(5) TEGA WIKHaR YRAT  GHSRTST  fasm
(6)  HeIA.
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Total No. of Questions—4]

[Total No. of Printed Pages—3

o [5201]-2072
S.Y. B.AA. EXAMINATION, 2017
SOCIOLOGY
S-2 : Indian Society : Issues and Problems
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
1. Answer the following questions in 100 words each (any four) : [20]
(1) Write any two causes of Social Problems in India.
(2) Give meaning and nature of sex selective abortions.
(3) Write any two causes of Regional Imbalance.
(4) Write any ftwo reasons of crimes related to environment.
(5) Discuss social problems of the Aged.
(6) Write problem of corporate crime in brief.
2. Answer the following questions in 200 words each (any two) : [20]
(1) Discuss the characteristics of social problems.
(2) Explain nature and causes of rise of religious fundamentalism
and intolerances.
(3) Explain the nature and causes of corruption.
(4) Discuss the problems of cyber crime in India.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Explain various causes of Gender Inequality and discrimination.
(2) Discuss Drug abuse and Suicide related problems among

youth.

4.  Write short notes on (any four) : [20]
(1) Conflict Approach
(2) Nature of Poverty
(3) Any two problems of religious Minority
(4) Crimes related to women
(5) Criminalization of politics

(6) Role of state in planning.

(TS ®UI)
9% : i A THUT TUT : 80
AT — (i) ¥ WA Giefau oeRad e
(i) SSARE® AF YOl O SFiferard.
({ii) TEHESt HB TUST GEYAehT UgrEl.

1. woe YWAE J&& 100 =[S feRl (g |9r) [20]
(1) YRAE SEifSeh 9=l HIvdEl = ®R0 =
(2) wl yueeEn w1 9 @W®9 9.
(3) YRR SHHAIAET HIUHE &M HRU foel
(4) vateRomEl fRTEld TRt wivndEl @M &R for.
(5) g GHISS HEEE! F9 6
(6) WHaIgs (WfURe) Tedt FHEN Oreda o
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2. WOlo WEAED YASI 200 IEE SW @Rl (HIUE @) : [20]
(1) gt goeren aftmea=t == &
(2) wifie Hadeare d JUESdd WEY 9 HRO TR 6.
(3) YRENE HRU 9 @WEY TR HA
(4) WRAE @A &ede R gHeEE 99l &,

3. WPoUR! HIUAR Twl WAE 400 IeE[ W fosr [20]
(1) femua samar 9 faumasn fafay #ro s @
(2) ot frEla smell uggle a9 9 oncHgen aifgwt ==l @

4. dreEm feu femr (FvEmE 9w [20]
(1) wesiaRt gsrehA
(2) Tifca @&y

(3) IfHeh SCUHEATHRIAT HIVAR SF  THEI
(4) wfeereht e 1=

(5) USTRUME TRl

6) TS TSt e
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Seat

No. [5201]-2073

S.Y. B.A. EXAMINATION, 2017
ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY
General Paper 11
(Outline of Political, Social and Economic Institutions
of Ancient India) [600 B.C. to 1200 A.D.)]
(2013 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]
(1) Explain the nature of Monarchical state.
(2) State features of ‘Theory of Kingship’ of the Guptas.
(3) Write in brief functions of Samiti.
(4) Which were the four Varnas in ancient times ?
(5) Discuss about the industries in ancient times.

(6) State the different weights in ancient times.

2. Answer the following questions in 200 words each (any two) : [20]
(1) State the sources for the study of Ancient Indian Institutions.
P.T.O.



(2) Take a review of Judiciary in Ancient times.
(3) Discuss the various types of marriages in Ancient India.

(4) Explain the nature of internal trade in Ancient India.

3. Answer the following questions in 400 words (any one) : [20]
(1) State the important Republics in Ancient India and discuss
their salient features.
(2) Take a review of important universities in Ancient India
and state the nature of education system in those

Universities.

4.  Write short notes on (any four) : [20]
(1) Saptanga theory of state
(2) Concept of ‘Vidatha’
(3) Function of Ministry
(4) Nature of Ashrama system
(5)  Guilds

(6) Ancient Punchmarked coins.

(W& wUTaR)
9% : dF qE THUT TOT : 80

oM :— (i) WA Yy Hiefau dEvIe e
(ii) SERSle 3H YA U U e
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1. o 9vEl S YS! 100 vsSid faer (Sivder 9mw) [20]

(1) TR TS WEY WS H.

(2) T Ueg fagaEt aftmes @
(38) IdEr =wd diesa fow

(4) YN F@A IR 9u &g ?
(5) YR YRAdA SRS 9= .

(6) YEH wleerdia fafay osH THE ®H

2., WO YIAET SW Udw! 200 v<[ fawr (FohE W) [20]

(1) YA 9RdGE 9= =T 9ieH 9T

(2) YN el I aLS= el =4

(3) YEMH YRd i@ Woied fafay faaw yer=l == &4

(4) YA YRArE 3idid AN WeY W &

3. WO YAl W 400 V<A g (FvEE ) [20]

(1) YA YRAd Herel RS |R[A e 3ad  aferseadl ==t

.

(2) YN vRade Teere foamdierEn sedn weA faardterda frammsd=

WEY T
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4. geRd feor fe@r (WUEl W@R) [20]
(1) T @ faga
(2) ‘fogg’ & Hheu
(3) witHSe T
(4) SHAATID TWEY
(5) &l
(6) U SEd TR

[5201]-2073 4



Total No. of Questions—4]

Seat
No.

Time :

N.B.

Three Hours

S.Y. B.A. EXAMINATION, 2017
MATHEMATICAL PRE-REQUISITES (Gen.-II)
(2013 PATTERN)

:— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

(zti) Use of calculator is allowed.

Attempt any ten of the following :

(a)
®)
(c)
(d)

(e)
02

Find log, 16.
Using logarithm, solve y = 950 x 80.
Find antilog (2.5855).

Is the following function homogeneous ? If yes,

degree :
z=x" + 2xy2 +y3.

Define Homogeneous function.

If
y = In x,
find :
dy
dx

[Total No. of Printed Pages—4

[5201]-2074

Maximum Marks : 80

[20]

state

P.T.O.



@)

(h)

(2)
()

(k)

(2)
(m)

Given :

= Pt
find :
z,.
Evaluate :
J.9e_3xdx.

Define Improper integral.

Evaluate :
3
I2x3 dx.
1

Determine the order and degree of the

42 5 43 3
(d—;)J + (d—J;) +sin x = 0.
X X

What is differential equation ?

equation :

What is difference equation ?

2. Attempt any two of the following :

(a)

®)

[5201]-2074

Solve the difference equation :
y, =6y, ,,t=0.
Determine whether the differential equation :

S5yt dy + (5y° +81)dt =0 exact.

differential

[10]



(¢) Solve :

4
J.(x_l/2 + 3x1/2)dx.
1

3. Attempt any two of the following : [20]

() Find the present value of $ 750 to be paid four years from
now, when the prevailing interest rate is 10 percent, if interest

is compounded annually.

(b) Giveny = In(2x2 — 20x + 5), find the critical values and determine

the function is maximized or minimized.
(¢c) (@) Solve for x interms of y

log, x =log, 3 + log, y.

(1) Given :
_ a2x+3y ,
find :
z, and 2,y
4. Attempt any two of the following : [30]

(a) Find the price and quantity that will maximize total revenue,

given the demand function :
P = 12.50 ¢0-005Q
Check the second order condition.

[5201]-2074 3 P.T.O.



(b) () Evaluate by using integration by parts :
3
_“5xeer2 dx.
1

(i1) Solve :
t* dy + 3yt dt =0,
(¢c) Explain in detail “The Harrod model”.

[5201]-2074 4
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Seat

- [5201]-2077

S.Y. B.A. EXAMINATION, 2017
APPLIED MATHEMATICS
(AMG-2 : Multivariable Calculus I and II)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Attempt each of the following : [16]
(2) State mean value theorem for function of two wvariables.

(zz) Find Jacobian

ER)
o(u,v)’

where x+y=u and x=uv.

(iit) By using ¢—§ definition of limit, show that :

lim (o] )=0

(x,y)—>(0,0)

(fv) Change the order of integration :

S —

1
[ fGe.y) dydx

P.T.O.



(v) If
f(t)=sinti +sin %j_-i-];
then check whether s is continuous at ¢ = 0 ? Justify.
(v If
() =ti +tj +tk,
find the length of the given curve, for 7<[0,1].
(vii) If
f(x, V,z) = xleJr y]_'+ zxk ,

then find divf .

(viii) Give an example of a vector function ;; which has constant

direction but non-constant modulus.

2. (A) Attempt any one of the following : [6]
(1) Find the area of the ellipse :
2 2
x—2+y—:1,
a b*
(1) Show that f is not differentiable at (0, 0) where

2

f(x, ) = —2— if (x,3) # (0, 0)
X +y

=0 if (x,»)=1(0,0)

[6201]-2077 2



(B) Attempt any fwo of the following : [10]

(i) If z is a function of x and y and if :

v

x=¢e+e"’, y=e"-¢
then show that :

0z Oz oz oz
ou ov ox oy’

(zi) Discuss the maximum or minimum values of the

function :

fx,y)=xy (1-x-y).

(@ii) If f(x,y) is a function which is continuous at a point
(@, b) then show that f(x, b) is continuous at x = a

and the function f(a, y) is continuous at y = b.
3. (A) Attempt any one of the following : [8]

(z) (a) Find the derivative of f at point p(x,, y,) in the

direction of Vv, where
f(x,y)=tan™" [ﬁj ++/3 sin”" (xz—yj, V=3i-2j
Y

and p(x,, y,)=(1,1).

) If

xy oyl =l

f(x,y)={
-xy , |yl > x|,

then find f,,(0,0).

[652011-2077 3 P.T.O.



(B)

4. (A

(B)

[6201]-2077

(i) Find the volume of the ellipsoid :

2 2 2
YL
4 9 16
Attempt any one of the following : [8]

(i) State and prove Gauss Divergence Theorem.

(ii) Verify Stokes’ theorem for the field :
1?=3yf—xz}+yzlg

over the surface S of the paraboloid x* + y* =27, bounded

by the plane z = 2.

Attempt any one of the following : [6]

(1) Let g be a continuous vector function in an open sphere
D. Then prove that f is conservative in D if and only

if there exists a scalar function ¢(x,y,z) defined in D.

st. F=V¢ in D.

(i1) Verify Green’s theorem in the plane for :

Cﬁ (xy+y?) dx + x*dy
C

where C is the closed curve of the region bounded by

y = x and y = x2.

Attempt any fwo of the following : [10]

(i) For the following curve find T,N,B, K and T, where

F=ci+e’j+ 2t k.



5.

[652011-2077

(A)

(B)

(@22) (@) Show that the vector field :
F =(?cosx+z%)i +(2ysinx —4)j +(z> —xp)k
is irrotational.
b) If
V = (x+3y)i +(y—=22)j +(x+ az)k
is solenoidal, then prove that a = -2.

(ii) Find the length of the curves :
(@ T = 3ti +41j +5log sect k, t € {O, g}

(b) 7 =¢cos2ti+e'sin2tj+ek, te[l,4]
Attempt any one of the following : [6]

(i) Let 7 be a derivable function on J =(a, ) such that

u(t)=0, for all reJ. Then prove that ; has constant

direction on J if and only if # Xd—b;=6, for all re7J.

(ii) By using parameterization find the surface area of a sphere
of radius a.
Attempt any two of the following : [10]
(i) Find the work done by the force :
F =3x%i +Qxz—-y)j +zk
in moving a particle along the curve C given by :

x> =4y,3x* =8z, x €0, 2].

5 P.T.O.
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(i1)

(iii)

Find the area of the cap cut from the hemisphere
P+ +zi =2, 220
by the cylinder »?+,>=1.

Suppose f, g are vector functions having first order
partial derivatives in a region D. Then in D, prove

that :

grad(f. 2)= (2. V)f +(f. V) g + gxcurl f +f xcurl g
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Seat
No.

[5201]-2078

S.Y. B.A. EXAMINATION, 2017
APPLIED STATISTICS (General-II)

Applications of Statistical and Theory of Probability

Time

N.B. :—

: Three

(@)
(i1)
(ii1)
(iv)
()

(2013 PATTERN)
Hours Maximum Marks : 80
All questions are compulsory.
Figures to the right indicate full marks.
Use of statistical tables and scientific calculator is allowed.
Symbols have their usual meaning.

Graph papers will be provided on request.

1. Attempt each of the following :

(@)

®)

State whether the following statements are true or false :

[1 each]

(z7) If events A and B are mutually exclusive, then :
P(A n B) = P(A).P(B)

(@) If ri9 = 1, ryg = r9g = 0, then R;93 = L
(zii) If X follows P(5) distribution, then its variance is 5.
(tv) Value of F(x) lies between 0 and 1.
Choose the correct alternative : [1 each]
(@) If oy =2 09 =1, 09 =5 and rigo = 1, rig = rog

= 0.5, then multiple regression coefficient b9 g is :
A 1

B 2
(C) 05
(D) O

P.T.O.



(c)

[65201]-2078

(ii) Let A and B be any two events associated with an experiment.
Suppose that P(A) = 0.5 and P(A U B) = 0.9, then what
will be the value of P(B) if events A and B are mutually
exclusive ?

(A O

(B) 04
(C) 045
(D) 05

(iir) If X follows binomial distribution with parameters
(10, 0.5), then var(X) is :

(A 5
B 1
(C) 10
(D) 25

(iv) For a discrete random variable X, if E(X?) = 20 and
EX) = 4, then V(2X + 5) will be :

(A) 16
(B) 20
C) 14
(D) 10

Answer in brief : [2x4=8]

(i)  Define probability of an event.

(i) State any two practical situations where multiple regression
can be used.

(Zi1) If X and Y are two independent discrete random variables

with o2 =16, 6} =4 and corr(X, Y) = 0.8 find cov(X, Y).
2



[52011-2078

(fv) Compute the CBR for the given population if the total
number of births is 800.

Age group Population
(in years)
0—10 4000
10—25 12000
25—60 6000
60 and above 800
Attempt any four of the following : [4x4=16]
(a) Explain the following terms :
(i) sample space
(i) partition of the sample space.
(6) Explain the following components of time series :
()  Secular trend
(i) Cyeclical variations.
(¢) Let
Q =da, b, c, d, e, f, g, h}
A = {a, e, f, hi,
B = {a, ¢, d, h}
Find P(A n B) and PA" U B).
(d) The data given below are the average quarterly prices of a

certain variety of Dutch Rose followers (in Rs. per bunch) for
different years. Compute seasonal indices by simple average
method for these data :

3 P.T.O.



Quarter| 1 I1 I11 IV
Year
2006 55 60 60 65
2007 69 65 55 75
2008 70 60 65 68
2009 95 80 75 90
(e) One card is drawn from a full pack of playing cards. Three
events A, B and C are defined as follows :
A : Ace card is drawn,
B : A club card is drawn,
C : Black card is drawn.
Check whether the events A, B, C are pairwise independent.
(f) Explain the concept of multiple correlation and partial correlation
in case of trivariate data.
3. Attempt any four of the following : [4x4=16]
(a) In how many ways can 6 books of Mathematics and 2 of Statistics
be arranged in shelf so that :
(i)  Statistics books are side by side,
(1) Two Statistics books are strictly at both the ends.
(b) Discuss the limitations of classical definition of probability.
(¢c) If simple correlation coefficients obtained for three characteristics

[65201]-2078

X1, X9 and Xg are
ro = 06, rogg = 07, rig = 0.65

then compute R1_23 and r13.9-
4



(d) Describe the method of estimating seasonal indices by ratio
to moving average method.
(e) () Define permutation n objects taken r at a time.
@) If
250, = 140, — x,
then find «.
(f) Fit autoregressive model of first order to the following time
series :
Year (2) Yt
1 99
2 95
3 83
4 100
5 109
6 105
7 97
8 104
9 105
4. Attempt any two of the following : [2x8=16]
(@) (@) Define Poisson distribution. State the additive property

[52011-2078

(i1)

of Poisson distribution. Also give real life situations where

this distribution is applied.

Define :

(I)  Discrete random variable (r.v.) and give one illus-
tration of it.

(I) Expectation of a discrete r.v. 4+4
5 P.T.O.



®)

(c)

(d)

[65201]-2078

The joint distribution of (X, Y) is given below :

Y -1 2 3
X
1 c 0 2c
2 c 2c ¢
3 2c 3¢ ¢

Find :

() the value of c.

(Zi)) Cov(X, Y). [8]

(1) What is demography ? Discuss the need of vital statistics
and the methods of obtaining vital statistics. (4]

(i1) The probability distribution of a random variable X is
given in the table below : [4]

X PX = x)
0 0.2
1 0.1
2 0.1
7 0.3
10 0.1
15 0.2
Find V4X + 5).

(i)  Define discrete uniform distribution and state its mean
and standard deviation. Also give any two real life situations
where the uniform distribution is applicable. [4]

(1) An unbiased coin is tossed three times. Let X be the

number of runs observed in the three tosses. Obtain the

probability distribution of X. Further obtain E(X). [4]

6



5. Attempt any one of the following : [1x16=16]

(@) @)

Compute GFR, ASFR, TFR, GRR and NRR for the following

data assuming the sex ratio at birth as 105 males : 100

females. [12]

Age No. of women | No. of births | Survival factor
(in 1000)

15—19 500 16000 0.96
20—24 350 62550 0.96
25—29 270 63050 0.96
30—34 240 29000 0.95
35—39 260 12000 0.95
40—44 300 900 0.94
45—49 290 340 0.92

(i1)

® @

[52011-2078

The number of cars crossing a bridge during a certain
interval (X) follows Poisson distribution with mean 4. Find
the probability that during a randomly chosen interval
of time :

(I) No car will cross the bridge.

(IT) At least two cars will cross the bridge. (4]
For two-dimensional discrete random variable (X, Y)
define :

(I)  Conditional probability distribution of X given Y = y
(IT) Conditional mean of X given Y = y.

(IID Cov(X, Y)

(IV) Independence of random variables X and Y. [8]
7 P.T.O.



(21) Let
X — B4, 0.7 and Y — B(6, 0.3)
be independent variables.
Find :
O P10 - Y + X) > 6]
dn Py = 21X = 1]
(III) Mean and variance of Z = 6 — Y + X. [8]

[65201]-2078 8



Total No. of Questions—4+4] [Total No. of Printed Pages—6

Seat
o, [5201]-2079
S.Y. B.A. EXAMINATION, 2017
PHILOSOPHY
(Introduction to Applied Ethics)
General Paper II
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer any four of the following questions in 100 words

each :

(D)
(2)
(3)
(4)
(5)
(6)

[20]
Explain the nature of the Environmental ethics.

Explain the nature of the concept of Abortion.

State the nature of the principles of Medical Ethics.
Discuss : Value of Friendship.

Explain the nature of the concept of Homosexuality.

Discuss : Corporate ethics.

Answer any two of the following questions in 200 words

each :

(1)

(2)

(3)
(4)

[20]
What is the nature of the concept of Notion of Sustainable
Development ?

Give an account of nature and significance of Patients’
rights.

Explain the concept of the Corporate Social Responsibility.

Give an account of Kant’s theory of Friendship.
P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Discuss the nature and significance of Applied ethics.
(2) Elaborately discuss the nature of Ethical issues concerning
media.

4.  Write short notes on any four of the following in 50 words
each : [20]
(1) Abusing one’s own official position
(2) Role of Social Media as the fifth estate
(3) Prostitution
(4) Hippocratic Oath
(5) Experimentation of Animal
(6)  Suicide.

(W& T UIR)
9% : W ae TeRUT TUT : 80
o :— (i) ¥Wd U GiEefau ewds SR
(i) 3Ehel® ek qof U Siferrd.

1. Uod YIAUH! SR ARE W gosl 100 v faer ;o0 [20]
(1) YAERU AIfqRmee W&y T 6.
(2) YU Hhoudd WEY  GAT.
(38) UEHE RIS ded WEy fave &
(4) == w o HAE A
(5) THfet a9y A1 Goheddd @WEY GAT.
(6) == H : SENEHRM  ARIE.

2. TEE YRl HIARI ST IW Tl 200 i@ feawr ;o [20]
(1) ‘vivad faw™@ Feuar’ @ Hhoudd WEY HE e 2
(2) TUR THRE SN W A WEY i
(3) SUNHYEE WM& SEERRI @ Heheddd WEY HESTEA
(4) wreen Wien fagiae @Y gHSTEE 9.

[5201]-2079 2



3. WA YIAUHl HITAE Tehld I 400 v=@ fosr . [20]
(1) 3udited Afaemsma @Eq oA Hee A=t =99 Hh.

(2) wremRl frEd faw qeue wEuE fowRgds == &

4. AT HIUAR AR TIh! 50 V=@ deswma fem famr o [20]
(1) HIAdE UeeTed  STEA
(2) UrEEl X WA |HISR  HIEEHE YR

(3) AVIHTE™

(4) Tewhda=l MY
(5) UUEEdd AN
(6)  3ATCHEA

[5201]-2079 3 P.T.O.



[5201]-2079

(Philosophy of Indian Saints)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
(zt) Figures to the right indicate full marks.

1. Answer any four of the following questions in 100 words

each :

(1)
(2)
(3)
(4)
(5)
(6)

[20]
Explain characteristics of Saint.

Explain Basaveshvara’s concept of ‘Linga’.

Explain Saint Kabir’s views on equality of religion.

State concept of Advaita with reference to Bahenabai.
Explain the impact of Shaivism on Dnyanandeva.

Explain Tukarama’s criticism of social inequalities.

2. Answer any two of the following questions in 200 words

each :

(1)
(2)
(3)
(4)

[20]
Explain Guru Nanak’s concepts of ‘Hukum’ and ‘Bhai’.
Explain Kabir’s concept of Nirguna Bhakti and Sahaj Yoga.
Explain Saint Bahenabai’s concept of Pativratya.

Explain Samarth Ramadasa’s views on Viveka and Sahanapana.

3. Answer any one of the following questions in 400 words : [20]

(1)

(2)

Explain the nature and role of Bhakti Movement in medieval
India.

Explain Saint Tukarama’s concept of True Dharma and Pakhanda
Khandan.

4.  Write short notes on any four of the following : [20]

(1)

[5201]-2079

Basaveshvara’s Kayak Siddhanta.

4



(2)

Saint Kabir’s concept of Ram.

(3) Ethical and social aspects of Guru Nanak’s Philosophy
(4) Chidvilasavada
(5) Saint Bahenabai’s concept of true Brahman
(6) Synthesis of Prapanch and Paramartha.
(W& wulav)
d% : W aE TRUT TOT : 80

el :— () | YT HiEfau savad o

(ii) ISEHele 3k Yo IO Sy,
(iii) TRHEE! Hed IUSH YEAUAR] BTl

1. TSATHRl HIVAR TR YIAET S TSl 100 vSE faw e [20]

(1)
(2)
(3)
(4)
(5)
(6)

qar=t dgm fave &6

ggavay=l fan’ gdeuw fove &+

Td HeaRe gayd THHEGY faEwr @rm.

Td FEcdied IOl Y9E T
qmieier  faomdedial §a qRRMEE! fehr TR h.

2. WOdUH! HIVERI S YeEEl SWt w200 Y[ femr ;0 [20]

(1) TEIm&=A ‘gRA’ a ‘vya’ W Gwedd foRie &AL
(2) Gd werg=t O qedt Tdheut 9 TeSEn TR HA
(3) Hd dfgumears= ufdaed Heheud wfawR fave =
(4) Tud e fogw snfor yEmOUTfawtE faeR T %A

3. WOUsl HUAR Tk Y SW 400 =@ faw [20]
(1) #HePiH YRAde 9eRigeded @Wed o yffs afowr fowe wa.
(2) Hd (HEREE T 9HE Fheddl 9 U@ Teu HiawR) fave &

[5201]-2079
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4. Teiays! HUER G dfaw fen o [20]
(1) dFHayaU=l HEs  Hgr
(2) Hd wea ‘YW GehedH

~

(3) TEAMHTA TOAME Afde o WG ST
(4) feefacmaar

(5) Ha dfeumeEel @ STRvTE  HehedHd

(6) Y9E ° THYAET A

[5201]-2079 6



Total No. of Questions—4]

[Total No. of Printed Pages—3

Seat
No.

[5201]-2080

Time

N.B.

S.Y. B.A. EXAMINATION, 2017
PHILOSOPHY
(S-1 : Indian Philosophical Approach)
(2013 PATTERN)

: Three Hours Maximum Marks : 80

:— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

Answer any four of the following in 100 words each : [20]

(1)
(2)
(3)
(4)
(5)
(6)

Explain Buddhist doctrine of Anityata.

State the nature of Sabda Pramana (Nyaya Darsan)
State Akhyati of Purvamimansa Darsan.

State the classification of Indian philosophical systems.
Explain the Jain notion of Mahavratas.

Explain the notion of Chittavritti and Chittavrittinirodha.

Answer any two of the following questions in 200 words each : [20]

(1)
(2)
(3)
(4)

Explain the Satkaryavada of Samkhya Darsan.
Explain the Jaina view of Anekantavada.
Explain the Carvaka theory of Pramana.

Explain the Buddhist view of Pratityasamutpada.

P.T.O.



3. Answer any one of the following questions in 400 words : [20]
(1) Define Padartha. Explain the nature and classification of Padarthas

from Nyaya-Vaisesika Darsan.
(2) Elaborately explain three levels of existence, according to the

Vedanta Darsan.

4. Write notes on any four of the following in 50 words each : [20]
(1) Vidhi concept of Nirvana
(2) Arthapatti Pramana
(3) Concept of Prakriti
(4) Bheda and its kinds
(5) Concept of Pudgal
(6) Dehatmavada.

(& i)
d% : W aE THUT 7T : 80
oAl :— (i) ¥Wd WA Hiefqu s(Evad .
(ii) SoEhStE % YUl U geifadm.
(iii) weuaEd T@ TUSH WY wRTEl.

1. @ddisl HIUERE AR G T&R 100 [ W fawr ;0 [20]
(1) g <A ‘AHear’ SOl T &
(2) V& YHOTE WEY G (FEEYH)
(3) YA <A eTeardt’ 9.
(4) YRAE dqodEE SRl Fi.

(5) SCYEel ‘Heed’ Heheddl TS

6) ‘fowgsi’ sufor ‘fodeitRiy’ ddedT TR &

[5201]-2080 2




2. WOAUR HIUER SF YLIEl YIHT 200 v Sw fowr [20]

(1) 9T <IEA HohrEde fOga @ &a.

(2) SFSIETET SHEA RIGH TR HL
(3) =meREn gHO fHga e &

(4) dIE= ‘YAEEgER’ TReH W &

3. @IAUD! HIVAR TR F= 400 =@ IR fo@r [20]
(1) TEd WS wE ? AI-O39Ye <YFEMG Ueiei Wey ST o
RO T H.

(2) dod <vHde ‘fay s’ w@fosw T w9

4. TOAUH DOAER TR TAHRT 50 @ da fa@ [20]
(1) faor geeu
(2) AU YHO
(3) UHhdl HRUA
(4) W2 ST W™ YER

(5) UITA Hehedl

(6) <EHAR.

[5201]-2080 3



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

Y. [5201]-2081

S.Y. B.AA. EXAMINATION, 2017
PHILOSOPHY
S-2 : Introduction to Western Philosophy
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.

1. Answer any four of the following in about 100 words each : [20]
(1) Explicate Heraclitus’ doctrine of flux.
(2) State Plato’s criticism of sophism.
(3) State any two proofs for the existence of God propagated by
Aquinas.
(4) Explain Spinoza’s pantheism.
(5) State Hume’s views on the nature of self.

(6) State Hegel’'s absolute idealism.

2. Answer any two of the following in about 250 words each : [20]
(1) Discuss the importance of Plato’s view of knowledge as
recollection.
(2) State and explain Augustine’s views regarding the relation
between God and man.

P.T.O.



(3) Discuss in detail Leibniz’s monadology.

(4) State and discuss Hegel's concept of dialectic.

3. Answer any one of the following in about 500 words : [20]
(1) Discuss in detail Aristotle’s view on substance.

(2) Write an essay on Kant’s critical philosophy.

4. Write notes on any four of the following in about 50 words
each : [20]
(1) Socrates’ view of philosophy
(2) Plato’s concept of soul
(3) Democritus’s atomism
(4) Locke’s rejection of innate ideas
(56) Descartes’ dualism

(6) Kant’s notions of noumena and phenomena.

(WIS wUIR)
9% : i A THUT TUT : 80
ol :— (i) |& YA e
(i) 3EIhele oF® YU U IFIfoam.
(iii) WU B TUST YAUAHRT TaTel.

1. WOoUH! FHUER AR WAE S TSI 100 IS fow ;0 [20]
(1) eUfeeed I=n Yol fagd = &9
(2) dAREREd @@l gt e @
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2.

3.

(3) offFa® AMT YWHd holcdl A SfAdatd=a ®IEE g
fagar @

(4) fToEn Amn GAveRaE TR &

(5) ‘W' wWEufawdE wH g fo=rR |

(6) B F=l e fUgEg @HT

WOIGUh! SR e Wl St Yol 250 IeSid fosl [20]

(1) FH WBUS IO 7 @ A=l e 8l Hea-l e A=t ==
.

(2) TR oMU HHY A=A Geuase AR 9 fa=sr g snfor

o H.

(3) wfets Frew fagueRml wfaw == .

= +_n

(4) T Il SEIcHk TRl TehoUdl TN ST TS A

WAGIH! DI TRl WA= 3T 500 I=s9da foer [20]

(1) oR<iea ar=n sAfauas giedHEl afaw) 9= .

(2) e = fafecas dwommer ey foern

GATAdeh! IRl ARTR Yokl 50 ¥eaid orar foer . [20]

(1) Hiefed I=1 dEAHITES g
(2)
(3)

(4) 3IUSAd HeGdAEl Aleh AT TRR

=~ s

[ &l STCHT ST {-iq')':"*-lﬂl

Al

S e

Hifshed A= 3TU[EmR

ny

(5) <THId =N SadE

(6) = qfb sfr fEAfEAr = weo
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Total No. of Questions—5]

[Total No. of Printed Pages—4

Seat
No.

[5201]-2084

S.Y. B.A. EXAMINATION, 2017
MATHEMATICS

MS-2 : Number Theory and Computational Goemetry

(2013 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Answer each of the following : [16]
(z7) Find ¢(50) and o(50).
(ii) Solve x2 — 1 = 0(mod 4).
(iit) Find two Pythagorean triples whose terms form an arithmetic
progression.
(iv) Write three integers that are relatively prime but not relatively
prime in pairs.
(v)  Define axonometric projection.
(vi) Write any fwo properties of B-spline curve.
(vit) The position vectors of the line segment AB are A[2 3]

and B[4 7]. It is transformed to the line A’B’ by using

1 2
transformation matrix T = . Find the slope of A'B.
3 4

P.T.O.



(viii) A circle with area 25 cm? is transformed by using matrix

1 2
T = . Find the area of the transformed figure.

2. (A) Attempt any one of the following : [6]
(i) Let p denote a prime. If p = 2 or p = 1(mod 4), then
prove that x2 = —1(mod p) has solution.
(ii) State and prove Mobius Inversion formula.
(B) Attempt any fwo of the following : [10]
(i) Find gecd of 42823 and 6409.
(ii) Find the highest power of 7 that divides 1000!.
(iiz) Find all integers x and y such that :

147x + 258y = 369.

3. (A Attempt any one of the following : [8]
(i) State and prove Chinese Remainder theorem.

(ii) State and prove the fundamental theorem of arithmetic.

(B) Attempt any one of the following : [8]

(i)  Write an algorithm to generate 20 equally spaced points

on the periphery of the ellipse :
(x - 2)°
4
[6201]-2084 2

+y2=1.



4. (A)

(B)

[5201]-2084

(i1)

If the line y = mx + h is transformed onto the

line y = mx + h under the transformation matrix

a b . b+dm
T = then prove that m =

a+ cm and

Attempt any one of the following : [6]

(@)

(i1)

Find the concatenated transformation matrix of rotation
about origin through an angle 6 = 50° shearing in
Y-direction by —2.1 units, uniform scaling by factor 2.
Using concatenated matrix reflect the triangle ABC
through the line y = 5 where A[1 3], B[2 4] and
C[3 5]

Attempt any two of the following : [10]

(2)

(i1)

(ii1)

An object is rotated through angle 90° about the point
[4 3]. Find the transformation equations.

Consider the line with direction ratios 1, -2, 2 and
passing through the origin. Determine the angles through
which the line should be rotated about X-axis and then
about Y-axis so that it coincides with Z-axis.

Reflect the pyramid OABC with O[0 0 0], A[1 1 0],
B[O 1 0], C[0 O 1] in plane x = 3.

3 P.T.O.



5. (A

(B)

[5201]-2084

Attempt any one of the following : [6]

(i) Generate uniformly spaced 3 points on the parabolic
segment in the first quadrant for 3 < x < 12 where
the equation of parabola is y2 = 12x.

(i) By considering the position vector matrix :

1 2 1]
3 4 -1
-1 -2 1
21 1
with horizontal inclination angle o = 25° Find cavilier
and cabinet projection.

Attempt any fwo of the following : [10]

(@) If Bgll 1], B4[2 3], Bol4 3] and Bg[3 1] are vertices
of Bezier polygon then determine the point P (%) of that
curve.

(ii)  Write transformation matrix for trimetric projection obtained
by rotation about Y-axis through an angle ¢ = 30°, followed
by rotation about X-axis through an angle 6 = 45° and
then orthographic projection on z = 0 plane.

(iii) Obtain the concatenated matrix of the following translation

in x, y and z directions by -1, 2, 1 units respectively,

rotation about z-axis by 90°, reflection in XY plane.

4



Total No.

of Questions—2]

Seat
No.

[Total No. of Printed Page—1

[5201]-2085

S.Y. B.A. EXAMINATION, 2017

(Vocational Course)

COMPUTER APPLICATION

Paper III

(2013 PATTERN)

Time : Two Hours

Maximum Marks : 40

N.B. :— All questions carry equal marks.

1. Answer the following (any four) :

(a)
®)
(c)
(d)
(e)

2. Write short notes on (any four) :

(a)
®)
(e)
(d)
(e)

[5201]-2085

[20]

Explain any five Character Functions with syntax and example.
What is R.D.M.S. ? What are the advantages of R.D.B.M.S.
What is the difference between SQL and PL-SQL ?

What is Normalization ?

Explain any fwo DDL Commands.

Candidate Key

Group by Having Command
Database Constraints

Insert into Command

Update Command.

[20]



Total No. of Questions—5] [Total No. of Printed Pages—6

Seat

No. [5201]'2086

S.Y. B.A. EXAMINATION, 2017
FUNCTIONAL ENGLISH
(Vocational Stream)
Paper III : Advanced Writing Skills and Introduction
to Electronic Media
(Theory)
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (1) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) () Match the words from Column ‘A’ with their antonyms

given in Column ‘B’ : [5]
Column ‘A’ Column ‘B’
idle careless
arrogant cheerful
blunt humble
cautious sharp
gloomy active

PT.0:



[5201]-2086

(i1)

Or

Find out the words from the given options, which is

the closest in meaning to the words given below :

(I

(II)

(I1T)

(IV)

(V)

[5]

benevolent :

(a) a person who is cruel
(b) a person who is kind hearted
(¢c) a person who is useless
bouquet :

(a) a collection of flowers
(b) a collection of plants
(¢) a collection of honey
huge :

(@) Dbig

(b) little

(c) tiny

prudence :

(@) criticism

(b) harshness

(¢) wisdom

steady :

(a) constant

(b)  vibal

(c)  inconstant

2



(B)

[5201]-2086

(2)

(i1)

Identity the register of the following paragraph and identify

its markers : [5]

The earth is getting warmer. This is because of the green-
house effect. The sun’s rays penetrate the atmosphere,
which absorbs some of its heat and reflects the rest
back into space. However, now the thick gases produced
by human activities trap too much heat and, consequently,
the temperature of the earth’s atmosphere has been steadily
increasing. This increase in temperature will affect all
life on the planet. The two main gases responsible for
the greenhouse effect are carbon dioxide and methane.
Many governments have begun to look at ways of reducing

the emission of greenhouse gases.
Or
Identify the style of each of the following sentences : [5]

(@) Mr. Mehta, the members of the committee expect

you to shoulder the responsibility of the report.
(6) No smoking, please

(¢c) Hello Sir! please come in and be comfortable. Let

me call my father till then.

(d) All students are informed to submit the hard copy
of University Exam Forms to the office on or before

7th March.

(e) Menu card, please.

3 P.T.O.



2. @

(1)

3. (A)

(B)

[5201]-2086

You want to buy the text-books of the new syllabus. Write
a letter to the Publisher, Orient Blackswan Pvt. Ltd.,
Himayatnagar, Hyderabad-5000029, to place an order for the
books. [5]

Or

Write a letter to your mother telling her about your study

tour with teachers and classmates. [5]

You are supposed to be the University Representative of your
college. Your Principal has asked you to conduct a survey of
the facilities available on the college campus. Present your report

to the Principal. Consider the following points : [10]
—  library

—  laboratories

—  canteen

—  playground

—  health-facilities.

Your college has organised ‘Tree Plantation Programme’. Write

a report on it. [10]



4. (A

(B)

(©)

[5201]-2086

Your department has organised ‘Farewell Function’. You are

the anchor of the programme. Write your script considering

the following points : [10]

Welcome speech by the HOD
Felicitation of the final year students
Speeches by students

Speeches by the teachers of the Dept

Vote of thanks.

Answer any fwo of the following questions : [10]

(@)

Write a short not on the development of radio as a

mass media.

(b) What are the different types of radio programmes ? Explain
in brief.

(c) What are the features of a radio talk ?

Answer any two of the following questions : [10]

(@) What is the role of a news editor in a News
Channel ?

(b) Explain the characteristics of TV as an audio-visual
media.

(¢) “TV has become the medium of entertainment rather than

education.” Justify your answer.

5 P.T.O.



5. Answer any three of the following questions : [15]

(@)

®)

()
(d)

(e)

[5201]-2086

What is the essential difference between the uses of language

for Radio and for TV as mass media ?

Do you think that the control of the Government over the

mass media is necessary ? Give reasons.
‘TV-ads are more effective than the Radio-ads.” Explain.

Explain in brief the difference between TV and Radio

interviews.

Write a note on the social role of radio as mass media.



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

Y. [5201]-2087

S.Y.B.A. EXAMINATION, 2017
TRAVEL AND TOURISM MANAGEMENT
(Vocational Stream)
Paper III : Tourism Marketing and Travel
Agency Operation
(2013 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(ii) Figures to the right indicate full marks.
(ii1) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any fwo in brief (Around 50 words) : [10]
(1) Travel agency
(i) Travel insurance
(iti) Cruise

(iv) Define tourism marketing.

2.  Write short notes on any four (Around 100 words) : [20]
(z)  Functions of a travel agency

(zi) Outbound tourism

PT.0:



(iii)

Explain Deccan Odyssey

(fv) Visa
(v) Package
(vi) Functions of UFTA.
3. Answer any three (200-250 words) : [30]
(z)  Difference between domestic tourism and international tourism.
(ii) Differentiate between private air taxi and air craft.
(ii1) Explain Euro Rail.
(iv) Types of Passport.
(v) Explain the term “American Plan” and where is it used ?
4. Answer in detail any one (Around 500 words) : [20]
(z) Linkage of tourism with transportation.
(ii) Tourism as foreign exchange earner for an economy.

[5201]-2087



Total No. of Questions—5] [Total No. of Printed Pages—5

Seat

No. [5201]-2088

S.Y. B.A. EXAMINATION, 2017
FUNCTIONAL HINDI : VOCATIONAL
(CRISEECE N U ML )
gyust 111
(Tt @, &ft @ wew, fammow, uweiRar qen sraEe-1)
(2013 PATTERN)
g dw o"e quTish : 80
o — () |t g sfer €
(i) et R fa@ U ofF T & YUie T

(i) faumt ‘@1’ SR fawm ‘&' & SW T @ Sw-ghae # fafew)

faumT ‘e’
1. (&) ffafes § 4 = & w fewfm fafee - [10]
(1) =URE-I51 & HE
2) &l =1 wrays 9.
(3) TSN 3R TEWEHR U H IR
(4) & d weftom |

PT.0:



(@) i Lierd, Serila & Hewegs "2l TSYd 1 3 ¥ ‘ufiged gk
fosedl’ go% & 9 Y w1 5 Ufav@ ufadl W ASH den g 15
yfasd &9 39 & R # feema v fafew) [6]

2. ()

(%)
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HIar

it Wl FEeE § (R wEteee gwd s & "ay § o geeEn
e g B fewmem o1 sEieEE CFeE T9R s

frafafea 7 @ fo<l 99 9o & 3 989 § fafew [9]

(1)
(2)
(3)
(4)

(5)

9T I fagmand fafen
&t &1 FEays 99 fF8 Fed § 2
FEAEAAT ARY R HHA-HAH gIAME T S T2

Yo AfUFAIH, 1963 & O 3, IUUM 3 HI T HEA
g 2

G-I &1 S T HiTT |

fr=fafea fogmmai & o stger Svee fafae [7]

(D
(2)
(3)
(4)
(5)
(6)
(7)

SEGH da

~
[edsid Yl3s

A s1fEm

T HERd eede
s Hd
B |



3. ()

(®)
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faam ‘a1’

— [ S ) =

FAfafad sT=e &1 fedl # 3aR iy : [7]

SF TSIl UUH RO wael A1 el s Ao ffea o A
YT G, A ST RIUGIE TR FIOR AR TEE moE o S
T Tl fen @ favs gE wae fuEm W aed @ <,
Tk HAURA H-A1 HAgdd Tl dI5H 9gH gl ASHudd S ke
TR, S0 SRS UHY agaredl o fagee fRa Tedl ewf
Yook eeAl AL BIdl. Tl WIH g fehel HIS HIUE Hid wE
IEUIR AR S A9 IR o= S|l omf JaX ueent ol S
sfor agenn faved gEdw faeskrdt A, gd ARl SERfauEa Sie
e 1 M S B T | ™ | s S e 2 o B B A [ O |
Srehall.

yfa-ueied & @l &1 gam wd g fefafed ofsse & e 9
fafew [7]
3TEH Th HE BTGl de | STEH ThI Tod YUrd &Y gecieh! Fadl, 39
FHARIHT T DA ISY T TR WA I T@l-dg HIAG@ AT Bl

T KD AN Hog IO A BT § I ST R d SAeT die | TH
G ® U S Al ggfoly R ¥ SRS TRA W ST e

T8 | e i fahenn drel 9. S G5 SRAGT ST@eqdl oA & fohg
IiE® Ufdafd THR a1 ULl &1 TR dfcah Uk [ovIeuel i Hifd,
faama =1 forl Taafsa & 1 AWt 3 AW gaad SR ®a Hel
Y, g = T TN T hufa Ty faREl 9@ weRe w9 9|

3 P.T.O.



4. (¥) U wHelfgaed § ‘g sEd’ &1 EeH e s @ §, 39 ded
T yg-fagf@ TR shifaq [6]

(7 (1) fafafes & ¥ 5= ura & & wftenfos s fafew @ (5]
(1)  Alc holder
(2) Banking transaction
(3) Barred by law
(4) Case law
(5) A. C. chaircar
(6)  Cross-bar
(7)  Borrowing
(8)  Appraisal.

1) frAfafea § 4 <l e & st wRwfos o fafew @ (5]

(1) wfad sifeRm
(2) T H

(3) fedi =1 SHIfE

(4) IHIAA
(5) <aFa
(6) FIHETT W

(7) ofSieh T

(8) “hIUT SdMT|
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5. Trefafea § @ fe<l @ w fewier fafeg - [18]
(1) oTfeR & "ed
(2) fq-dsiied 1 IuEifi
(3) TROR oed & dd
(4) 99 fazf@
(5) oYk wEieEdl H TH. TH. 92 HI YA
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Total No. of Questions—6] [Total No. of Printed Pages—2

Seat
No. [5201]-2090
S.Y. B.A. EXAMINATION, 2017
(Vocational Course)
COMPUTER APPLICATIONS
Paper IV
(Theory)
(2013 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :— (i) Solve any four questions.

(ii) Draw a neat-labelled diagram wherever necessary.

(zi1) Figures to the right indicate full marks.

1. What are the objectives of Software Engineering ? [10]

2. Explain the terms : [10]

(a) Code Design

(6) Data Dictionary.

3. Differentiate between System Analysis and System Design. [10]

4.  Explain briefly any two fact gathering techniques. [10]

P.T.0.



5. Define System. Explain general model of a system. [10]

6. Write notes on : [10]

(@) Requirement Analysis
(b) System Evaluation.
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